BT ESEIERAD PriZEI =S Bl

Ik LD RTEAILER1279765321= Explosion-proof three phase induction motor
fi%: 021-51168255

Web:http: //www.tecochina.net

TEBY/TEBV R 5 tR/ERIEE I

TEBY/TEBV series standard flame-proof motor

e HBiE: 0791-88195999
2= HiE: 0769-28826526 TEB4Z& 5| SR IBIRE TN,
E|7] Hi%: 0592-5703299 TEB4 series high efficiency flame-proof motor
XZ HBiE: 022-23859635
022-23859637 TEBD &R AT/ 2= Bh E BB M
A #8 HBiE: 13708017348 TEBD series standard dust-ignition-proof motor

X% HiE: 0510-85342005
0510-85227555

- | aiE—— e
'-zlllr-El-l-[I-E!! -I_-EEJ@ L TR T
"mml@._aﬂzis‘.ﬂhﬂm  pETEp——y

f SN e S S

VERI2:P-202 1= 18




R HE

RITHEA ST 19565, LIGE SRER, ES R mERE B ANER, RE,
s Al BEFREFHET. B TERR. sRnAE LESSERN A RET
B, FMESEXEATERE BaS L RERE2KS KM, F50E. FH,
ErfFsE#Risl, SngRtra. BRERSR AL 2EEMINER

AR, RN TSV HE, U RE. Ehe. B Bir, i
?@—Tﬁﬂﬂ.«ﬁﬁimﬁfﬁﬂﬁﬁﬁn

A

_I';'E o LA R A E]

ik FiER T EPLLERLITIESI21E
FE: 021-51168255
Web : http:/fwwwtecochina.net

FRAl=mA B IEEE I EEEF S Tim:

All date presented is for reference anly and SUb_i'E'L'E o change without notice

TECO ¥
-

TECO/02

S i e —

RITHhE

LT R~ e = T S T et L e pre il T e

IOGRE MFHMEENE I SeshieadlE=Tr

i Tl T R 1l PR,

AT Ea ARSI el e RS S
TETHT  cabe— T ek s e g A R R,
tEdE W RRF S wilf EaTC TRERENES,
TORTE G TR s St s A AL,

L EREC ] Y I M ol R e A T S S
TONE AT HERTE e, 1R N S LT
Ioobis TR WES TIMGEHOUSE AL,

AOEE TSI

FLLEEZ e S i W B A L

IWE Tl TiRr

oo TeEwEREl

H1zE W EEST RN HLEE LT e AT WA A= i
01T NSk

IMIEER

LRI ES SN N2

DIEW, SRR R
o,

AR T W
e

Rm gt e b L= ] f R

CIHTT S0 -JU LTI HGAYS TN 2T
+ARFE . N CFEAPP T
AL W iF NI FERIUE er-iaf i f DANE il Mol
L-AmjpEm sar 50 BoJEE b iE Ll
LT DN Y LLSTIRRRSE SRR
R e R, Lt -l
iyl -]
v -'--i--..--..x-
T Fane iy AT,
o T o L eyl L A |
J-- I..-.-L e R

b =
@B

TECO

CERTIFICATE )

1 B

WL TEC T Oecivk: & Mechinssy C0 LTD

e aes e e b AR
ot Ty et e iy i By

mima

Loy
o e Y 1 T ] o e

P e i L s e b 0 e ] P e ————
S T e J ¥ by el

IR B - B
PR e “i",
T ettt 1,
1ot i - Vet b= =
- 51t ]

- (b=t B4 @
S
e et i P ke it S s
o
QEH:
mﬁf##ﬁmﬁﬂ#
W P e

B
FRA T AN

LT R R
CET 2400 a0 18 7 550 | =ahrs
T A

. Jq i ]
@n‘j\ u [ & =T e — Fim |
= S W P, SR

TEmEAEON

TECO/03



E § Contents

TECO/04

FrchhiR=1A5= S EBa

TECO Explosion-Proof Three Phase Induction Motors

PHIRERH{EFEZATUse place of explosion-proof motor ..........c.coccoeviiveinannn.

PHIREB M AEIEEXplosion-proof motor technical data

BEEFEINOISE TRV . oot e e e e et e e e e e e e et e een e e e aeeee e s

®IREENamepalte .................

INEARIR. IANEEREERICertification marks,code and 1aws .......coccoveeeeeeeann.

FIERRIMNEE

Data Sheet & Outline Drawing

TEBY4FIEZRTEBY Data SREet .oeoveeeeieeeeeeeeee e

TEBY4MEEITEBY Outline Drawing

B3ZZEB3 MOUNTING .ooviiiiiieieeceeiet e
B5ZZZEB5 MOUNTING oot
B35%ZEB35 MOUNTING .cvvoviieiieieieeieetee et
VIZZEEVT MOUNTING oot

TEBAFMEZRTEBA Data SNEET oo

TEB44MEZEITEB4 Outline Drawing

B3ZZEB3 MOUNTING ..ot
B5ZZZEBS MOUNTING oot
B35Z24EB35 MOUNTING .ooviiiiiiicieeiee e
VIZZEVT MOUNTING i

TEBDAFMEZRTEBD Data Sheet ..oooeeeeeeeeeeeeeeeeeeeeeeeeeee et

TEBDAMEZEITEBD Outline Drawing

B3ZZEB3 MOUNTING .o
B5ZZZEB5 MOUNTING ooviviiiieiieiieeteeeeeeee et
B35Z24EB35 MOUNTING ..ocvoiiiiiiieeee s
VIZZZEVT MOUNTING oot

5-6
.7-13
14
.15
16

BhiREBH\{EBIAFR

PR EZRTIEY . AEXAS. SR IMezET
WEEF S RRP AR E ST MESK. BSFHMET

W, XEYMREE[REGEHMAMT "BEEREEY” . W

B

XMREMATIRIERNRE, XBBENIRN, MasREE.
RARIREENL T LB SR AR IR E,

feltXigsa s

Xl XiEEX

ox | ELHIEUSHALITRIEIE
SREIERE

EFRIPHRFABHL

BRIIESHIFIRE

1x | TREHIENEESARIIRE

fRIZE "d” IEFEE "p

EEFATREHEURKEMESIR
2X | BUERIR, BREHINtERERS

PR ‘0" EEE ‘p
R e | FXUEE A

2]
Xig RiZEX iEFRRYPAIRER L
20K TN ER H BB HaIES IR

L7 NN

21X | FIREHBUSKEIERATERE

SFHI D"

IEEARATREtH IR EIER L
22[X | H9RRR, BDfELHIIRSERT
&

HPFEREIFES "tD”

ijes e

Ex d IIB T4 Gb

PRI J

Ripm
R A,
EER P
e,
KR A

RERIPRS

\— IREAR
JRKEMEN RS
SR 1A, 1B, 1IC

p34: 1A, 11IB, 11IC

TECO

Location of explosion-proof motor

Explosion-proof motor is mainly used in coal mine, petroleum and

natural gas, petrochemical and chemical industry which may produce a

variety of combustible gas or steam or dust in the production process

These can be mixed with air to form an "explosive mixture". If the

mixture is at explosive temperature and meets fire, it will cause an

explosion. The usage of explosion-proof motor can avoid the explosion.

Classification of hazardous areas

Zone

Zone definition

Applicable explo-sion

proof motors

Occurrence of explosive gas atmosphere: | No applicable explosion-
0 .
permanent, long time proofmotors at present
Occurrence of explosive gas Flame-proof “d" ,
L atmosphere : occasional Pressurized enclosure “p”
Flame-proof “d” ,
> Occurrence of explosive gas Pressurized enclosure “p" ,
atmosphere : rare, shot time Increased safety “e” ,
Non-sparking “ec”

Zone definition

Applicable explosion

proof motors

Occurrence of explosive gas atmosphere: | No applicable explosion
20 )
permanent, long time proof motors at present
Occurrence of explosive gas atmosphere: | puyst ignition protection by
2 occasional enclosure "t"
2 Occurrence of explosive gas atmosphere: | Dust ignition protection by
rare, shot time enclosure "t"

Explanation of explosion-proof marking

Explosion-proof J

marking

Type of protection
Flame-proof “d" ,
Pressurized enclosure “p” ,
Increased safety “e” ,
Non-sparking “nA”

Ex d IIB T4 Gb

n

— |4 [=
o |un

=

Temperature class

Tempersture dss |
200
|
L

The degreeof protection
Gas: Ga, Gb, Gc
Dust: Da, Db, Dc

Temperature class

Maximum surface temperature(°C)
450
300

(=3
S

X w
&

a

explosive substances group
Gas: IIA, 11B, IIC
Dust: IlIA, 1B, 1IC

TECO/05



BEESRESMSER

HEREMIECER, BEMRS A=

IR0 FHRR

IRBEESKREY (BFSES)
3SR EIERY AL 4

Explosive gas mixture group table

In China and the IEC countries, explosive material is dividledinto

three categories

Class I: Mine Methane
Class lI: explosive gas mixture (water vapor,mist)
Class lll: dust explosion and fiber

RIREERSYRIEREE(C) D H Temp.class

T2

T3

AIRMES IR EZESFlammable gas or water vapor

Rk TE2 ek
Methane Buty alcoho Cyelohexane

I a FARRET .
Ammonia Acetic anhydride
EEER
Acetic acid
5 [ Tk Kk 2Bk
Ethane Propane Butane Pentane Ether
E:S PER g ¥R B
BenZene Acetone Ethanol Hexane Acetaldeh yde
S KW [l Rk
Chlorbenzene Styrene Propene Heptane

_. EE BAEA T B *h
Methanol n-Butvl acetate Octane
P BEBR GBS B3
Toluene Amyl acetate Dectane
—SK v mHE
Carbonmonoxide Chloroethvhlene Hydrosulxide

BEBR 2B H
Ethyl acetate Gsaoline

s W& IR B i& ZEREE
Hydrogen cyanide Ethylene oxide Isopentylens Ethyl methyl ether
SRS TM% —FARR — Bt
Coal gas Butadiene Dimethylether Ethyl oxide
NI 1.4-—8EBEk TIwEE 3

B Cyclopropane 1.4-dioxan Butenal Butyl oxide

) V- L3Iz Vi U=y

Propine Ethyene Furan Ethanethiol Tetrafluoroethylene
RIS PIEER R B
Acrylonitrile Methyl acrylate

jife SRk

iE

1. 'Lﬁll;:*q:, BIRARBLNCSIB > 1A, RELEMENC> [IB>1IA

"SRR WS REB .

TECO/06

1. In the above-mentioned calss Il the danger degree: lIC > IIB > lIA, the

safety of the apparatus: [IC >1IB > IIA, high level covers the low level;

TEBY A&z
& RIREL =R SR
RREER/E: 380VaEEBE
ERRESAEE: 50HZzak60Hz
EHIN=R: 0.18-355kW
TAEHIIEE T ERIST
HEES: 80M-355L
FIRELR: Exd 1IB T4 Gb; Exd IIC T4 Gb
BhiFEE4%:IP55, IP65
BAA 1C411
IR FR
YR T BERRSETES F: 1.018R FABIZ80K
LB IM B3OKEHIERE) ;
IM B35 (KFHIERERNIES);
IM B5 ((KEREZRE);
IM V1 GZz{Him T RE=ZE0) s HA
oI GB18613-2020 GB3/IE3

e B

RS EBERENE + 10%LAR SERIRENER + 5%, BB ER
IR EIRINERR K 10% AR (B RINERRNZEARIL +5%
BlaXiE 1 Xa2KX

INZRE:-20-50°C
INEBEAEXBEI0% LA T (BAEEEE)

B EER1000mLLTR

fEEha = BRGhES

gyl NI PR 1)z i v s iztb o i TN
BAN: SEEEEMRY-AB

#REE: Munsell 5PB 3/8

TECO

TEBY technical data

Type: Flame-proof three phase induction motors

Rated voltage: 380V or other voltage

Rated frequency: 50Hz or 60Hz

Output range: 0.18-355kW

Duty: Continuous S1

Frame No.: 80M-355L

Explosion-proof class: Exd 1B T4 ;Exd IIC T4

Protection class:IP55, IP65

Cooling method: Self external fan, surface cooling (IC411)
Insulation class: Class F

Temperature rise: Not to Exceed 80 By Resistance Method at S.F 1.0
Mounting:IM B3, IM B35, IM B5, IMv1 or others

e Energy efficiency level: GB18613-2020 GB3/IE3

APPLICATION

Power source conditions: Voltage:+10%,Frequency:+5%,and 10%
Max.of Combined Voltage and Frequency . But Frequency Variation
Does Not Exceed +5%.

Hazardous areas : Zone1 or Zone2

Ambient temperature:-20-50°C

Relative humidity: Less than 90%RH(Non-condensation)
Altitude: Less than 1,000 m

Drive method: Coupling

Direction of rotation: Suitable For Bi-Directional,standard is CW
facing the shaft end

Method of starting: Full voltage direct on line or Y-A starting
Painting: Munsell 5PB 3/8

TECO/07



TEB4$# K #iE
M IRIRE =R R R,
RREER)E: 380VEEHEBE
ERRESAEE: 50HZzak60HzZ
HIhER: 0.75-315kW
TAEHIEETERIST
HEES: 80M-355L
BHIBEE4%: Exd 1IB T4 Gb; Exd 1IC T4 Gb
FHHP&E4%: P55, IP65
B 1C411
iR FAR
# BT BRETES.F: 1.0B N FARBIZ80K
LA IMB3 (KEHIRZE) ;
IM B35 (KFHRLEHKIED);
IM B5 (KFERE=ZRE);
IMV1 (zxA R AA =248 st b
RIS, GB18613-2020 GB2/IE4

ERFRH

RS EBERENE + 10%LAR, STERIRENE + 5% LA, FBBIER
SRR A RN R A1 0% AR (B RN FEAEIL £5%
fEla X1 Xa2X

INEIRE:-20-50°C

INEREEXBEIO %A T ((BEAEEEE

Bk EER1000mLLT

& B

k=] R PV s b s TiIb S s T N

EaAN: £EEREMEY-AR

IRZE: Munsell N5

TECO/08

TEB4 technical data

Type: Flame-proof three phase induction motors

Rated voltage: 380V or other voltage

Rated frequency: 50Hz or 60Hz

Output range: 0.75-315kW

Duty: Continuous S1

Frame No.: 80M-355L

Explosion-proof class: Exd IIB T4 ;Exd IIC T4

Protection class:IP55, IP65

Cooling method: Self external fan, surface cooling (IC411)
Insulation class: Class F

Temperature rise: Not to Exceed 80 By Resistance Method at S.F 1.0
Mounting: IM B3, IM B35, IM B5, IMv1 or others

e Energy efficiency level: GB18613-2020 GB2/IE4

APPLICATION

Power source conditions: Voltage:+10%,Frequency:+5%,and 10%
Max.of Combined Voltage and Frequency . But Frequency Variation
Does Not Exceed +5%.

Hazardous areas : Zone1 or Zone2

Ambient temperature:-20-50°C

Relative humidity: Less than 90%RH(Non-condensation)
Altitude: Less than 1,000 m

Drive method: Coupling

Direction of rotation: Suitable For Bi-Directional,standard is CW
facing the shaft end

Method of starting: Full voltage direct on line or Y-A starting

Painting: Munsell N5

TEBD# KR
&AL PRIRE =R RS EI
RREERE: 380V EERE
SESRER: 50HZE60Hz
HHIER: 0.55-400kW
TERIESE TEHIST
HEES: 80M-355C
FIREELR ExtD A21 T135°C IP65
PR IP65
BAA 1IC411
IR FIR
#asssB T BRESETES.F: 1.018)% FARIZ 80K
RETI IMB3 (KFRIEZRES) ;
IM B35 (KFEHIELEHFRES);
IM B5 (KFEREZRE),
IMV1 (szz3hmE R AOA =248 st
oRERNE R GB18613-2020 GB3/IE3

&SR

EEIRS M EBERENE + 10%LAR SRR AN + 5% LA, BB ER
SR EIRINERR K1 0% LA (B RINEE RN ZEARIL £5%
BbsXiE:21 X a22[K

INERE:-20-50°C

SR HERSEEI0% LA T ((BFREEHE)
BIREEER1000mLA T

BB e

iy ) M= DA L)z v s TisTh ok ity TN

BaAN: SEEEEMERY-ABH

IRZE: Munsell N5

TECO
TEBD technical data

Type: dust-ignition-proof three phase induction motors
Rated voltage: 380V or other voltage

Rated frequency: 50Hz or 60Hz

Output range: 0.55-400kW

Duty: Continuous S1

Frame No.: 80M-355C

Explosion-proof class: ExtD A21 T135°C IP65

Protection class:IP65

Cooling method: Self external fan, surface cooling (IC411)
Insulation class: Class F

Temperature rise: Not to Exceed 80 By Resistance Method at S.F 1.0
Mounting: IM B3, IM B35, IM B5, IMv1 or others

e Energy efficiency level: GB18613-2020 GB3/IE3

APPLICATION

Power source conditions: Voltage:+10%,Frequency:+5%,and 10%
Max.of Combined Voltage and Frequency . But Frequency Variation
Does Not Exceed +5%.

Hazardous areas : Zone21 or Zone22

Ambient temperature:-20-50°C

Relative humidity: Less than 90%RH(Non-condensation)
Altitude: Less than 1,000 m

Drive method: Coupling

Direction of rotation: Suitable For Bi-Directional,standard is CW
facing the shaft end

Method of starting: Full voltage direct on line or Y-A starting

Painting: Munsell N5

TECO/09



TEBY/TEBVEi{&ikFFE TEBY/TEBV optional accessories table

HE— BE_ BE= g BER VAE- 7N hEL
Plan1 Plan2 Plan3 Plan4 Plan5 Plan6 Plan7
ES g — . — = £2¢4HPT100 7
ngﬁe BARAE  SHEPTI00 =37 SREPTI00 A2 | iy SUAPTI00 =3  SRAPTC =37 ™ aHEPTcO,Q\éz& i RTD
T-BOX FHPTC=3Z HPTCI3Z +Heater +Heater =
No. +Heater
v
80~132 M5 (RPTC=3x) X v x v x x
160 M6 N x v x N x x
180 M6 N x v x v x v
200~225 M8 N x v v v x v
250~280 M10 v x v v v x v
315~355 M16 v v v v v v v
1R 1. REES SR —E RN, RAGsE—FD, 1.0nly one senario could be taken among 1#1 to #6 according to the frame no.
2. HELIREEE IS =— s 2T — R TES. 2.Senario #7 could be combined with one of #1 to #6, according to the frame no.
3. Fr#80~1327522—h{YPTC=XalsCHl, £e4APT100=3Za]sCHl, 3. In the Senario #1 of Fr#80~132,only PTC 3-phase connection could be realized,

PT100 3-phase connection of winding is not applicable.
4.0ptional T-box is required when adding accessories to Fr#315 and Fr#355
Options are provided: extended shaft, less noise, less vibration, and etc.

4. Fr315F0Fr# 355N INBHA4-AS R B NB1E THE.
5 EAASTRER N, MK, RIRS. (EiRsISEKAEE!

TEB4[f}{&ik =R TEB4 optional accessories table

AE— BEZ AER= HEN AER YAE 73N AEL
Plan1 Plan2 Plan3 Plan4 Plan5 Plan6 Plan7
= . . _ _ #54) ==
F’E‘je EAEtE  GAPTI00 =% SRAPTI00 A |y aier SEAPTI00 =3  SHAPTC =3 ‘”’%’?&%&i #H7& RTD
T-BOX HPTC=% &HPTC ~ Hente
o. +Heater
v
80~132 M5 (XPTC=%) x v X v x x
160 M6 N x v X v x X
180 M6 N X v X v X v
200~225 M8 v x v v v x v
250 M10 v x v v v x v
280 M10 v v v v v v v
315~355 M16 v v v v v v v

REE: 1. RIEES S R—E RN, REGsE—ih, 1. Only one senario could be taken among #1 to #6 according to the frame no.
2. HEHREES TS E— S 2Nt — R TES. 2. Senario #7 could be combined with one of #1 to #6, according to the frame no.
3. Fr#80~1327522—h{YPTC=SaAJsCHl, £4APT100=3Z A sCHL, 3. In the Senario #1 of Fr#80~132, only PTC 3-phase connection could be realized, PT100
4. Fri280~355 R R T AT, 3-phase connection of winding is not applicable.

S ER: < a=r == N 4. Optional T-box is required when adding accessories to Fr#280 to Fr#355
[=] 3 3 1
SBEORHRER R, WK, RS, (RNSRRETIER! Options can be provided: extended shaft, low noise,low vibration, and etc.

x5 Vibration

FrE RSN EFEMEREBIRIBAL ()RS TS TE. Rotors are dynamically balanced to severity grade A using a halfkey.
B RS A N SRR E B U EAET T RPIARFRFIE, Table below contains the effective vibration values for unloaded motors.

iRalER L1
Vibretion grade Shaft height/mm sl 2t

REAR HEER/FD BEER/M HEER/FD
Mounting Velocity mms Velocity mms Velocity mms
BERBE 16 22 28
Free suspension
RiltZede
Rigid mounting 13 18 23

TECO/10

TECO

ELEEF Terminal box data

EEH1S Frame BEEIIE HeeFL =l HMEIRLIR
Terminal box type Outlet type Outer cable diameter
KERY(Rubber cable)
EBFLEAL
80~132 M5 Single or Double iNEFRL(Steel conduit): M30*2
{ME Lk (Steel conduit): NPT 1"
¥EmRY (Rubber cable)
X EXEL
160~180 Mé Single or Double {MEEaLE(Steel conduit): M36*2
$NEfLk(Steel conduit): NPT 1.25"
KEmRY(Rubber cable)
200225 M8 BT AL SNEfLk(Steel conduit); M48*2
Single or Double 8 . "
9 tNETRZL(Steel conduit): NPT 1.5
BTtk (Steel conduitl: NPT 2'
BERBYS(Rubber cable)
AT XL - -
250~280 M10 Single or Double NEFRLL(Steel conduit): M64*2
fMEFaLE(Steel conduit): NPT2.5"
BERBYS(Rubber cable)
WL NEfpLk(Steel conduit): M64*2
315~355 M16 Doubl
ouble §REFHLE(Steel conduit): M63*1.5
tNEfnLk(Steel conduit): NPT 2.5"

i BNINEESHE,
TEBY: 80~280#EES REEABINFLHELET; 31583550 EE ST RINRZ HENEELR.
TEB4: 80~2501LEES REEABITFLHEE, 280~355HEESNIFTR NI FHENRER.

THUEETEFIR:

TR TTRER, MRS H AL TAERAENSANR AT ERER SH AL RV TLNN, SEEREMNSREANER SHO%75
BNTFUR, B2SEATERUAEEER. (F2%5TE)

(ST IER )
A
W (EsErmE 00 4 P MU (BERFRTFS
v
M ETTE % fEF)

TECO/11



TECO

TEBY/TEBV/TEB4 /& BIS Kziifi§ TEBY/TEBV/TEB4 Bearing type &lubrication

TEBVi®E XIS ELTEBV forced cooling fan data

IRSTIRFNXUBS AR BT

HEES 1B Pole iR BEIS Bearing type #&imEAmount of grease (g)
F i ) b S a S
BE (V) YRR (HZ) HER (W) K& (m3/h) R/E (Pa) I P42 ihf{eimDE JE#{eREHNDE f{eRimDE JEfh{eRiHN DE
80 2PRIAE 62047ZC3 62042ZC3 - -
80 2-8P 380 50 35 58 60 90 PRI E 62052ZC3 62052ZC3 - -
90 >-8p 380 50 40 91 80 100 2PRLAE 6206ZZC3 620622C3 - -
112 2PRLLE 63062ZC3 63062ZC3 - -
100 2-8P 380 50 50 142 80 132 PR E 63082ZC3 6306ZZC3 - B
112 2-8P 380 50 85 229 80 160 2PRELE 630922C3 630722C3 - -
180 2PRIAE 6311C3 6310C3 70 70
132 2-8P 380 50 90 337 35 200 2PRLLE 6312C3 6212C3 80 80
160 2-8P 380 50 120 609 40 225 2p 6312€3 62123 80 80
4PRLIE 6313C3 6213C3 80 80
200 2-8P 380 50 250 1679 65 4PRLAE 6315C3 6313C3 100 80
250 2P 6314C3 6314C3 80 80
225 2-8P 380 50 250 1786 70 4P&L\,U: 6318C3 6316C3 130 110
250 2-8P 380 50 370 1813 80 315 2P 63163 6314C3 110 110
4PRLAE 6320C3 6316C3 140 110
315 2-8P 380 50 750 2820 110 APRIAE 6322C3 6322C3 220 220
355 2-8P 380 50 1100 3500 150

TEBD Hi®BIS Kiili& TEBD Bearing type &lubrication

TEBVZESRiRBEE TEBV frequency conversion specification

_ S — iR EIEBearing type #&5imEAmount of grease (g)
3~100Hz Frame size . Py i HENDE HERIADE JES{HENDE
B TIEE 3Hz~E4R 80 2PRLE 620427 620327 - -
= 90 2PRILE 620527 620477 - -
1BEINZRI NS $i~100Hz
BT EE 24 100 2PRLAE 620677 620527 - -
1 2ARIIRNTFERETASKWAT, {EIhERISEE AR~ 100HzZ; 112 PRI E 630627 630527 - -
2RI A FASKWHT, (BINERT B E EST-60HZ; 132 2PRLLE 6308ZZ 6306ZZ _ _
2 ARINZEARF200kWHT, BT ZASTEE IR~ 60HZ; &\1
160 PRI E 630927 63072Z - -
2P 631122C3 6310ZZC3 - -
P . e .
TEBY/TEB4ZE i BB TEBY/TEB4 frequency conversion specification 180 APRILE 31127 31022 - -
21 45KWLL_ELIR44%200kWEL | Above 2P-45kW & 4P-200kW 200 2P 631222¢3 6212223 - -
4PRLAE 631222 621277 - -
Sz A . 2P 631222C3 621222C3 - -
[ \%\i* N - -
5~50Hz Decrgﬁ%:%grque Decrgls}_i%g%%grque APRLAE 631277 621327
[EE=iE] 2P 6313C3 6313C3 80 80
25~50Hz Constant Torque = 250
R 5 :
fBIhER 30~60Hz Cons'[gftégl'%rque APRIAE 6315 6313 100 80
50~60Hz Constant Power 280 2P 6314C3 6314C3 80 80
HRIREINEOthers APRLAE 6318C3 6316C3 130 110
315 2P 6316C3 6314C3 110 110
— T P~ T APRLAE 6320C3 6316C3 140 110
Decreasing torque Decreasing torque 2P 6318C3 6318C3 130 130
25~50Hz faie 30~60H fie 399 4PRELE
Constant Torque z Constant Torque 6322C3 6322C3 220 220
E= E=
50~100Hz Consrt_arﬁ Power 60~100Hz Consrta:z%%ower
TECO/12 TECO/13




12/ Noise Levels

R 4E5Er/min

3000 (2%k) 1500 (44%) 1000 (6%%) (10%%)
dB (A) Lwa
0.18 - 48
0.25 48
0.37 54 52
0.55 - 58 54 52
0.75 67 58 57 55
1.1 67 61 57 55
1.5 72 61 61 59
2.2 72 64 65 64
76 64 59 68
4 77 65 69 68
55 80 71 69 68
7.5 80 71 73 72
11 86 75 73 72
15 86 75 73 72
18.5 86 76 73 72
22 88 76 76 75
30 90 79 76 75
37 90 81 78 77
45 92 81 80 79 78
55 93 83 80 79 78
75 94 86 85 84 83
90 94 86 85 84 83
110 96 93 85 84 83
132 96 93 85 84 83
160 98 94 92 91 90
185 98 94 92 90
200 98 94 92 91 90
220 100 95 92 91
250 100 95 92
280 100 95 92
315 100 95
355 100 99
Fit: Lwa--FIIRE Lwa—-sound power level

FESOHZEEJEME T, BEH+3dB

TECO/14

standard rated output at 50Hz,and the tolerance is +3dB

TECO

$BHRISE Nameplate
0 o
TECQ it -r2s294#
K TEB4—13281—2p |8 4 AFMYX1X—
Ex| % % 2 ' 1328
Bro% 7.5 hp 5.5 kW|#%Hk[0.86 | #%[90.9%
Brix 50 T F Blcont. (S1)|# &| F
BrRER 380 V | A% 1.0 |8 M| 2021 ;
BREi 10, 17 A | #%%H cB2/1E4 1P | 55
BrEx 2925 AT —20~50 o o
T i 100 kg| B4%# PX20X022 3
¥ 7 6308ZZC3 6306ZZC3 a
BREGH Q/320217ACV6 4
B Ex d IIB T4 Gb
RkEka&E CIEx21. 0607
5 MART/BIEBIIR LS &
~ J

ZERHBN (IM)

ARG

The basic structure

TEEEIIZA

The installation structure

il

HIR+iE=%%

TEE
Diagram

MEES (L)

Frame size

TECO/15



INERRIR. INIESH3Mzi%#E:Ex d

Certification marks, code and laws: Ex d

Flame-proof marking Flam(.e-.proo Flame-proof marking Flam(.e-.proo
certificate certificate
By Exd IIB T4 Gb CJEx20.0463 Exd IIB T4 Gb CJEX20.0470
TEBY
Exd IICT4 Gb CJEx20.0476 Exd IIC T4 Gb CJEx20.0483
80 TEB4 Exd IIB T4 Gb CJEx21.0603 200 Exd IIB T4 Gb CJEx21.0610
Exd IIC T4 Gb CJEx21.0616 TEB4 g,
TEBD | ExtD A21 IP65 T135°C | CJEx19.0279 Exd IC T4 Gb JBxe1.
TEBY Exd IIB T4 Gb CJEx20.0464 TEBD ExtD A21 IP65 T135°C CJEx19.0286
Exd IIC T4 Gb CJEx20.0477 _— Exd IIB T4 Gb CJEX20.0471
90 TERA Exd IIB T4 Gb CJEx21.0604 Exd IIC T4 Gb CJEx20.0484
Exd IIC T4 Gb CJEx21.0617 295 re8a Exd 1B T4 Gb CJEx21.0611
TEBD | ExtD A21 IP65 T135°C CJEx19.0280 I TA CEo10624
TEBy Exd IIB T4 Gb CJEX20.0465 5 - TV
Exd IIC T4 Gb CJEx20.0478 ExtD A21 IP65 T135°C X
100 TEB4 Exd IIB T4 Gb CJEx21.0605 TEBY Exd IIB T4 Gb CJEx20.0472
Exd IIC T4 Gb CJEx21.0618 Exd IIC T4 Gb CJEx20.0485
TEBD | ExtD A21 IP65 T135°C CJEx19.0281 250 Exd IIB T4 Gb CJEX21.0612
TEB4
TEBY Exd IIB T4 Gb CJEx20.0466 Exd IIC T4 Gb CJEx21.0625
Exd IIC T4 Gb CJEx20.0479 TEBD | ExtD A21 IP65 T135°C |  CJEx19.0288
112 Exd IIB T4 Gb CJEx21.0606
TEB4 Exd IIB T4 Gb CJEx20.0473
Exd IIC T4 Gb CJEx21.0619 TEBY CTich
TEBD | ExtD A21IP65 T135°C |  CJEx19.0282 X CJEx20.0486
Exd IIB T4 Gb CJEx21.0613
. Exd IIB T4 Gb CJEx20.0467 280 e84
Exd IIC T4 Gb CJEx20.0480 Exd IIC T4 Gb CJEX21.0626
132 TEB4 Exd IIB T4 Gb CJEx21.0607 TEBD | ExtD A211P65T135°C |  CJEx19.0289
Exd ICT4 Gb CJEx21.0620 reay Exd IIB T4 Gb CJEX20.0474
TEBD | ExtD A21 IP65 T135°C CJEx19.0283
X X Exd IIC T4 Gb CJEx20.0487
TEBY Exd IIB T4 Gb CJEx20.0468
e IC T4 Gh 200481 115 - Exd IIB T4 Gb CJEx21.0614
160 TERA Exd 1IB T4 Gb CJEx21.0608 Exd IIC T4 Gb CJEx21.0627
Exd IIC T4 Gb CJEX21.0621 TEBD | ExtD A21IP65 T135°C |  CJEx19.0290
TEBD | ExtD A21 IP65 T135°C CJEx19.0284 Exd IIB T4 Gb CJEX20.0475
TEBY
TEBY Exd IB T4 Gb CJEx20.0469 Exd IIC T4 Gb CJEX20.0488
Exd lIC T4 Gb CJEx20.0482 Exd IIB T4 Gb CJEx21.0615
180 e84 Exd IIB T4 Gb CJEx21.0609 355 TEB4 CTich
A Gh 010622 X CJEx21.0628
TEBD | ExtD A21 IP65 T135°C | CJEx19.0285 TEBD | ExtDA21IP65T135°C | CJEX19.0291
TECOZEKBAIRIAILE
The international explosion-proof certification of TECO
CSA Baseefa CNEX ITRI TestSafe

L\ O,

ol

Sefe

=E

TECO/16

4142 Data Sheet

TECO

380V 50Hz
PRIRELEEEIYL (Frame-proof motor) GB18613-2020 GB3 (IE3)
Model: TEBY 2%
EFFICIENCY POWER FACTOR CURRENT TORQUE ROTOR
OUTPUT
FRAME FULL 3/4 2/4 FULL 3/4 2/4 FULL LOCKED FULL LOCKED PULL BREAK
NO. LOAD LOAD LOAD LOAD LOAD LOAD LOAD ROTOR LOAD ROTOR UP DOWN POWER Weight
%) (%) (%) (%) (%) (%) (A %FLC kg-m %FLT %FLT %FLT NBar® kg
075 | 1 | 2875| 80M |807| 783 | 751 | 835 | 770 | 655 | 169 | 780 |0254| 280 |275 | 335 |0006| 78 29
11 | 15 | 2870 | 80m | 827 | 830 | 81.3 | 850 | 785 | 665 | 238 | 800 [0373| 300 |295 | 350 |0.007| 78 31
15 | 2 | 2850 | 9oL | 842 854 | 858 | 90.5 | 870 | 780 | 299 | 800 [0513| 220 |210 | 280 |0012| 78 40
22 | 3 | 2860 | 90L |859| 867 | 868 | 895 | 850 | 755 | 435 | 850 [0750 | 245 |235| 315 [0014| 78 42
3 | 4 | 2855|100l | 87.1| 883 | 884 | 90.0 | 865 | 785 | 581 | 880 |1.024| 255 |240 | 355 |0025| 82 55
4 | 55 | 2875|112M | 881 | 89.0 | 889 | 91.0 | 875 | 800 | 7.58 | 950 [1356| 270 | 250 | 360 |0.046| 83 72
55 | 7.5 | 2930 | 1325 | 89.2 | 89.8 | 89.5 | 860 | 840 | 775 | 109 | 800 [1829| 205 |205 | 340 |0075| 85 85
75 | 10 | 2920 | 1325 [ 90.1| 909 | 908 | 87.0 | 845 | 775 | 145 | 725 [2503| 195 |195 | 315 [0081| 85 93
11 | 15 | 2935 [160M | 912 | 920 | 920 | 900 | 890 | 835 | 204 | 775 |3652| 230 |185 | 285 [0183| 87 127
15 | 20 | 2935 [160M | 919 | 920 | 920 | 890 | 855 | 775 | 279 | 865 [4980| 275 |230 | 330 |0205| 87 140
185 | 25 | 2930 | 160L | 924 | 930 | 930 | 90.0 | 895 | 840 | 338 | 810 |6153| 245 |200 | 295 |0.237 | 87 156
22 | 30 | 2940 | 180M | 927 | 927 | 925 | 87.0 | 850 | 770 | 414 | 760 |7.292| 225 |180 | 275 |o0.283 | 88 218
30 | 40 | 2950 | 200L | 93.3| 935 | 925 | 90.0 | 900 | 865 | 543 | 775 |9910| 200 | 145 | 270 |0.602 | 90 295
37 | 50 | 2955 | 200L | 937 | 945 | 940 | 910 | 905 | 870 | 659 | 815 |1220| 195 [145 | 280 [0753 | 90 | 321
45 | 60 | 2960 | 225M | 940 | 940 | 935 | 91.0 | 910 | 880 | 799 | 810 |1481| 150 | 140 | 290 |1.187 | 92 365
55 | 75 | 2970 [ 250M | 943 | 945 | 940 | 915 [ 900 | 865 | 968 | 800 [1805| 150 |130 | 315 [1544| 92 | 49
75 | 100 | 2970 | 2805 | 94.7 | 946 | 936 | 90.0 | 898 | 876 | 134 | 900 |2461| 155 [135 | 300 |1935| 94 | 59
90 | 125 | 2970 | 280M | 950 | 950 | 940 | 905 | 90.0 | 825 | 159 | 900 [2953| 150 |[135 | 285 |2463 | 94 | 677
110 | 150 | 2970 | 3155 | 952 | 950 | 943 | 91.0 | 895 | 856 | 193 | 834 [3609| 230 |200 | 280 [3200| 98 | 1,018
132 | 175 | 2975 | 315M | 954 | 951 | 944 [ 91.0 | 905 | 870 | 231 | 755 [4324| 150 |130 | 280 |4800| 98 | 1,074
160 | 215 | 2975 | 315L | 956 | 955 | 94.5 [ 910 | 905 | 870 | 279 | 764 |[5241| 160 |140 | 270 |5200| 98 | 1,208
185 | 250 | 2975 | 315L | 957 | 955 | 94.5 | 91.0 | 89.0 | 850 | 323 | 840 [60.60| 160 |135 | 260 |6302| 98 | 1279
200 | 270 | 2975 | 315L | 95.8 | 956 | 946 | 910 [ 905 | 880 | 349 | 735 |6551| 160 |140 | 260 |6000| 98 | 1,349
220 | 300 | 2975 [355M | 95.8 | 956 | 946 | 91.0 [ 90.5 | 880 | 383 | 730 |7206| 145 |120 | 250 |6400 | 100 | 1,628
250 | 335 | 2975 [355M | 95.8 | 956 | 946 | 910 [ 905 | 885 | 436 | 700 |8189| 170 |115 | 240 [1080| 100 | 1,697
280 | 375 | 2975 | 3550 | 95.8 | 956 | 946 | 91.0 | 905 | 885 | 488 | 850 [9172| 170 | 115 | 240 [1627 | 100 | 1,890
315 | 420 | 2975 | 3550 | 95.8 | 956 | 947 | 915 [ 91.0 | 890 | 546 | 711 [103.18| 140 |115 | 240 [1400 | 100 | 1,978
355 | 475 | 2975 | 3550 | 95.8 | 955 | 946 | 920 | 905 | 855 | 612 | 840 (11628 120 | 120 | 260 [1997 | 100 | 2,047
TECO/17



TECO

X Data Sheet

THEE Data Sheet

380V 50Hz 380V 50Hz
PRIRELEEEIYL (Frame-proof motor) GB18613-2020 GB3 (IE3) PRIRELEERIL (Frame-proof motor) GB18613-2020 GB3 (IE3)
Model: TEBY A1B Model: TEBY 6%
EFFICIENCY POWER FACTOR CURRENT TORQUE ROTOR NOISE EFFICIENCY POWER FACTOR CURRENT TORQUE ROTOR NOISE
OUTPUT Approx OUTPUT Approx
FRAME FULL 3/4 2/4 FULL 3/4 2/4 FULL LOCKED FULL LOCKED PULL SOUND FRAME FULL 3/4 2/4 FULL 3/4 2/4 FULL LOCKED FULL LOCKED PULL SOUND
LOAD LOAD LOAD LOAD LOAD LOAD LOAD ROTOR LOAD ROTOR UP GD*> POWER Weight . LOAD LOAD LOAD LOAD LOAD LOAD LOAD ROTOR LOAD ROTOR UP GD*> POWER Weight
%) (%) %) (%) %FLT  %FLT %L Kg %) (%) %) (%) %FLT  %FLT %L Kg
0.55 | 0.75 | 1430 | 80M | 80.8 | 81.5 | 79.5 | 750 | 650 | 510 | 138 | 640 [0375| 300 |270 | 320 |0010| 66 037 | 05 | 905 | 80M |735 | 740 | 710 | 640 | 540 | 410 | 120 | 420 |0398| 230 |200 | 250 |0013 | 63
075 | 1 | 1410 | 80M |825| 818 | 79.7 | 735 | 640 | 500 | 188 | 640 |0518| 315 |290 | 335 |0013| 66 31 0.55 | 075 | 905 | 80M | 772 | 69.9 | 664 | 690 | 580 | 445 | 157 | 420 [0592| 210 |195 | 225 |0015| 63 42
11 | 15 | 1430 | 90L | 841 | 844 | 832 [ 795 | 715 | 575 | 250 | 720 [0750 | 255 | 205 | 290 | 0019 | 66 40 075 | 1 | 935 | 90L |789| 806 | 794 | 710 | 625 | 490 | 203 | 470 |0782| 205 |190 | 225 |0022| 63 42
15 | 2 | 1435| 0L | 853 | 841 | 822 | 750 | 655 | 515 | 356 | 760 [1.019| 300 | 235 | 335 |0023| 66 43 11 | 15 | 930 | 90L | 810 81.2 | 805 | 720 | 635 | 500 | 287 | 490 [1.153| 200 | 185 | 215 |0026| 63 45
22 | 3 | 1450 | 100L | 867 | 87.3 | 869 | 810 | 735 | 605 | 476 | 735 |1479| 200 |160 | 270 | 0045 | 70 54 15 | 2 | 950 | 100L | 825 | 829 | 815 | 725 | 650 | 520 | 381 | 500 [1539| 200 |175 | 225 | 0058 | 64 56
3 | 4 | 1455| 100L | 87.7 | 87.7 | 862 | 780 | 705 | 57.5 | 666 | 780 |2009| 250 |240 | 335 |0052| 70 56 22 | 3 | 960 [112M | 843 | 843 | 822 | 670 | 590 | 470 | 592 | 525 [2233| 175 |175 | 250 |0083 | 70 73
4 | 55 | 1445 |112M | 886 | 884 | 879 | 820 | 765 | 655 | 837 | 715 [2698| 245 | 205 | 280 | 0083 | 72 72 3 | 4 | 970 | 1325 | 856 861 | 851 | 760 | 700 | 575 | 701 | 655 [3014| 175 |170 | 300 |0137| 73 87
55 | 7.5 | 1455 | 1325 | 896 | 904 | 903 | 850 | 80.5 | 700 | 11.0 | 735 [3.684| 245 |200 | 300 |0132| 75 90 4 | 55 | 970 |132M | 868 | 87.2 | 863 | 77.0 | 700 | 575 | 909 | 670 [4019| 180 |175 | 310 |0182| 73 95
75 | 10 | 1450 [132M | 904 | 90.8 | 904 | 850 | 80.0 | 695 | 148 | 780 [5040| 270 |225 | 330 |0172| 75 97 55 | 7.5 | 970 [132M | 880 | 880 | 862 | 795 | 725 | 600 | 119 | 780 |5525| 210 |205 | 300 |0216| 73 | 103
11 | 15 | 1460 [ 160M | 91.4 | 920 | 915 | 850 | 81.0 | 71.0 | 215 | 775 |[7342| 230 |185 | 270 |0366 | 77 140 75 | 10 | 970 | 160M | 89.1| 90.0 | 89.0 | 790 | 730 | 610 | 162 | 715 |7535| 235 [210 | 280 [0483 | 73 | 142
15 | 20 | 1460 | 160L | 92.1 | 925 | 925 | 850 | 81.5 | 714 | 291 | 810 [1001| 250 |195 | 285 |0460 | 77 157 11 | 15 | 970 | 160L [ 903 | 91.0 | 905 | 780 | 720 | 605 | 237 | 755 |11.05| 295 |255 | 285 |0628 | 73 159
185 | 25 | 1475 | 180M | 926 | 940 | 930 | 850 | 824 | 750 | 357 | 790 |1222| 215 |160 | 255 |0.704 | 80 196 15 | 20 | 970 | 180L [ 912 | 920 | 920 | 820 | 780 | 680 | 305 | 690 [1507| 215 |165 | 230 |1337| 77 226
22 | 30 | 1475 | 180L | 93.0| 935 | 930 | 850 | 819 | 741 | 423 | 785 |1453| 190 | 145 | 245 |0789 | 80 220 185 | 25 | 975 | 200L | 91.7 | 925 | 925 | 805 | 760 | 665 | 381 | 720 |1849| 220 | 185 | 240 |1.829 | 80 302
30 | 40 | 1470 | 200L | 936 | 945 | 945 | 860 | 845 | 770 | 566 | 830 |1989| 250 |205 | 280 | 1451 | 83 328 22 | 30 | 975 | 200L | 92.2| 930 | 935 | 815 | 77.0 | 680 | 445 | 720 [2199| 210 |185 | 240 |2078 | 80 331
37 | 50 | 1480 | 225M | 939 | 945 | 940 | 855 | 820 | 730 | 700 | 760 |2436| 210 |175 | 300 |1.896 | 84 | 357 30 | 40 | 980 |225M | 929 | 935 | 935 | 835 | 800 | 765 | 588 | 600 |2983| 200 |160 | 215 |3.023 | 80 366
45 | 60 | 1480 | 225M | 942 | 945 | 940 | 850 | 800 | 704 | 854 | 735 [2963| 210 |175 | 290 |1979| 84 | 365 37 | 50 | 980 |250M | 93.3| 940 | 940 | 850 | 815 | 750 | 709 | 730 |3679| 230 |200 | 250 |4194 | 82 | 497
55 | 75 | 1485 | 250M | 946 | 946 | 940 | 875 | 845 | 770 | 101 | 780 [3609| 210 |185 | 265 |3911| 85 502 45 | 60 | 985 | 280S | 93.7| 937 | 930 | 815 | 775 | 67.5 | 895 | 690 |4452| 185 | 175 | 285 |5530 | 85 610
75 | 100 | 1480 | 2805 | 950 | 950 | 945 | 850 | 820 [ 730 | 141 | 900 |4938| 160 |150 | 300 |5.033 | 88 621 55 | 75 | 985 [280M | 94.1| 941 | 935 | 830 | 80.0 | 710 | 107 | 685 |5441| 185 |175 | 300 |6733| 85 695
90 | 125 | 1480 | 280M | 952 | 952 | 947 | 850 | 810 [ 713 | 169 | 880 |5926| 175 |165 | 300 |6.112 | 88 702 75 | 100 | 985 | 3155 | 946 | 945 | 937 | 845 | 810 | 710 | 143 | 669 |7420| 200 |180 | 280 [9.600 | 89 | 1,020
110 | 150 | 1480 | 3155 | 954 | 952 | 948 | 885 | 865 | 805 | 198 | 725 |7243| 210 |180 | 270 | 7600 | 94 | 1,025 90 | 125 | 985 |315M | 949 | 949 | 942 | 850 | 825 | 750 | 170 | 704 |89.04| 200 |180 | 250 [1520 | 89 | 1,077
132 | 175 | 1485 | 315M | 956 | 955 | 948 | 89.0 | 875 | 830 | 236 | 793 |8662| 200 |180 | 270 |1040 | 94 | 1,080 110 | 150 | 985 | 315L | 95.1 | 950 | 94.2 | 850 | 830 | 755 | 207 | 667 |1088| 200 |180 | 250 |1840 | 89 | 1210
160 | 215 | 1482 | 315L | 958 | 956 | 94.8 | 89.0 | 880 | 835 | 285 | 770 |1052| 200 |180 | 270 |11.60 | 94 | 1210 132 | 175 | 985 | 315L | 954 | 953 | 943 | 845 | 825 | 750 | 249 | 663 |1306| 200 |180 | 250 | 2040 | 89 | 1,282
185 | 250 | 1482 | 315L | 959 | 956 | 946 | 885 | 865 | 825 | 331 | 680 |1216| 130 |105 | 230 |1407 | 94 | 1,285 160 | 215 | 985 |355M | 956 | 955 | 94.5 | 845 | 825 | 750 | 301 | 660 |1583| 140 |115 | 230 |3160 | 94 | 1,630
200 | 270 | 1485 | 315L [ 960 | 956 | 952 | 895 | 888 | 845 | 354 | 740 [1312] 200 [180 | 260 |1400| 94 | 1,356 200 | 270 | 985 [355M | 95.8 | 955 | 946 | 850 | 830 | 775 | 373 | 650 |1979| 150 |125 | 240 |4080 | 94 | 1,698
220 | 300 | 1485 [ 355M | 96.0 | 956 | 952 | 89.0 | 880 | 840 | 391 | 740 |1444| 140 [115 | 230 [1440| 95 | 1,643 220 | 300 | 985 | 355L | 95.8 | 955 | 946 | 850 | 830 | 775 | 410 | 650 |2177| 150 |125 | 255 |4080 | 94 | 1,895
250 | 335 | 1485 [ 355M | 96.0 | 958 | 950 | 89.0 | 880 | 845 | 445 | 690 |1641| 140 |115 | 230 |27.20 | 95 | 1,700 250 | 335 | 985 | 355L | 95.8 | 956 | 948 | 855 | 835 | 780 | 464 | 660 |2473| 150 |125 | 230 |4600 | 94 | 1,980
280 | 375 | 1485 | 355L | 960 | 958 | 950 | 895 | 880 | 845 | 495 | 735 |1837| 200 |115 | 270 |3279 | 95 | 1,89 280 | 375 | 988 | 355L [ 95.8| 956 | 948 | 850 | 830 | 775 | 522 | 760 |2762| 180 [150 | 270 [5338| 94 | 2,051
315 | 420 | 1485 | 355L | 96.0 | 96.0 | 954 | 89.0 | 880 | 845 | 560 | 679 |2067| 130 |105 | 230 |3440 | 95 | 1,975
355 | 475 | 1485 | 355L [ 960 | 958 | 953 | 890 | 87.5 | 810 | 631 | 780 |2330| 200 |180 | 280 [39.22 | 95 | 2,052

TECO/18 TECO/19



4142 Data Sheet

PRIRBYEETNH], (Frame-proof motor)

Model: TEBY

380V 50Hz
GB18613-2020 GB3 (IE3)
61 &10%k

EFFICIENCY POWER FACTOR CURRENT TORQUE ROTOR NOISE
OUTPUT Approx
FULL FRAME FULL 3/4 2/4 FULL 3/4 2/4 FULL LOCKED FULL LOCKED PULL SOUND
LOAD NO. LOAD LOAD LOAD LOAD LOAD LOAD LOAD ROTOR LOAD ROTOR UP GD* POWER Weight
%) (%) %) (%) %FLT  %FLT -m2 NOFOAP kg
018 | 025 | 705 | 80M | 58.7 | 539 | 462 | 515 | 435 | 355 | 090 | 350 |0.249| 300 |275 | 305 |0013| 63 33
025 | 033 | 660 | 80OM | 64.1 | 620 | 565 | 63.8 | 53.8 | 425 | 093 | 340 [0369| 225 |210 | 230 |0015 | 63 35
037 | 050 | 705 | 90L | 69.3 | 66.6 | 62.3 | 59.0 | 485 | 390 | 1.37 | 380 |0511| 195 | 175 | 235 |0017 | 63 34
055 | 075 | 705 | 90L | 73.0 | 715 | 689 | 635 | 530 | 425 | 1.80 | 410 |0760| 170 | 150 | 220 |0.025| 63 45
075 | 1 700 | 100L | 750 | 747 | 709 | 605 | 51.0 | 39.0 | 251 | 420 |1.044| 225 |215| 235 |0041| 64 54
11 | 15 | 695 | 100L | 77.7 | 788 | 768 | 66.0 | 57.0 | 440 | 326 | 420 |1542| 200 |190 | 210 |0.059 | 64 57
15 | 2 700 [ 112M | 79.7 | 802 | 791 | 695 | 61.0 | 480 | 411 | 460 |2.088| 165 | 140 | 205 |0.090 | 70 73
22 | 3 | 705 | 1325 | 819 | 822 | 79.8 | 69.0 | 600 | 465 | 592 | 555 [3.041| 230 |205 | 265 |0.138| 71 88
3 4 715 | 132M | 835 | 832 | 80.1 | 63.0 | 535 | 405 | 866 | 570 |4.089| 280 | 250 | 325 |0.180 | 71 9%
4 | 55 | 720 | 160M | 84.8 | 847 | 825 | 70.5 | 62.0 | 485 | 102 | 590 5414 | 190 |170 | 250 |0.343 | 72 130
55 | 75 | 720 |160M | 86.2 | 85.2 | 83.3 | 715 | 63.0 | 500 | 136 | 605 |[7.444| 200 |185 | 275 | 0503 | 72 144
75 | 10 | 720 | 160L | 87.3 | 873 | 858 | 71.0 | 645 | 51.0 | 184 | 595 [10.15| 225 | 215 | 295 |0670 | 72 160
11 | 15 | 720 | 180L | 886 | 886 | 881 | 780 | 73.0 | 620 | 242 | 565 |14.89| 170 |150 | 210 |1273| 76 227
15 | 20 | 730 | 200L | 896 | 889 | 87.5 | 780 | 720 |600 | 326 | 605 |2002| 195 |170 | 230 |2082| 79 330
185 | 25 | 735 |225M | 90.1| 90.7 | 90.7 | 72.0 | 655 | 580 | 433 | 540 [2453| 210 |185 | 235 |2675| 79 355
22 | 30 | 740 |225M | 90.6 | 90.8 | 904 | 73.0 | 680 | 620 | 505 | 570 [2897| 225 |180 | 230 |3.256 | 79 364
30 | 40 | 735 [250M | 913|918 | 91.8 | 745 | 680 |580 | 670 | 555 |39.78| 210 | 170 | 245 |4565| 80 499
37 | 50 | 735 | 280S | 91.8 | 922 | 916 | 775 | 735 | 645 | 790 | 650 |49.06| 130 | 110 | 210 |6277 | 82 595
45 | 60 | 740 | 280M | 922 | 926 | 92.0 | 780 | 735 | 62.0 | 951 | 545 |59.26| 155 | 130 | 260 |7.726| 82 675
55 | 75 | 735 | 3155 | 925 | 927 | 922 | 805 | 765 | 65.0 | 112 620 |7292| 140 | 115 | 220 |9671| 88 1,021
75 | 100 | 738 |315M | 93.1| 93.0 | 914 | 800 | 760 | 655 | 153 550 |99.03| 140 | 105 | 220 |1954| 88 1,078
90 | 125 | 735 | 315L | 934 | 934 | 93.0 | 815 | 790 | 72.0 | 180 600 |1193| 150 | 110 | 200 |24.00| 88 1,078
110 | 150 | 735 | 315L | 93.7 | 935 | 92.8 | 805 | 77.0 | 67.0 | 222 600 |1458| 160 | 105 | 230 |30.15| 88 1,285
132 | 175 | 740 | 355M | 940 | 93.8 | 934 | 840 | 790 | 69.0 | 254 620 |1738| 100 | 90 | 230 |[3923| 92 1,632
160 | 215 | 735 |355M | 94.3 | 94.2 | 93.2 | 840 | 80.0 | 700 | 307 680 |2121| 110 | 90 | 240 |4615| 92 1,700
185 | 250 | 745 | 355L | 944 | 942 | 932 [ 820 | 77.0 | 69.0 | 363 640 |2420| 180 | 90 | 200 |51.60| 92 1,897
200 | 270 | 745 | 355L | 94.6 | 944 | 934 | 83.0 | 790 | 700 | 387 640 |2616| 180 | 90 | 200 |65.40 | 92 1,983
220 | 300 | 745 | 355L | 946 | 944 | 934 | 83.0 | 790 | 700 | 426 600 |287.8| 180 | 90 | 200 |6540 | 92 | 2,050

OUTPUT

EFFICIENCY

FULL
LOAD LOAD LOAD

(%)

3/4

2/4

POWER FACTOR

FULL

LOAD LOAD

3/4

2/4

LOAD

CURRENT

FULL
LOAD

LOCKED
ROTOR

FULL
LOAD

TORQUE

LOCKED PULL

ROTOR UP POWER Weight

NO-LOAD

%FLT ~ %FLT Kg

150 100 | 200 | 16.45 78 1,015

45 | 60 | 590 | 3155 | 91.5| 91.7 | 91.0 | 750 | 724 | 649 | 994 | 620 |7433
55 75 590 | 315M | 92.0 | 92.2 91.7 | 75.0 | 73.8 70.9 121 620 90.84 150 100 200 20.25 78 1,065
75 100 590 | 315L | 925 | 923 90.8 | 76.0 | 75.2 714 162 580 123.9 150 90 200 24.00 83 1,200
90 | 125 | 590 | 315L | 93.0 | 93.0 | 926 | 77.0 | 757 | 706 | 191 590 |1487| 150 | 90 | 200 |29.75| 83 1,268
110 150 590 |355M | 93.2 | 93.0 923 | 780 | 76.7 73.3 230 600 181.7 130 90 200 4535 83 1,625
132 | 175 | 590 |355M | 935 | 933 | 929 | 780 | 77.6 | 754 | 275 600 |[2180| 130 | 90 | 200 |51.20| 83 1,690
160 215 590 | 355L | 93.5| 934 927 | 780 | 76.7 73.3 333 600 264.3 130 90 200 66.80 90 1,878
185 250 590 | 355L | 935 | 934. | 927 | 78.0 | 76.7 733 385 600 305.6 130 90 200 66.80 90 1,970
200 | 270 | 590 | 355L | 93.6 | 933 | 923 | 79.0 | 786 | 76.7 | 411 600 [3303| 130 | 90 | 200 |8520| 90 2,035
10iR A EGBFIIECBEXCEEA
TECO/20

TECO

Z#EAL: B3 (IM 1001)

JMIZE] Outline

IR ZERTE

Zagle Limenxlar
& O Cablz Disnejoun A
AL AT y
B T =y ]
Co————= 0 11 g a0 e -l

.

= PR

FIG.1 FIG.2

Dimensions in mm

Output (kW) FRAME
2P 4P 6P 8P SIZE
0.750.55] 0.37 | 0.18
80M | 125 | 345 [ 161 | 175 % | 100 | 137 | 50 | 80 326 295
1.1 10.75 | 0.55 | 0.25
10 10
15 | 1110751 037) g | 449 180 | 202 [187.5| 169 | 100 | 125 | 186 | 56 [ 90 350 381
22 [ 15| 1.1 ] 055
40
2.2 0.75
3 15 100L | 160 200 | 216 F | 140|211 | 63 | 100 | 12 | 375| 12 | 419
3 1.1

SHAFT EXTENSION BEARING EXPORTWIRE  THE RANGE of
DRIVE END OPPOSITE SIZE of CABLE outer DIAMETER

G GA DRIVE END GLANDBODY  Of INLET CABLE

80M 1 19 | 40 | 32 6 |[155]215 M6X16 62047ZC3 | 6204ZZC3

rubber
sheath cable
90L 24 | 50 | 40 20 | 27 M8X19 | 62052ZC3 | 6205ZZC3 | or M30x2 013~@22
5 8 or NPT 1"
100L 28 | 60 | 50 24 | 31 | m10x22 | 62052zC3 | 62067ZC3

Note: 1.Tolerance of Shaft End Diameter D: j6.
2. Tolerance of shaft center height H: +0,-0.5.

TECO/21



JMIZE] Outline

INERZERTE LFHI.: B3 (IM 1001)

wal 1
>
—ﬁ-—

] o DfEe=asay

-\_'-,.

¥
]

e

(]|
v
=iH.

S
FIG.3 FIG.4
Dimensions in mm
Output (KW
utput (kW) FRAME A AA AB AC AD AG Bl B BB C H HA HD K L
2 4P 6P 8P SIZE
4 | 4 [ 22|15 [112m[ 190 | 45 | 235 | 236 180 | 70 | 112 | 13 | 400 456
55 @ | 140
55 3 | 22 [1325 190 486
75 187.5| 169 12
216 | 57 | 263 | 273 89 | 132 | 16 | 436
— |75 2] 3 |3am 140 | 178 | 230 521
55
! 1 | 75 4 160M @ | 210 | 256 634
15 2 55 254 | 60 | 300 | 317 | 209 | 202 | * 108 | 160 | 18 | 487 | 145
85| 15 | 11 | 7.5 |160L 210 | 254 | 300 668

SHAFT EXTENSION BEARING EXPORTWIRE  THE RANGE of
DRIVE END OPPOSITE SIZE of CABLE outer DIAMETER

ED DRIVE END GLAND BODY of INLET CABLE

TECO
SMEZE] Outline

INERZERTE L&A, B3 (IM1001)

Ak T;H' i
_'E.-“; _'.h'._:I: i
|
FIG.5 FIG.6

Dimensions in mm

Output (kW) FRAME
A
4p SIZE
— | 185 — | — | 241 | 292 672
180M
22 — | = = 279 | 65 | 330 | 355|209 | 202 121 | 180 20 | 542 | 14.5
241 | 279 | 330 710
— | 22 15 11 | 180L
30 18.5
3 30 P 15 [200L | 318 | 70 | 378 | 400 & | 305 | 365 | 133 | 200 24 | 610 805
7
256 | 235 18.5
— | 37 | — | 185 (811)
225M| 356 | 75 | 431 | 448 286 | 311 | 375 | 149 | 225 28 | 652
45 | 45 30 22 841

SHAFT EXTENSION BEARING EXPORT WIRE THE RANGE of

DRIVE END OPPOSITE SIZE of CABLE outer DIAMETER
G GA DH
DRIVE END GLAND BODY of INLET CABLE

112M| 3 | 28 | 60 | 50 | 8 | 24 | 31 | M10x22 | 63062zC3 | 63062ZC3 | rubber
1325 sheath cable 013~022
38 | 80| 70 | 10 | 33 | 41 | M12x28 | 6308zzC3 | 6306zzC3 | or M30x2
132M or NPT 1"
160M 4 rubber
42 | 110|100 | 12 | 37 | 45 | m16x36 | 6309zzC3 | 630722C3 Sg‘fﬁ/tlg‘gfzb'e 013~028
160L or NPT 1.25"

Note: 1.Tolerance of shaft end diameter D: 1) F#112M: j6.  2) F#132S~160L : k6.
2. Tolerance of shaft center height H: +0,-0.5.

TECO/22

180M

rubber sheath

48 14 | 42.5| 51.5| M16X36 | 6311C3 6310C3 cable @13~228

or M36x2
180L 5 110 | 100 or NPT 1.25"

200L 55 16 | 49 | 59 [ M20X42 6312C3 6212C3 rubber sheath
cable

(6312C3) | (6212C3) or MA8x2 @19~237
or NPT 1.5”

or NPT 2"

(55) | (110) | (100) | (16) | (49) | (59) MROX42

225M1 6 1 60 | 140 | 125 | 18 | 53 | 64 6313C3 | 6213C3

Note: 1. Tolerance of shaft end diameter D: 1) F#180 : k6. 2) F#200L~225M : m6.
2. Tolerance of shaft center height H: +0,-0.5.
3. No.in ( ) isfor 2P.

TECO/23



MIZE] Outline

IMNER ZERTE ZaEHFH: B3 (IM 1001)

Dehle

R EFETIE

e
iz
A R "

Dimensions in mm

55 | 55| 37 | 30 | — [250m| 406 | 85 | 480 | 498 349 | 425 | 168 | 250 | 30 | 740 921
75 | 75 | 45 | 37 | — |280s 320 310 | 368 | 465 24 | 990
457 | 110 | 560 | 542 190 | 280 | 35 | 780
90 | 90 | 55| 45 | — [280m 419 | 516 1050
110 [ 110 75 | 55 | 45 |3155 620 406 | 550 898 B
508 | 115 | 615 370 | 380 216 | 315 | 35 28
132|132 90 | 75 | 55 [315Mm 630 457 | 610 913 (2>
SHAFT EXTENSION BEARING EXPORT WIRE  THE RANGE of
FRAVE FIG. DRIVE END OPPOSITE SIZE of CABLE  outer DIAMETER
ED G GA DH
SIZE NO. DRIVE END GLANDBODY  of INLET CABLE
(60) 3) | (64 6313¢3) | (6313C3)
250M 65 18 | 5 | o | MROX42 | “5315c3 6313C3 mbberbslhea‘h
7 140 | 125 cave D24~240
2805 (65) (18) | (58) | (69) (6314C3) | (6314C3) °fN"Ij$42X§,,
280M 75 20 | 67.5| 79.5 6318C3 | e6316C3 | @
M20X40 rubber sheath
315 ©5) | (140)| (125)| (18) | 58) | (69) 6316C3) | (6314C3) cable
8 180 170|160 | 22 | 71 | 85 6320C3 | 6316C3 or Mo 038038
315M or M63X1.5
or NPT 2.5"

Note: 1.Tolerance of Shaft End Diameter D : m6 .
2.Tolerance of shaft center height H : 1)For #250,+0,-0.5;2)For #280,315,+0,-1.
3. No. in() is for 2P.

TECO/24

SMIZE] Outline

IR ZERTE

Cable
Dimension

e T

{1 b
[ D 7

GA

TECO

Z4EHF: B3 (IM 1001)

FIG.9

Dimensions in mm

160 | 160 | 110 | 90 75
185 | 185 | 132 | 110 90 | 315L| 508 | 115 | 615 | 630 508 | 680 | 216 | 315 | 35| 913 qggg)
200 | 200 | — — —
220 | 2201 160 | 132 | 110
355M 370 | 380 | 560 | 700 28 (1488)
250 | 250 | 200 | 160 | 132 1518
280 | 280 | 220 | 185 | 160 610 | 150 | 750 | 750 254 | 355 | 4511028
315 | 315 | 250 | 200 | 185 | 355L 630 | 770 qggg)
355 | 355 | 280 | 220 | 200
SHAFT EXTENSION BEARING EXPORT WIRE  THE RANGE of
FRAME FIG. DRIVE END OPPOSITE SIZE of CABLE outer DIAMETER
SIZE NO. DRIVE END GLANDBODY of INLET CABLE
(65) (18) | (58) | (69) (6316C3) (6314C3)
35L 8 80 22 71 85 M20x40 6320C3 6316C3
rubber sheath
(140) | (125) cable or M64x2
355M 170 | 160 or 6315 or 238~058
9 (75) (20) [(67.5)| (79.5)| (M20X40) (6317C3) (6317C3) NPT 2.5"
95 25 86 100 M24X48 6322C3 6322C3
355L
Note: 1.Tolerance of Shaft End Diameter D : m6 .
2.Tolerance of shaft center height H : 1)For #250,+0,-0.5;2)For #280,315,+0,-1.
3. No. in() is for 2P.
TECO/25



M2l Outline

SN R ZERTE

Cab: 1=

A Sotmension

= B e =15

2B B5 (IM 3001)

FIG.1 FIG.2

Dimensions in mm
Output (kW) FRAME FLANGE DIMENSION

2P 4P 6P 8P SIZE LA Y N P )

0.75] 0.55]0.37| 0.18
80M 175 | 246 295

1.1 1 0.75[0.55] 0.25

12 | 165 | 130 [ 200 [ 12 [ 3.5

1.5 | 1.1 ]0.75] 0.37
90L 202 | 260 [187.5[ 169 381

22 | 1.5 | 1.1 ] 0.55

2.2 0.75
3 1.5 100L | 16 | 215 | 180 | 250 [ 14.5| 4 | 216 | 275 419

BEARING
DRIVE END OPPOSITE  SIZE of CABLE

SHAFT EXTENSION EXPORT WIRE

FRAME FIG.

SIZE NO.

ED € GA
DRIVE END GLAND BODY

8OM | 1 19 [ 40 32 6 | 155] 215 M6X16 62047ZC3 | 62047ZC3

rubber sheath
90L 24| 50 | 40 20 | 27| wmex19 | 6205zzc3 | 62052z¢C3 cable
or M30x2
2 8 or NPT 1"
100L 28| 60 | 50 24 | 31 | wmiox22 | e206zzc3 | 6206zzC3

THE RANGE of
outer DIAMETER

of INLET CABLE

D13~022

Note: 1.Tolerance of Shaft End Diameter D : j6.
2.Tolerance of N : j6.

3.Fr#80~132 : When installing the flange,the mounting bolt must be threaded in from the customer side.

TECO/26

MIZE] Outline

SN R EERTE

TECO

4B B5 (IM 3001)

FIG.3 FIG.4
Dimensions in mm
Output (kW) FLANGE DIMENSION
4P 6P M N P )
4 4 221 1.5 [ 112M| 15 | 215 | 180 | 250 236 | 288 456
5.5
5.5 3 2.2 | 132S 486
7.5 145| 4 187.5| 169
16 | 265 | 230 | 300 273 | 304
4
— | 75 3 132M 521
5.5
11 4
11 7.5 160M 634
15 5.5 15 | 300 | 250 | 350 | 18.5 5 317 | 327 | 209 | 202
185] 15 11 7.5 | 160L 668

SHAFT EXTENSION BE ARING EXPORT WIRE THE RANGE of
DRIVE END OPPOSITE SIZE of CABLE outer DIAMETER
DRIVE END GLAND BODY of INLET CABLE
112M 28 60 50 8 24 31 M10X22 6306ZZC3 | 6306ZZC3
rubber sheath
1325 | ,\jgg"; @13~022
38 80 70 10 33 41 M12X28 6308ZzC3 | 6306ZzC3 | " X i or
132M NPT 1
160M rubber sheath
4 | 42110 100 | 12 | 37 | 45 | M16x36 | 6309zzC3 | 63072ZC3 orcfg'gxz ?13~028
160L or NPT 1.25"
Note: 1.Tolerance of shaft end diameter D: 1) F#112 M: j6. 2) F#132S~160L : k6.
2. Tolerance of N: j6.
TECO/27



MIZE] Outline

MIZE] Outline

TECO

Y REERTE 28752 BS (IM 3001) SN RZERTE a5t B5 (IM 3001)

N ;;#; Dimension - N e
T _1 ;L@Dﬁ . E____"’II aile

o= =] 5 :_:__"S;_-

ale . < II“hE

—. c|—
- :F,_!'J:':ﬁﬂ_—
FIG.5 FIG.6

Dimensions in mm

FIG.6

Output (kW) FLANGE DIMENSION
Dimensions in mm
4P M N P S
Output (kW)
— |185] — | — 672
180M
2| —| —| - 15 | 300 | 250 | 350 355 | 362 | 209 | 202
710 55 | 55 | 37 | 30 | — |250M 498 | 490 921
— | 22| 15 | 11 | 180L
30 18.5 185| 5 75 | 75 | 45 | 37 | — |280s 990
30 15 | 200L | 17 | 350 | 300 | 400 400 | 410 805 22 | 500 | 450 | 550 [ 185| 5 320 | 310
37 22 542 | 500
256 | 235
— | 37| — |185 811) 9 | 90 | 55 | 45 | — |280M 1050
225M | 20 | 400 | 350 | 450 448 | 427 841
SHAFT EXTENSION BEARING EXPORTWIRE  THE RANGE of
SHAFT EXTENSION BEARING EXPORT WIRE ~ THE RANGE of
DRIVE END OPPOSITE SIZEof CABLE outer DIAMETER
DRIVE END OPPOSITE SIZEof CABLE  outer DIAMETER ED G | GA
DRIVE END GLAND BODY of INLET CABLE
DRIVE END GLAND BODY of INLET CABLE (60) 53) | (64) (6313C3) (6313C3)
180M bber <heath 250M 65 18 | 58 | 69 | M20X42 | ‘g345c3 | 63133
48 14 | 425]51.5| M16Xx36 | 6311C3 6310C3 e 213~028 (65) bebebeIhea“‘
180L| 5 110 | 100 O eee 280S| ¢ | 75 | 140 | 125 cav’e @24~@40
(18) | 58) | 69) | \1ooxao (6314C3) | (6314C3) | or Me4x2
200L 55 16 49 59 6312C3 6212C3 rubber sheath (65) 20 | 67.5| 79.5 6318C3 6316C3 or NPT 2.5
cable 280M
sosml 6 | 85) [(110)] (100) | (16) | (d9) | (59) [ M20X4Z | (e312C3) | (6212C3) | O M4B2 019~237 70
60 |140| 125 | 18 | 53 | 64 6313C3 6213C3 °;rNNPJT12-?
Note: 1. Tolerance of Shaft End Diameter D: m6.

Note: 1. Tolerance of Shaft End Diameter D: 1) F#180: k6. 2) F#200L~225M : m6.
2. Tolerance of N: j6.
3. No.in( ) is for 2P.

TECO/28

2. Tolerance of N: j6.
3. No.in( ) is for 2P.

TECO/29



TEC
9”1:2 Outline 9”1:2 Outline O

IR ZERTE L#<FI: B35 (IM 2001) INERZERTE %% B35 (IM 2001)

priee—— 28/ 7 [
) I — s i = =t
' = e —— %I's:i:"
1 1 | 'E 1Kl - | —=
'--—-—J"""lf - ":J —_—
o = BT D : :
o = ['ﬂn}n |,I.I | E | |
—L & R [H—tel b i
cher\ o 75 i i
1 _.|.=_m’.; o ke 1|
e ™
- —
<[ -
I " .- L
| t I:||
FIG.3 FIG.4

FIG.1 FIG.2

Dimensions in mm

Output (kW) FRAME FLANGE DIMENSION
Dimensions in mm

Output (kW) FLANGE DIMENSION 4 | 4 | 22| 15|112m| 15 | 215 180 | 250 190 | 45 | 235 | 236 180 | 70 | 112
4P 6P M N P S T 5.5 fie | 140
55| 3 | 22 |132s 190
0.75 | 0.55 [ 0.37 | 0.18 75 14.5| 4 187.5| 169
80M 125 | 345 | 161 | 175 @ | 100 [137] 50 | 80 16 | 265 | 230 | 300 216 | 57 | 263 | 273 89 | 132
11 [ 0.75| 0.55 | 0.25 4
12 [ 165|130 [ 200| 12 | 3.5 — |75 3 |132M 140 | 178 | 230
15 | 1.1 | 0.75]0.37 5.5
9oL 140 180 | 202 [1875| 169 | 100 | 125 | 186| 56 | 90
22| 15| 1.1 |055 11 4
40 1|75 160M g | 210 | 256
29 075 15 5.5 15 | 300| 250 | 350 [ 18.5 5 | 254 | 60 | 300 | 317 | 209 | 202 108 | 160
3 15 100L | 16 | 215|180 250| 15| 4 | 160 200 | 216 @ | 140 [211] 63 | 100 55l 15 1 11 175 1000 210 | 252 | 300
SHAFT EXTENSION BEARING EXPORT WIRE  THE RANGE of R EEn EEARLIE D
SIZE of CABLE ter DIAMETER
FRAME FIG. DRIVE END OPPOSITE SIZE of CABLE  outer DIAMETER o el s lemveas OPPOSITE o outer
G GA DRIVE END GLAND BODY of INLET CABLE
SIZE NO. DRIVE END GLAND BODY of INLET CABLE
112Mm| 3 | 13 | 400 456 | 28 | 60 | 50 | 8 | 24| 31 [Mi0x22| 6306ZZC3 | 63062ZC3 r ubber
sheat h
8oM | 1 326 295[ 19| 40 [ 32 | 6 [15.5]| 21.5 |M6X16| 6204ZZC3 | 6204zZC3 1328 10 | 486 cabl o or 13-0522
10 10 rubber 16 | 436 38| 80| 70| 10 | 33| 41 [mi2xe8| 6308zzC3 | 63062ZC3 | M30x2 or
90L 350 381| 24 | 50 | 40 20 | 27 |msx19| 62052zc3 | 62052zC3 She;th 213~022 132M 521 NPT1"
cable
2 8
or M3OX% 160M 4 634 rubber
or NPT 1
100L 12 | 375| 12 |419]| 28 | 60 | 50 24 | 31 |M10x22| 6206ZZC3 | 6206ZZC3 sheath cable
18 | 487 | 14.5 42 [ 110|100 | 12 | 37 | 45 [Mm16x36| 630922C3 | 630722C3 | o M36x2 P13~228
1601 668 or NPT1.25
Note: 1. Tolerance of Shaft End Diameter D: j6.
2. Tolerance of shaft center height H: +0,-0.5. Note: 1.Tolerance of Shaft End Diameter D: 1) F#112 M: j6. 2) F#1325~160L : k6.
3.Tolerance of N: j6. . . ] 2. Tolerance of N: j6.
4.Fr#80~132 : When installing the flange,the mounting bolt must be threaded in from the customer side. 3. Tolerance of shaft center height H: +0,-0.5.

TECO/30 TECO/31



TECO

2%/ B35 (IM 2001)

JMIZE] Outline

IR ZERTE

MIZE] Outline

IR ZERTE

2%/ B35 (IM 2001)

a - | A
e — i : 'H'I' == T I e i A | ']
I - Loty spebor et o SN L - -— == == - —JE P! Zails Cimmiis
L act L cam
, y iﬂ}ﬂﬁn@',l Il. ] . I""il' _.-_ \ e
[ -\.*'-"-_. " e 1
RLSicd i | ul
T | e - <]
.:‘_\\*M'--._. ]
Iz‘;_-’;r. N T l--!— = il = i
ks L =] —
" A1
3 .J.

FIG.5 FIG.6

FIG.7 FIG.8

Dimensions in mm Dimensions in mm

Output (kW FRAME FLANGE DIMENSION
Output (kW) FLANGE DIMENSION utput (kW)
4P 6P 8P SIZE LA M I\ P S
4P M N P s
55 | 55 | 37 | 30 | — [250m 406 | 85 | 480/ 498 349 | 425 | 168
— [18s5] = | = ® | 241 | 202
180M 75 | 75 | 45 | 37 | — |280s| 22 | 500 | 450 | 550 | 185| 5 320 | 310 | 368 | 465
2| - == 15 | 300 | 250 | 350 279 | 65 | 330 | 355 | 209 | 202 121 | 180 457 | 110 | 560 | 542 190
241 | 279 | 330 90 | 90 | 55 | 45 | — [280Mm 419 | 516
— [ 22| 15| 11 [180L
30 18.5 185| 5 110 | 110 | 75 | 55 | 45 |315s 620 406 | 550
30 15 |200L| 17 | 350 | 300 | 400 318 | 70 | 378 | 400 % | 305 | 365 | 133 | 200
37 22 25 | 600 550 | 660 | 24 | & | 508 | 115 | 615 370 | 380 216
256 | 235
— [ 37| = |185 132 | 132 | 90 | 75 | 55 |315Mm 630 457 | 610
225M| 20 | 400 | 350 | 450 356 | 75 | 431 | 448 286 | 311 | 375 | 149 | 225
SHAFT EXTENSION BEARING EXPORT WIRE THE RANGE of
SHAFT EXTENSION BEARING EXPORTWIRE  THE RANGE of
OPPOSITE SIZE of CABLE outer DIAMETER
OPPOSITE SIZE of CABLE outer DIAMETER DH DRIVE END
DRIVE END DRIVE END GLAND BODY of INLET CABLE
DRIVE END GLAND BODY of INLET CABLE
(60) 53) | (64) (6313C3) (6313C3)
o 72 250M 250 | 30 | 740 o1 | € 18 | O | ) lyoxap| 627303 oascs hrutl;berbl
sheath cable
20 | 542 | 145 48 14 | 425 | 51.5|m1ex38| 6311c3 | 6310C3 213~028 280s| 24 [T990 (65) 1401 125 18 | 8 | ©9) (6314C3) | (6314C3) | OF M64x2 024~240
710 280 | 35 | 780 NPT 2.5"
180L| 5 110 | 100 rubber 280M 1050 75 20 | 67.5| 795 6318C3 6316C3 | °OF :
sheath cable
or M36x2 (1173) rubber
200L 24 | 610 805 | 55 16 | 49 | 59 |m2oxa2| 6312c3 6212C3 | or NPT 1.25" 3158 898 o M20X40 | uoper
sheatnh cable
or NPT 2" ~ ©65) | (140)| (125)| (18) | (58) | (69) 6316C3) | (6314C3) ~
e @11 65 [ 10)| 00y | (16) | @9) | (59) (6312C3) | (6212C3) S R * qosy| B0 | TO[ MO 2 T8 632003 | 6316C3 c?rrM'\ggi;(ZS oo
225M| 6 | 28 | 652 841 | 60 | 140 | 125 | 18 | 53 | 64 [M2%*?| ‘6313c3 | 6213C3 315M 913 1283 or NPT 2.5"
Note: 1. Tolerance of Shaft End Diameter D: m6.

Note: 1. Tolerance of Shaft End Diameter D: 1) F#180: k6.
2. Tolerance of N: j6.
3. No.in () isfor 2P.

TECO/32

2) F#200L~225M : mé6.

2. Tolerance of N: 1) F#250M~280M: j6
3. Tolerance of N: 2) F#3155~315M: js6.
4. No. In( ) is for 2P.

5. Tolerance of shaft center height H: 1)For #250, +0,-0.5; 2)For #280,315, +0,-1.

TECO/33




TEC
HMAZIE] Outline HMIZE] Outline o

IR ZERTE L#<AI\: B35 (IM 2001) INERZE=RTE LEAHR: V1 (IM 3011)

AD AG AD AG

Cable Dimension Cable Dimension
2 OO 2 OO
T S T =L =

= 8—gs Ls
ED ED
O
2 4 i < nlz i 2
A = i
2  ——
BB
o
K2
b ]
Dimensions in mm Dimensions in mm
Output (kW) FLANGE DIMENSION Output (kW) FRAME FLANGE DIMENSION
4P 6P 8P M N P s 2P 4P 6P 8P sizE LA M N P S
160 | 160 | 110 90 75 0751 0551 037 | 0.18
185 | 185 | 132 | 110 | 90 |315L| 25 | 600 | 550 | 660 508 | 115 |615| 630 508 | 680 | 216 11 1075 055 | 02s 80M 175 | 246 330
200 200 — [ = [ = ' ' ' ' 12 | 165 | 130 | 200 | 12 | 35
1.5 1.1 0.75 ] 0.37
220 | 220 | 160 | 132 | 110 3550 4 5 370! 380 | 560 | 700 90L 202 | 260 [187.5] 169 411
250 | 250 | 200 | 160 | 132 22 1.5 11 055
280 | 280 | 220 | 185 | 160 30 | 740 | 680 | 800 610 | 150 |[750| 750 254 3 22 15 0.75 1oLl 16 1 215 180 | 250 | 145 | 4 | 216 | 275 454
315 | 315 | 250 | 200 | 185 | 355L 630 | 770
355 | 355 | 280 | 220 | 200 SHAFT EXTENSION BEARING EXPORT WIRE THE RANGE of
SHAFT EXTENSION BEARING SEORT WIRE| MHERWEEE FRAME FIG. DRIVE END OPPOSITE  SIZE of CABLE outer DIAMETER
(€] GA
DRIVE END o1 SZE Of CABLE ouer DIAMETER SZE  NO. DRIVE END GLANDBODY  of INLET CABLE
DERI\IJ\I/DE GLAND BODY  of INLET CABLE
(1353)| (65) 18) | (58) | (69) (6316C3) | (6314C3) goM| 1 | 19 | 40 | 32 | 6 |155[215| wMexie | 6204zzC3 | 6204zzC3
315L1 8 | 315 | 35 | 913 1383 | 80 2 | 71 | 85 | M™% ‘s320c3 | 6316C3
rubber rubber sheath
sheath cable cable
3550 28 [(1450 (140)| (129 ormeae | oss-ass 9oL 24 | 50 | 40 20 | 27 | Mex19 | 62052zC3 | 620522C3 | oo, 213~022
(75) (20) | (67.5)|(79.5)|(M20x40)| (6317C3) | (6317C3) | or M63x1.5 or NPT 1"
i T 1538 95 25 | 86 | 100 | M24x48 | 6322C3 | 6322C3 | or NPT 2.5" 2 °
355L (oo 100L 28 | 60 | 50 24 | 31 | Miox22 | 6206zzC3 | 62062zC3
Note: 1. Tolerance of Shaft End Diameter D: m6. . .
2.No.In( )is for 2P. Note: 1.Tolerance of Shaft End Diameter D: j6.
3. Tolerance of N: jsé6. 2. Tolerance of N: j6. . . .
4. Tolerance of shaft center height H: +0,-1. 3.Fr#80~132 : When installing the flange,the mounting bolt must be threaded in from the customer side.

TECO/34 TECO/35



SMIZE] Outline

SN R ZERTE

i ""11_ T,
— e W i
0 1 ¥ it
LT it —e
e ) t Tm—s [
; [ ,_: e
e L e ——s
-__.:.:' i 5oy _]'
A i ==
P
| I
I .
| B E LHTT
FIG.3

Output (kW)

2B V1 (IM 3011)

FIG.4

Dimensions in mm

FLANGE DIMENSION

4P 6P M N P S
4 4 2.2 1.5 | 112M| 15 215 | 180 | 250 236 | 288 496
55
5.5 3 2.2 | 1328 531
7.5 14.5 4 1875 169
16 265 | 230 | 300 273 | 304
4
— 7.5 3 132M 571
55
11 4
11 7.5 160M 684
15 5.5 15 300 | 250 | 350 | 18.5 5 317 | 327 | 209 202
18.5 15 11 7.5 | 160L 718

SMIZE] Outline

IR ZERTE

COmkla&
imeneiEn

TECO

ZaEHFH: V1 (IM 3011)

SHAFT EXTENSION BEARING EXPORT WIRE THE RANGE of
DRIVE END OPPOSITE  SIZE of CABLE outer DIAMETER
DRIVE END GLAND BODY of INLET CABLE
112M 28 60 50 8 24 31 M10X22 6306ZZC3 6306ZZC3
rubber sheath
132s| 3 Mcab'g or B13~022
38 80 70 10 33 41 M12X28 63082ZC3 6306ZZC3 l?lg)fl' ] "°r
132M
rubber sheath
160M cable or
4 42 110 | 100 12 37 45 M16X36 6309ZZC3 6307ZZC3 @13~028
M36x2 or
160L NPT 1.25"
Note: 1.Tolerance of Shaft End Diameter D: 1) F#112 M: j6.2) F#132S~160L : k6.

2. Tolerance of N: j6.

TECO/36

Dimensions in mm
Output (kW) FLANGE DIMENSION
4P M N P S
— 18.5 — — 732
180M
22 — — — 15 300 | 250 | 350 355 | 362 | 209 202
770
— 22 15 11 180L
30 18.5 18.5 5
30 15 200L 17 350 | 300 | 400 400 | 410 875
37 22
256 235
— | 37| — | 185 (871)
225M 20 400 | 350 | 450 448 | 427 1
45 | 45 | 30 | 22 90
SHAFT EXTENSION BEARING EXPORT WIRE THE RANGE of
DRIVE END OPPOSITE SIZE of CABLE outer DIAMETER
(€] GA
DRIVE END GLAND BODY of INLET CABLE
180M rubber sheath
48 14 | 425 | 51.5 M16X36 6311C3 6310C3 cable @13~028
180L or M36x2
5 110 100 or NPT 1.25"
200L 55 16 | 49 | 59 6312C3 6212C3 r”bbceez ;’;eath
M20X42 or M48x2 @19~@37
sl 6 | 65| (110) | (100) | (16) | (49) | (59) (6312C3) | (6212C3) | or NPT 1.5"
60 140 125 18 53 64 6313C3 6213C3 or NPT 2"
Note: 1. Tolerance of Shaft End Diameter D: 1) F#180: k6. 2) F#200L~225M : m6.

2. Tolerance of N: j6.
3. No.in( ) isfor 2P.

TECO/37




TECO
HMAZE Outline SMIZEl Outline

IR ZERTE ZEAIL V1 (IM3011) INER&Z =R TE LEHI V1 (IM3011)

Cable : 1 !T:v-_u

Dimension

|

L//’//J

GA

FIG.6 FIG.7 FIG.7
Dimensions in mm Dimensions in mm
Output (KW) FLANGE DIMENSION Output (kW) FLANGE DIMENSION
4P 6P 8P LA M N P S 4P 6P 8P M N P S
160 | 160 | 110 | 90 | 75
55 | 55 | 37 | 30 | — [250M 498 | 490 993 (1483)
185 | 185 | 132 | 110 | 90 [315L| 25 | 600 | 550 | 660 630 | 598 1513
75 | 75 | 45 | 37 | — |[280S| 22 | 500 | 450 | 550 | 185| 5 320 | 310 | 1090
542 | 500 200120) — | — | —
90 | 90 | 55 | 45 | — |280Mm 1150 220 | 220 | 160 | 132 | 110 (1638)
355M 24 6 370 | 380 |'iees
(1303) 250 | 250 | 200 | 160 | 132
110 | 110 | 75 | 55 | 45 |315S 620 | 583
1333 280 | 280 | 220 | 185 | 160 30 | 740 | 680 | 800 750 | 670
25 | 600 | 550 | 660 | 24 6 370 | 380 (1688)
(1383) 315 | 315 | 250 | 200 | 185 | 355L
132 | 132 | 90 75 | 55 |315M 630 | 598 1413 1718
355 | 355 | 280 | 220 | 200

SHAFT EXTENSION BEARING EXPORT WIRE THE RANGE of

SHAFT EXTENSION BEARING EXPORT WIRE THE RANGE of

DRIVE END OPPOSITE SIZE of CABLE outer DIAMETER DRIVE END OPPOSITE  SIZE of CABLE outer DIAMETER

DRIVE END GLAND BODY of INLET CABLE

DRIVE END GLAND BODY of INLET CABLE

zsom| | © 18 | O] O] ypoxay | 31309 [ (@313C3 SCH I 2 |0 | | M2ox0 | Gancs | ‘eatecs
65 58 69 6315C3 6313C3 rubber sheath rubber sheath
cable ble
280s| 6 140 | 125 @24~340 ca
(65) (18) | (58) | (89) (6314C3) | (6314C3) | or M64X2 355M| 7 qig) qgg) or M64x2 38~@58
280M 75 20 | 675 79.5 6318C3 6316C3 or NPT 2.5 (75) (20) | (67.5)| (79.5)| (M20x40) (6317C3) (6317C3) or M63X1.5
95 25 86 100 M24X48 6322C3 6322C3 or NPT 2.5"
355L
3158 M20X40 rubber sheath
bl .
S | (65) | (140)| (125)| (18) | (58) | (69) (6316C3) | (6314C3) orC:/IGEXZ P38~058 Note: 1.Tolerance of Shaft End Diameter D: mé6.
80 | 170 | 160 | 22 71 85 6320C3 6316C3 2. Tolerance of N: js6.
or M63X1.5 3. No. In( ) is for 2P
315M or NPT 2.5" ’ ’ ’

Note: 1. Tolerance of Shaft End Diameter D: mé6.
2. Tolerance of N: 1) F#250M~280M: j6
3. Tolerance of N: 2) F#3155~315M: js6.
4. No. In( ) is for 2P.

TECO/38 TECO/39



TECO

X Data Sheet 1143E Data Sheet

380V 50Hz 380V 50Hz
fRIRELERAI] (Frame-proof motor) GB18613-2020 GB2 (IE4) PRIREELEEREI] (Frame-proof motor) GB18613-2020 GB2 (IE4)
Model: TEB4 2K% Model: TEB4 A%

EFFICIENCY POWER FACTOR CURRENT TORQUE ROTOR NOISE
OUTPUT Approx
FRAME FULL 3/4 2/4 FULL 3/4 2/4  FULL LOCKED FULL LOCKED PULL BREAK SOUND

EFFICIENCY POWER FACTOR CURRENT TORQUE ROTOR NOISE
OUTPUT Approx
FRAME FULL 3/4 2/4 FULL 3/4 2/4 FULL LOCKED FULL LOCKED PULL BREAK SOUND

NO. LOAD LOAD LOAD LOAD LOAD LOAD LOAD ROTOR LOAD ROTOR UP DOWN GD? POWER Weight NO. LOAD LOAD LOAD LOAD LOAD LOAD LOAD ROTOR LOAD ROTOR UP DOWN GD? POWER Weight

(k) (%) (%) (%) (%) (%) (A  %FLC  kg-m  %FLT %FLT %FLT kg-m’ N%'B"(%‘D Kg %) (%) (%) (%) (%) (%) (A) %FLC kgm  %FLT %FLT %FLT  kg-m? N?JEL((/1¢D Kg
0.75]| 1 | 2880 80M 835 | 840 | 832 | 815 | 750 | 650 | 1.67 845 0.253 345 310 360 0.007 78 35 075 1 1435 80M 857 | 86.2 | 853 | 735 | 655 | 52.0 | 1.81 755 0.509 380 345 395 0.017 66 39
11| 15] 2880 | 8oM | 852 | 86.0 | 84.7 | 815 | 76.5 | 655 | 2.41 900 0.372 360 325 | 380 0.010 78 40 11| 15) 1445 ) ooL | 872 | 87.7 | 8.7 | 77.0 | 69.0 | 55.0 | 2.49 870 | 0.741 330 245 | 355 | 0.021 66 47
15| 2 | 2885| 9oL | 865 | 874 | 87.0 | 86.0 | 81.0 | 69.8 | 3.06 950 0.506 310 280 | 360 0.014 78 48 15 2 | 1445 o90L | 882 | 888 | 8.1 | 805 | 73.0 | 61.0 [ 3.21 885 1.010 330 245 | 340 0.029 66 53
22| 3| 285| 9oL | 88.0 | 882 | 87.8 | 86.0 | 80.5 | 69.3 | 4.42 950 0.742 365 330 | 375 0.016 78 50 22 | 3 | 1460 | 100L | 89.5 | 90.0 [ 89.6 | 80.5 | 75.0 | 64.5 | 4.64 935 1.466 325 200 | 385 | 0.076 70 77
3 | 4| 2885 100L | 89.1 | 888 | 85.0 | 87.0 | 82.0 | 72.0 | 5.88 990 1.012 360 325 | 365 | 0.028 82 70 3 [ 41465 100L [ 90.4 | 90.2 | 89.1 | 80.5 [ 73.5 [ 61.0 | 6.26 945 | 1.992 330 310 | 350 | 0.089 70 82
4 | 55| 2895 | 112M | 90.0 | 90.2 | 90.1 | 89.0 | 87.0 | 805 | 7.59 990 1.344 360 330 [ 390 0.056 83 88 4 55| 1465 | 112M | 91.1 | 914 | ©0.6 | 81.5 | 71.5 | 72.0 | 819 965 | 2.657 355 280 | 380 | 0.117 72 97
55|75 2925 | 1325 | 909 | 913 | 908 | 860 | 815 | 715 | 107 990 1.830 275 215 | 365 | 0.079 85 100 55|75 1465 | 1328 | 919 | 919 | 91.0 | 83.0 | 77.0 | 66.0 | 10.96 | 985 3.653 390 300 | 395 | 0.192 75 115
75| 10| 2925 | 1328 | 91.7 | 912 | 90.8 | 86.0 | 855 | 81.0 | 14.4 905 2.495 260 225 | 340 0.085 85 103 75| 10 | 1465 | 132M | 92.6 | 926 | 924 [ 835 785 | 67.5 | 147 925 | 4.981 350 255 | 350 | 0.222 75 124
11 | 15| 2950 | 160M | 92.6 | 926 | 91.6 | 89.0 | 86.0 | 79.5 | 20.3 950 3.628 240 195 | 330 | 0.192 87 154 11 | 15| 1470 | 160M | 93.3 | 92.7 | 927 | 84.0 | 80.0 | 70.0 | 213 860 7.281 265 215 | 295 | 0407 77 162
15 | 20 | 2950 | 160M | 93.3 | 929 | 92.9 | 89.0 | 86.0 | 79.0 | 27.4 980 4.947 265 215 | 355 | 0218 87 160 151 20 | 1470 | 160L | 93.9 | 939 934 | 850 | 820 | 73.5 | 286 780 | 9.929 235 190 | 260 | 0.506 77 182
185| 25| 2950 | 1e0L | 937 | 934 | 929 | 88.0 | 845 | 765 | 34.1 930 6.102 270 215 | 350 | 0.250 87 176 185 25| 1480 | 180M | 94.2 | 939 | 934 | 850 | 82.0 | 74.0 | 35.1 840 12.16 240 205 | 290 | 0.928 80 254
22 | 30| 2950 | 180M | 94.0 | 93.1 | 92.6 | 90.0 | 87.5 | 80.0 | 395 950 7.256 290 230 | 350 | 0.330 88 254 22 | 30| 1480 | 180L | 945 | 938 | 928 | 85.0 | 820 | 740 | 416 875 14.46 265 220 | 305 | 1.005 80 281
30 | 40| 2960 | 200L | 945 | 945 | 940 | 930 | 925 | 910 | 51.9 780 9.861 155 135 | 265 | 1.074 90 352 30 | 40| 1480 | 200L | 94.9 | 944 | 939 | 850 | 81.0 | 73.0 | 56,5 780 19.72 220 185 | 275 | 1.649 83 379
37 | 50| 2965 | 200L | 94.8 | 950 | 945 | 93.0 | 925 | 895 | 63.8 880 12.14 180 155 | 295 | 1.187 90 364 37 | 50| 1480 | 225M | 952 | 949 | 944 | 88.0 | 850 | 775 | 671 795 | 2433 | 210 185 | 265 | 3.186 84 428
45 | 60 | 2965 | 225M | 95.0 | 949 | 944 | 920 | 915 | 885 | 78.2 745 14.77 140 125 | 270 | 1.345 92 433 45 | 60 | 1480 | 225M | 954 | 948 | 94.3 | 88.0 | 850 | 78.0 | 814 780 | 2958 | 210 185 | 260 | 3.760 84 465
55 | 75| 2970 | 250M | 95.3 | 949 | 93.9 | 90.0 | 885 | 84.0 | 974 890 18.02 155 140 | 330 | 2111 92 576 55 | 75| 1480 | 250M | 957 | 959 | 954 | 87.0 | 84.0 | 76.0 | 100.4 | 885 | 36.16 185 170 | 320 | 5.393 85 608
75 | 100| 2975 | 280s | 95.6 | 953 | 94.3 | 90.0 | 88.0 | 820 | 132 820 24.57 140 120 | 280 | 3.600 94 814 75 [ 100| 1488 | 280S | 96.0 | 958 | 950 | 87.5 | 84.0 | 75.0 | 136 800 | 49.12 160 140 | 260 | 8.000 88 938
90 [125( 2975 | 280M | 95.8 | 956 | 94.9 | 90.0 | 88.0 | 820 | 159 820 29.48 140 120 | 280 | 4.000 94 879 90 | 125( 1488 | 280M | 96.1 | 958 | 950 | 87.5 | 84.0 | 75.0 | 163 800 | 58.94 160 140 | 260 | 9.200 88 1,014
110 | 150| 2975 | 3155 | 96.0 | 957 | 94.7 | 90.0 | 88.0 | 825 | 193 800 36.03 140 120 | 250 | 5.200 98 1,474 110 | 150| 1488 | 315S | 96.3 | 96.2 | 955 | 89.0 | 86.5 | 79.0 | 195 850 | 72.04 160 140 | 280 | 17.600 94 1,514
132 | 175| 2975 | 315M | 96.2 | 96.0 | 95.1 | 90.5 | 89.5 | 85.0 | 230 800 | 43.24 140 120 | 250 | 6.000 98 1,534 132 | 175| 1488 | 315M | 964 | 96.3 | 95.8 | 89.5 | 87.0 | 80.0 | 232 850 | 86.45 160 140 | 280 | 19.600 94 1,622
160 | 215| 2975 | 315L | 96.3 | 96.1 | 953 | 90.5 | 89.5 | 86.0 | 279 800 52.41 140 120 | 250 | 7.600 98 1,697 160 | 215| 1488 | 315L | 96.6 | 96.4 | 95.7 | 88.0 | 850 | 77.0 | 286 760 | 104.78| 200 180 | 260 | 22.80 94 1,762
200 | 270| 2975 | 315L 965 | 964 | 958 | 905 | 895 | 87.0 | 348 800 65.51 140 120 250 8.400 98 1,861 200 | 270| 1488 | 315L 96.7 | 966 | 96.0 | 88.0 | 845 | 76.5 | 357 760 131.0 200 180 260 25.20 94 1,919
250 | 335| 2975 | 355M | 96.5 | 96.4 | 958 | 90.0 | 89.0 | 85.0 | 437 800 81.89 130 115 | 230 | 13.600 | 100 1,947 250 | 335 1488 | 355M | 96.7 | 96.6 | 96.0 | 90.0 | 885 | 835 | 436 780 163.7 150 130 | 260 | 35.60 95 2,135
315 [420| 2975 | 355L | 96.5 | 96.4 | 958 | 90.0 | 89.0 | 855 | 551 800 | 103.18 130 115 | 230 | 15.600 | 100 2,264 315 | 420 1488 | 355L | 96.7 | 966 | 96.2 | 90.0 | 885 | 84.0 | 550 780 | 206.3 150 130 | 260 | 39.60 95 2,423

TECO/40 TECO/41



1143E Data Sheet oV S0

PRIRELEERIHL (Frame-proof motor) GB18613-2020 GB2 (IE4)
Model: TEB4 6%

EFFICIENCY POWER FACTOR CURRENT TORQUE ROTOR NOISE
OUTPUT Approx
FULL FRAME FULL 3/4 2/4 FULL 3/4 2/4 FULL LOCKED FULL LOCKED PULL BREAK SOUND

LOAD NO. LOAD LOAD LOAD LOAD LOAD LOAD LOAD ROTOR LOAD ROTOR UP DOWN GD? POWER Weight

rpm (%) ) (%) (%) (%) (A)  %FLC  kg-m  %FLT %FLT %FLT  kg-m? N%ZBL(%*D Kg

075| 1| 950 | 9oL | 827 | 824 | 810 | 68.0 | 58.0 | 450 | 2.03 625 | 0768 | 250 | 215 | 300 | 0.027 63 51
11| 15| 955 | 9oL | 845 | 845 | 83.0 | 695 | 605 | 475 | 2.85 630 | 1.121 260 | 250 | 335 | 0037 | 63 58
15| 2| 960 | 100L | 859 | 862 | 852 | 70.0 | 625 | 50.0 | 3.79 685 | 1520 | 240 | 185 | 295 | 0.065 64 75
22| 3| 970 | 112m | 87.4 | 87.3 | 858 | 66.0 | 585 | 46.0 | 579 705 | 2207 | 260 | 220 | 330 | 0093 | 70 88
3| 4| 970 | 1325 | 886 | 888 | 877 | 755 | 67.0 | 54.0 | 6.81 755 | 3009 | 230 | 190 [ 330 | 0.154 73 9

4 | 65| 970 | 132M | 89.5 | 902 | 89.8 | 77.0 | 71.0 | 72.0 | 8.82 695 4.012 190 180 280 0.206 73 109

55| 75| 970 132M | 90.5 | 896 | 88.4 | 74.0 | 66.0 | 53.0 | 12.48 790 5.517 270 255 355 0.223 73 113

75| 10| 975 | 160M | 913 | 915 | 91.0 [ 77.0 | 71.0 | 58.5 | 16.21 780 7.485 285 250 285 0.503 73 158

11 | 15| 970 160L | 923 | 920 | 92.0 | 80.0 | 745 | 63.5 | 22.6 800 11.034 300 260 290 0.700 73 189

15 | 20 | 980 180L | 929 | 93.0 | 935 | 84.0 | 80.0 | 71.0 | 29.2 800 14.893 275 230 290 1.782 77 296

185 25| 980 200L | 934 | 940 | 93.0 | 865 | 84.0 | 74.0 | 348 645 18.37 200 165 230 2791 80 377
22 | 30| 980 200L | 93.7 | 93.8 | 928 | 855 | 820 | 74.0 | 41.7 695 21.84 220 180 245 3.023 80 412
30 | 40| 980 | 225M | 942 | 944 | 944 | 85.0 | 825 | 75.0 | 56.9 725 29.79 225 190 245 4.559 80 448
37 | 50 | 985 | 250M | 945 | 949 | 949 ( 850 | 815 | 73.0 | 70.0 740 36.55 175 165 275 6.011 82 595
45 | 60 | 988 280S | 948 | 948 | 942 | 850 | 820 | 74.0 | 84.9 720 44.38 180 160 250 10.800 85 905

55 | 75| 988 | 280M [ 951 | 951 | 94.8 | 855 | 82.0 | 74.0 | 1028 720 54.25 180 160 250 12.800 85 1,000

75 | 100] 990 315S | 954 | 954 | 945 | 855 | 825 | 745 | 139.7 680 73.82 140 120 250 23.200 89 1,502

90 | 125 990 | 315M | 95.6 | 955 | 948 [ 855 | 815 | 73.0 | 167 700 88.59 140 120 250 26.000 89 1,518

110 | 150| 990 315L | 958 | 958 | 953 | 855 | 825 | 74.0 | 204 720 108.28 140 120 240 30.400 89 1,619

132 | 175] 990 315L | 96.0 | 96.0 | 953 [ 855 | 825 | 75.0 | 244 720 129.93 140 120 240 34.40 89 1,741

160 | 215] 990 | 355M | 96.2 | 96.0 | 953 | 85.0 | 815 | 725 | 297 720 157.5 140 120 250 36.40 94 1,907

200 [ 270 990 | 355M | 96.3 | 96.2 | 95.6 | 850 | 815 | 725 | 371 720 196.9 140 120 250 44.00 94 2,294

250 | 335 990 355L [ 96.5 | 964 | 958 | 855 | 82.0 | 73.0 | 460 750 246.1 160 140 250 53.20 94 2,372

TECO/42

SMIZE] Outline

INERZE=RTE

Latls Cloenalaa

FIG.1
Output (kW) FRAME
SIZE
0.75 - -
80M | 125 345 | 161 | 175
1.1 0.75 -
1.5 1.1 0.75
90L | 140 180 | 202 | 187.
22 1.5 1.1
40
2.2
3 1.5 100L | 160 200 | 216

SHAFT EXTENSION

80M 1 19 140] 32 6 | 155 | 21.5 M6X16

TECO

L B3 (IM 1001)

Mdele Uimmaii e
=L ) ! R

HN

Dimensions in mm

& | 100 | 172 50 80 326 330
10 10

5| 169 [ 100 [ 125 | 254 56 90 350 435

i | 140 | 295 63 100 | 12 ) 375| 12 | 503

BEARING EXPORT WIRE THE RANGE of

DRIVE END OPPOSITE SIZE of CABLE  outer DIAMETER

DRIVE END GLAND BODY  of INLET CABLE

62042ZC3 | 62042zC3

rubber
90L 24 | 50| 40 20 | 27 | Msx19 | 62052zC3 | 62052zc3 |Sheath cableor s gon
M30x2 or
2 8 NPT 1"
100L 28 60| 50 24 | 31 | miox22 | e206zzc3 | 62062zC3

Note: 1.Tolerance of Shaft End Diameter D: j6.
2. Tolerance of shaft center height H: +0,-0.5.

TECO/43



SMIZE] Outline

IR ZERTE

FIG.3

vEsly Jimedidinm

ZA4EHF: B3 (IM 1001)

Dimensions in mm

SMIZE] Outline

INERZERIE

4] =]

Output (kW)

FIG.5

TECO

&I B3 (IM1001)

. SklnEamuiie

Dimensions in mm

Output (kW)
4P
4 4 2.2 112M | 190 | 45 | 235 | 240 277 70 112 13 | 400 501
5.5 m | 140
5.5 3 1328 260 540
7.5 187.5 | 169 12
216 | 57 | 263 | 273 89 132 16 | 436
4
— 7.5 132M 140 | 178 | 290 570
5.5
1
1 7.5 160M i 210 | 301 644
15 2541 60 | 300 | 317 | 209 | 202 108 160 18 | 487 | 14.5
18.5 15 11 160L 210 | 254 | 348 691
SHAFT EXTENSION BEARING EXPORT WIRE THE RANGE of
FRAME FIG. DRIVE END OPPOSITE SIZE of CABLE outer DIAMETER
DRIVE END GLANDBODY  of INLET CABLE
112M 3 28 | 60 50 8 24 | 31 M10X22 6306ZZC3 6306ZZC3 | rubber sheath
1325 MC:Ob'g or 013022
38| 80| 70 | 10 | 33| 41 M12X28 63082ZC3 630677C3 Xz or
132M NPT 1"
4 rubber sheath
160M cable
42 (110 | 100 12 | 37 | 45 M16X36 630977C3 6307ZZC3 D13~028
or M36x2
160L or NPT 1.25"
Note: 1.Tolerance of shaft end diameter D: 1) F#112M: j6.  2) F#132S~160L : k6.

2. Tolerance of shaft center height H: +0,-0.5.

TECO/44

4P
22 18.5 — 180M M | 241 353 733
279 | 65 | 330 | 355 209| 202 121| 180 | 20 | 542 145
— 22 15 180L 241 | 279 393 773
30 18.5
30 200L | 318 70 | 378 | 448 m | 305 400 | 133| 200 | 24 | 622 843
37 22
256 | 235 18.5
— 37 — (831)
225M | 356 | 75 | 431 | 498 286 | 311 | 375 | 149 225 | 28 | 672
45 45 30 861
SHAFT EXTENSION BEARING EXPORT WIRE ~ THE RANGE of
FRAME FIG. DRIVE END OPPOSITE SIZEof CABLE  outer DIAMETER
G GA DH
SIZE NO. DRIVE END GLAND BODY of INLET CABLE
180M rubber sheath
48 14 | 425 | 515 | m1ex36 | 6311c3 | e310c3 Cfﬂb'e , @13~328
180L | 5 110 | 100 or M36x
or NPT 1.25"
200L 55 16 | 49 | 59 | M20x42 | 6312C3 6212C3 | rubber sheath
cable
19~@37
(55) |(110)] (100) | (16)| (49) | (59) (6312C3) | (6212C3) or M4gx2 @
225M 16 1 6o | 140 | 125 | 18 | 53 | 64 | M2OX42 | g313cs | e213c3 | OTNPT 1S
or NPT 2
Note: 1. Tolerance of shaft end diameter D: 1) F#180 : k6. 2) F#200L~225M : m6.
2. Tolerance of shaft center height H: +0,-0.5.
3.No.in ( ) is for 2P.
TECO/45



SMIZE] Outline

SN R ZERTE

FIG.7

Output (kW)

4P

2B B3 (IM 1001)

il
s | i

__.HT_'_'“I oy

Pablrhinpsnine

Dimensions in mm

55 55 37 | 250M| 406 | 85 | 480 | 542 349| 435 |168| 250 | 30750 931
75 75 45 | 280s 320| 310 | 368 | 561 24 | 1161
457 | 85 [ 535 | 630 190| 280 | 35810
90 90 55 | 280M 419| 586 1201
(1354)
110 110 75 | 3158 406 | 710 124
508 | 115 | 615 | 686 | 370 | 380 216| 315 | 35958 28
(1454)
132 132 90 | 315M 457 | 810 Tioa
SHAFT EXTENSION BEARING EXPORT WIRE  THE RANGE of
FRAME FIG. DRIVE END OPPOSITE  SIZEof CABLE  outer DIAMETER
SIZE DRIVE END GLAND BODY of INLET CABLE
(60) (53)| (64) (6313C3) | (6313C3)
250M 65 18 | 58 | g | M2OX42 | 534503 6313C3 r“bbceg;’;ea‘h
7 140 | 125 B24~B40
2808 (65) (18) | (58)| (69) (6314C3) | (6314C3) or Max2
280M 75 20 |67.5(79.5 6318C3 6316C3 or NPT 2.5
3158 M20X40 rubber sheath
cable
65)| (140)| (125)| (18) | (58) | (69) (6316C3) | (6314C3) _
8 |'so| 170 | 160 | 22 | 71| 85 6320C3 6316C3 or M64x2 038~058
or M63X1.5
315M or NPT 2.5"
Note: 1. Tolerance of Shaft End Diameter D: m6.
2. Tolerance of shaft center height H: 1)For #250, +0,-0.5; 2)For #280,315, +0,-1.
3. No.in( ) is for 2P.
TECO/46

SMIZE] Outline

INERZERTE

—
lI i .'I

-

5
[ —

TECO

Z#EHL: B3 (IM 1001)

Gabh:ndlmeryion

W

i1

y s
i = 5

‘ 3 a |
L5 L1
Dimensions in mm
Output (kW)
e A AA AB AC AD
4P
160 160 110
185 185 132 | 315L | 508 | 115 | 615 | 686 508| 810 |216| 315 | 35| 958 qjgj)
200 200 —
220 220 160 370| 380 28
355M 560 | 700 qggg)
250 250 200
610 | 150 | 750 | 750 254 | 355 | 45| 1025
280 280 220 (1620)
355L 630| 770 1650
315 315 250
SHAFT EXTENSION BEARING EXPORT WIRE ~ THE RANGE of
FRAME FIG. DRIVE END OPPOSITE = SIZEof CABLE  outer DIAMETER
D G GA
SIZE NO. DRIVE END GLAND BODY of INLET CABLE
(65) (18) | (58) | (69) (6316C3) (6314C3)
315L 1 8 | g 2 | 71| 85 | M2OX40 | 530003 6316C3
rubber sheath
cable or
355M (1‘718) qgg) M64x2 or | ©@38~058
o | (20) | (67.5)|(79.5)| (M20x40) | (6317C3) (6317C3) | MB3x1.5 or
95 25 | 86 | 100 | M24x48 | 6322C3 6322C3 NPT 2.5"
355L
Note: 1. Tolerance of Shaft End Diameter D: m6.
2. Tolerance of shaft center height H: +0,-1.

3. No.in( ) isfor 2P.

TECO/47



TECO

HJMIZE] Outline HMIZE] Outline

INERZERTE ZHF: B5 (IM 3001) INERZE=RIE %% B5 (IM 3001)
..IL — E.'f. N j . | i 'ﬂ' I__|

FIG.1

FIG.2

FIG.3 FIG.4

Dimensions in mm

Dimensions in mm
Output (kW) FRAME FLANGE DIMENSION
Output (kW) FRAME FLANGE DIMENSION
4P
B ——— 2P 4P 6P SizE LA M
0.75 - - I R EEEEEEEEEE
80M 175 | 246 330 4 4 2.2 112M | 15| 215 180 | 250 240 288 501
1.1 0.75 -
12 | 165 | 130 | 200 | 12 3.5 5.5
1.5 1.1 0.75 55 3 1328 540
90L 202 | 260 [187.5| 169 | 435 7.5 145 | 4 187.5 169
2.2 15 1.1 16 | 265 | 230 | 300 273 304
4
2.2 — 7.5 132M 570
3 1.5 100L| 16 | 215 | 180 | 250 | 145 | 4 216 | 275 503 5.5
11
SHAFT EXTENSION BEARING EXPORT WIRE THE RANGE of 1 7.5 160M 644
15 151300 250)| 350| 185 |5 317 327 209 202
FRAME = FIG. DRIVE END OPPOSITE SIZE of CABLE outer DIAMETER
(€] GA 18.5 15 11 160L 691
size  NO. DRIVE END GLAND BODY of INLET CABLE

SHAFT EXTENSION BEARING EXPORT WIRE THE RANGE of
80M 1 19 40 32 6 1551|215 M6X16 6204ZZC3 6204ZZC3 FRAME FIG. DRIVE END OPPOSITE SIZE of CABLE outer DIAMETER
D E ED F G GA
rubber sheath size NO. DRIVE END GLAND BODY of INLET CABLE
90L 24 | 50 | 40 20 | 27 M8X19 620522C3 | 620522C3 | C‘;j’;xz @13~@22 112M 28| 60| 50 | 8| 24 | 31 | M10x22 | 6306zzC3 | 6306ZZC3 | rubber sheath
2 8 or NPT 1" 1325 | 3 Jab'z P13~022
38 | 80 70 10| 33 | 41 M12X28 6308ZZC3 6306ZZC3 or M30x2 or
100L 28 60 50 24 31 M10X22 6206ZZC3 | 6206ZZC3 132M NPT 1"
160M rubber sheath
Note: 1.Tolerance of Shaft End Diameter D: j6. cable
2 Tolerance of N: j6. 4 | 42| 110| 100 | 12| 37 | 45 | M16X36 | 6309ZZC3 | 63072ZC3 or M36x2 213~228
160L or NPT 1.25"
Note: 1.Tolerance of shaft end diameter D: 1) F#112 M: j6.  2) F#132S~160L : k6.

TECO/48

2. Tolerance of N: j6.

TECO/49




TECO
HMIZE] Outline HMIZE Outline

AMER TR E Z#EH7: B5S (IM 3001) INERZERRTE ZHEFT: B5 (IM 3001)

Tiab | Vminsin Zahle Dlpensizn

-

WH

BiF

Dimensions in mm Dimensions in mm
Output (kW) FRAME FLANGE DIMENSION Output (kW)
4P 4p
22 18.5 — | 180m 733 55 55 37 250M 542 | 500 931
15 | 300 | 250 | 350 355 |362| 209 | 202
— 22 15 | 180L 773
75 75 45 280S 1161
30 18.5 22 | 500 | 450 | 550 | 185 5 320 [ 310
30 200L | 17| 350 | 300 | 400| 18.5|5| 448 | 422 843 630 | 530
37 22
256 | 235 90 90 55 280M 1201
— 37 — (831)
225M | 20 | 400 | 350 | 450 498 | 447
45 45 30 861 SHAFT EXTENSION BEARING EXPORT WIRE THE RANGE of
SHAFT EXTENSION BEARING EXPORTWIRE ~ THE RANGE of DRIVE END OPPOSITE SIZEofCABLE  outer DIAMETER
G GA
FRAME FIG. DRIVE END OPPOSITE SIZE of CABLE outer DIAMETER DRIVE END GLAND BODY of INLET CABLE
) G GA
SIzE NO. DRIVE END GLAND BODY  of INLET CABLE (60) (53) | (64) (6313C3) (6313C3)
250M 65 18] 58 | o | M20X42 6315C3 6313C3
180M rubber sheath rubber sheath
48 14| 425 | 51.5| M16X36 | 6311C3 6310C3 caee ?13~028 2808 e cable
: : 6 | 75 | 140 | 125 @24~340
180L | 5 110 | 100 e (18) | 58) | 69) | ypoxao | (6314C3) | (6314C3) | or Meax2
©5) 20 | 675|795 6318C3 6316C3 or NPT 2.5"
200L 55 16| 49 | 59 6312C3 6212c3 | rubbersheath 280M 75
cable
sosm | s | 88 |(110)] (100) |(16)] (49) | (59) M20X42 | (e312C3) | (6212c3) | O M48x2 219~037 _
60 | 140 | 125 | 18| 53 64 6313C3 6213C3 or N’\IT;T1.2§ Note: 1. Tolerance of Shaft End Diameter D: m6.
or 2. Tolerance of N: j6.

Note: 1.Tolerance of Shaft End Diameter D: 1) F#180: k6.2) F#200L~225M : mé. 3. No.in () is for 2P.

2. Tolerance of N: j6.
3. No.in ( ) is for 2P.

TECO/50 TECO/51



SMIZE] Outline

INERZE=RTE

Ir

A= B35 (IM 2001)

FIG.1 FIG.2

Dimensions in mm

Output (kW) FRAME FLANGE DIMENSION
80M 125 | 345 | 161 175 = 100 | 172 50| 80
1.1 0.75 -
12 | 165] 130 | 200| 12 | 3.5
15 1.1 0.75
90L 140 180 | 202 |1875| 169 100 125 | 254 | 56 | 90
22 15 1.1
40
2.2
3 15 |100L] 16 | 215|180 | 250 | 145 | 4 | 160 200 | 216 P 140 | 205 | 63 | 100
SHAFT EXTENSION BEARING EXPORT WIRE  THE RANGE of
FRAME FIG. |, DRIVE END OPPOSITE  SIZE of CABLE  outer DIAMETER
SIZE  NO. DRIVEEND  GLAND BODY  of INLET CABLE
8oM | 1 326 330| 19 | 40 | 32| 6 | 155 21.5 | Mex16| 6204zzc3 | 6204z2C3
10 10 rubber
9oL 350 435| 24 | 50 | 40 20 | 27 | msxit9| 6205zzc3 | 6205zzC3 src‘,fa,t\:s%ig'e @13~@22
2 8 or NPT 1"
100L 12 | 375| 12 |503| 28 | 60 | 50 24 | 31 |wmioxez| 6206zzC3 | 620672C3

Note: 1.Tolerance of Shaft End Diameter D: j6.
2. Tolerance of shaft center height H: +0,-0.5.
3. Tolerance of N: j6.

TECO/52

TECO

2%/ B35 (IM 2001)

JMIZE] Outline

IR ZERTE

Fubily Slmeeniem

FIG.3 FIG.4

Dimensions in mm

Output (kW) FLANGE DIMENSION
4P M N P S
4 4 22 |112M| 15 | 215 | 180 | 250 190 | 45 | 235|240 277 70 | 112
5.5 fi 140
55 3 1328 260
75 145 | 4 187.5 | 169
16 | 265 | 230 | 300 216 | 57 | 263|273 89 | 132
4
— 75 132M 140 178 | 290
5.5
11
1 75 | 160M 7 210 | 301
15 15 [ 300|250 | 350 185 | 5 | 254 | 60 | 300|317 | 209 | 202 108 | 160
18.5 15 11 | 160L 210 254 | 348
SHAFT EXTENSION BEARING EXPORT WIRE THE RANGE of
FRAME FIG. OPPOSITE SIZE of CABLE outer DIAMETER
G GA DRIVE END
SIZE NO. DRIVE END GLAND BODY of INLET CABLE
112M | 3 | 13 | 400 501| 28 | 60 | 50 | 8 |24| 31 |miox22| 63062ZC3 | 63062ZC3 ubber
1328 12 540 sheath cable or @13~022
16 | 436 38|80 [ 70 | 10 |[33]| 41 [m12x28| 63082ZC3 | 6306ZZC3 | M30x2 or NPT1"
132M 570
160M | 4 644 rubber
18 | 487 | 14.5 42 [ 110 [ 100| 12 | 37| 45 |miexas| 6309zzc3 | 63072203 | Sheath cable or 213~028
M36x2 or NPT
160L 691 1.25"

Note: 1.Tolerance of Shaft End Diameter D: 1) F#112 M: j6.2) F#132S~160L : k6.
2. Tolerance of N: j6.
3. Tolerance of shaft center height H: +0,-0.5.

TECO/53



JMIZE] Outline

INERZERTE A B35 (IM 2001)

FIG.5 FIG.6

Dimensions in mm

Output (kW) FLANGE DIMENSION
M N P s
22 18.5 — | 180m 4 241 | 353
15 | 300 | 250 | 350 279 | 65 |[330] 355|200 202 121 180
— 22 15 | 180L 241 279 | 393
30 185
30 200L | 17 | 350| 300 | 400 | 185| 5 | 318 | 70 | 378|448 it 305 | 400 | 133 | 200
37 22
256 | 235
225M| 20 | 400 | 350 | 450 356 | 75 | 431 498 286 311 375 | 149 | 225
SHAFT EXTENSION BEARING EXPORT WIRE  THE RANGE of
FRAME FIG. OPPOSITE SIZE of CABLE outer DIAMETER
G GA DRIVEEND ~ pRIVE
SIZE NO. END GLAND BODY of INLET CABLE
733
180M rubber sheath cable
20 | 542 145 48 14 | 425 | 51.5 |m16x36| 6311C3 | 6310C3 or M36x2 P13~@28
773 or NPT 1.25"
180L | 5 110 | 100
200L 24 | 622 843 | 55 16 49 59 |M20x42| 6312C3 6212C3 | rubber sheath cable
185 or Magx2 @19~ @37
@31 55| (110)| (100)| (16) | (49) | (59) (6312¢3) | (6212C3) or NPT 1.5
NPT 2"
225M | 6 ) 28 | 672 go1| 60 | 140 [ 125 | 18 | 53 | 64 [*¥“Y| e313cs | e213c3 o

Note: 1.Tolerance of Shaft End Diameter D: 1) F#180: k6. 2) F#200L~225M : m6.
2. Tolerance of N: j6.
3. No.in( ) is for 2P.

TECO/54

. TECO
SMEZE Outline

AMER =R T E Z4EHF: B35 (IM 2001)

FIG.7 FIG.8

Dimensions in mm

Output (kW) FLANGE DIMENSION
4P M N P S
55 55 37 | 250M 406 | 85 | 480 | 542 349 | 435 | 168
75 75 45 |280s| 22 | 500|450 | 550 | 185| 5 320 | 310 | 368 | 561
457 | 85 | 535|630 190
90 90 55 | 280M 419 | 586
110 110 75 |315s 406 | 710
25 | 600 | 550 | 660 | 24 | & | 508 | 115 | 615 | 686 | 370 | 380 216
132 132 90 |[315Mm 457 | 810
SHAFT EXTENSION BEARING EXPORT WIRE THE RANGE of
FRAME FIG. OPPOSITE SIZE of CABLE outer DIAMETER
DRIVE END
SIZE NO. DRIVE END GLAND BODY of INLET CABLE
(60) 53) | (64) (6313C3) (6313C3)
250M 250 | 30 | 750 931 | 2 18 | O © Imaoxaz| €552 ot .
280S 1161 sheath cable
7 260 | 35 | 810 24 ©5)| "0 2% | (18) | (8) | (69) (6314C3) | (6314C3) | ormeaxe | 9247240
(1354) M20X40
3158 1384 X rutk'JwberbI
sheath cable
©5) | (140)| (125)| (18) | (58) | (69) (6316C3) | (6314C3) ~
8 [ 315 35 | 958 28 80 | 170| 160 | 22 | 71 | 85 6320c3 | e3teca | OF M64x2 | ©038~058
15M (1454) or M63x1.5
3 1484 or NPT 2.5"

Note: 1.Tolerance of Shaft End Diameter D: m6.
2. Tolerance of N: 1) F#250M~280M: j6
3. Tolerance of N: 2) F#3155~315M: js6.
4. No. In( ) is for 2P.
5. Tolerance of shaft center height H: 1)For #250, +0,-0.5; 2)For #280,315, +0,-1.

TECO/55



JMIZEE] Outline

INERZE=RTE

Output (kW)

Zi%H: B35 (IM 2001)

FIG.9

FLANGE DIMENSION

Dimensions in mm

4P LA M \ P S
160 160 110
185 185 132 315L| 25 | 600 | 550 | 660 508 115 | 615 | 686 508 | 810 | 216
200 200 —
220 220 160 24 6 370( 380
355M 560 | 700
250 250 200
30 | 740 | 680 | 800 610 150 | 750 | 750 254
280 280 220
355L 630 | 770
315 315 250
SHAFT EXTENSION BEARING EXPORT WIRE THE RANGE of
FRAME FIG. H OPPOSITE SIZE of CABLE outer DIAMETER
DRIVE END DRIVE
SIZE NO. END GLAND BODY  of INLET CABLE
(1454)| (65) (18) | (58) | (69) (6316C3) | (6314C3)
s15L 8 3151 35 | 998 1484 | 80 22 71 85 M20X40 6320C3 6316C3
rubber
sheath cable
355M 28 |70 (1‘;8) qgg) orM6dx2 | ©38-258
9 355 | 45 | 1025 (75) (20) |(67.5)| (79.5)[(M20x40)| (6317C3) | (6317C3) | or M63x1.5
(1620) 95 25 86 100 | M24X48 | 6322C3 6322C3 | or NPT 2.5"
355L 1650
Note: 1.Tolerance of Shaft End Diameter D: m6.

2. No. In(
3. Tolerance of N: js6.
4. Tolerance of shaft center height H: +0,-1.

TECO/56

) is for 2P.

SMIZE] Outline

INERZE=RTE

FIG.1

TECO

ZaE: V1 (IM 3011)

“akle M-mepen an

FIG.2

Dimensions in mm

Output (kW) FRAME FLANGE DIMENSION
4P
0.75 - -
80M 175 | 246 365
1.1 0.75 -
12 | 165 | 130 | 200 | 12 | 3.5
15 1.1 0.75
9oL 202 | 260 |187.5| 169 | 465
2.2 15 1.1
2.2
3 15 |100L| 16 | 215 | 180 | 250 | 145 | 4 | 216 | 275 538
SHAFT EXTENSION BEARING EXPORTWIRE  THE RANGE of
FRAME FIG. DRIVE END OPPOSITE SIZE of CABLE outer DIAMETER
=) G GA
SIZE NO. DRIVE END GLAND BODY of INLET CABLE
soM| 1 | 19 | 40 | 32 | 6 |155]|215| wmexi6 | 6204zzc3 | 6204zzc3
rubber
90L 24 | 50 | 40 20 | 27 Mex19 | 62052zzc3 | e205zzc3 |Sheath cable @13~@22
or M30x2
2 8 or NPT 1"
100L 28 | 60 | 50 24 | 31 | mioxe2 | 6206zzc3 | 6206zzC3
Note: 1.Tolerance of Shaft End Diameter D: j6é.
2. Tolerance of N: j6.
TECO/57




TECO
SMIZE] Outline HJMIZE Outline

INERZERTE AR V1 (IM 3011) INERZERTE 2R V1 (IM 3011)

smble. Dimecaleg

Bt o Elumsainm
g et

AU Tl v Bimeidlan

e

£

o

Dimensions in mm Dimensions in mm
Output (kW) FLANGE DIMENSION Output (kW)
4p 4P
22 18.5 — 180M 793
4 4 22 |[112m| 15| 215 180 | 250 240 288 541 15 | 300 | 250 | 350 a55 | 362 | 200 | 202
55 — 22 15 180L 833
55 3 1328 585
7.5 145 | 4 1875 | 169 30 18.5
16 | 265 | 230 | 300 273 304 p= 30 - 200L | 17 | 350 | 300 | 400 | 185 | 5 | 448|422 913
4
— 7.5 132M 620 256 | 235
55 — 37 — (891)
225M | 20 | 400 | 350 | 450 498 | 447 921
11
- 11 7E M ol om0 laso | 185 15| 317 |aor| 200 |20o| &% SHAFT EXTENSION BEARING EXPORT WIRE  THE RANGE of
18.5 15 11 160L 741 FRAME FIG. DRIVE END OPPOSITE SIZE of CABLE outer DIAMETER

G GA

SHAFT EXTENSION BEARING EXPORT WIRE THE RANGE of Ses | e DIROVIE EID | Elhitler =0l |- ailiiia @kl
FRAME FIG. DRIVE END OPPOSITE SIZE of CABLE outer DIAMETER 180M rubber sheath
cable
SIZE : DRIVE END  GLAND BODY T 5oL 48 14 | 425| 51.5 | M16X36 6311C3 6310C3 or M36x2 @13~028
1 — or NPT 1.25"
112M 28| 60| 50 | 8| 24| 31| mioxe2 | 6306zzc3 | 6306zzC3 5 110 | 100
rubber sheath rubber sheath
1325 3 cable or M30x2 15122 200L 55 16 | 49 | 59 6312C3 6212C3 peol
38|80 | 70 | 10| 33 | 41 | M12x28 | 6308ZzC3 | 6306ZZC3 or NPT 1" M20X42 or Md8x2 G19~@37
132M s | 6 | 68 | (110)| (100) [ (16) | (49) | (59) (6312C3) | (6212C3) | or NPT 1.5
60 | 140 | 125 | 18 | 53 | 64 6313C3 6213C3 or NPT 2"
160M rubber sheath
4 42 [ 110] 100 | 12| 37 | 45 M16X36 6309ZZC3 6307ZZC3 | cable or M36x2 313~028 Note: 1. Tolerance of Shaft End Diameter D: 1) F#180: k6. 2) F#200L~225M : m6.
or NPT 1.25" 2. Tolerance of N: j6.
160L 3. No.in () is for 2P.

Note: 1.Tolerance of Shaft End Diameter D: 1) F#112 M: j6.2) F#132S~160L : k6.
2. Tolerance of N: j6.

TECO/58 TECO/59



JMIZE] Outline

INERZERTE

Output (kW)

=

FIG.6

FLANGE DIMENSION

2R V1 (IM 3011)

Tasle Clmenpsan

Dimensions in mm

4P M N P S
55 55 37 250M 542 | 500 1002
75 75 45 280S| 22 | 500 | 450 | 550 | 185 5 320 | 310 | 1261
630 | 530
90 90 55 280M 1301
(1484)
110 110 75 315S 1514
25 | 600 | 550 | 660 | 24 | 6 | 686 | 643 | 370 | 380
(1584)
132 132 90 315M 1614
SHAFT EXTENSION BEARING EXPORT WIRE THE RANGE of
DRIVE END OPPOSITE SIZEofCABLE  outer DIAMETER
DRIVE END GLAND BODY of INLET CABLE
(60) (53) | (64) (6313C3) | (6313C3)
250M 65 18] 55 | o | M20X42 6315C3 6313C3 r“bberbslheath
cable
6 140 | 125 B24~D40
2808 (65) (18) | (58) | (69) (6314C3) | (6314C3) | or Me4x2
280M 75 20 | 675|795 6318C3 6316C3 or NPT 2.5"
3155 M20X40 rubber sheath
cable
65) | (140)| (125)| (18) | (58) | (69) (6316C3) | (6314C3) ~
T 180 | 170|160 | 22| 71 | 85 6320C3 6316C3 or M64x2 938~058
or M63X1.5
315M or NPT 2.5"
Note: 1. Tolerance of Shaft End Diameter D: mé6.
2. Tolerance of N: 1) F#250M~280M: j6
3. Tolerance of N: 2) F#3155~315M: js6.
3. No. In( ) is for 2P.
TECO/60

JMIZEE] Outline

INERZE=RIE

Output (kW)

FIG.7

TECO

2 V1 (IM 3011)

Dimensions in mm

4P
160 160 110
185 185 132 |315L| 25 | 600 | 550 | €60 686 | 643 qgfj)
200 200 —
220 220 160 - 24 | 6 370 | 380 | (47
250 250 200 1750
30 | 740 | 680 | 800 750 | 670
280 280 220 sesL (4770)
315 315 250 1800
SHAFT EXTENSION BEARING EXPORT WIRE ~ THE RANGE of
DRIVE END OPPOSITE SIZEofCABLE  outer DIAMETER
DRIVE END GLAND BODY of INLET CABLE
(65) (18) | (58) | (69) (6316C3) | (6314C3)
315L 80 2 | 71| 85 | M2OX40 | a30c3 | e3t6c3
rubber sheath
cable
355M| 7 q‘;g) qgg) or M64x2 ?38~058
(75) (20) | (67.5)| (79.5)| (M20x40) | (6317C3) | (6317C3) | or ME3X1.5
95 25 | 86 | 100 | M24x4s 6322C3 6322C3 | or NPT 2.5"
355L
Note: 1. Tolerance of Shaft End Diameter D: m6.

2. Tolerance of N: js6.
) is for 2P.

3. No. In(

TECO/61




TECO

14X Data Sheet 1142E Data Sheet

380V 50Hz 380V 50Hz
RIREVEEZIN (Frame-proof motor) GB18613-2020 GB3 (IE3) PRIEEEELEIH (Frame-proof motor) GB18613-2020 GB3 (IE3)
Model: TEBD 21% Model: TEBD A%

P M L L HTREE  Ea1 LA ([ ETHT] (TR0 PRI 4 ] EFFEAENGY
frpoms
FULL : FLLL A4 au Fl  3d 24 ; =0 g8 e BUl BRE E L. FREME FulL
LOsn 5 LoD LOED Lo LDED LoeD LoD LORD BOTOR LoD o : LF O (= n = = w:hi Gali ow) LAl LOED
vl vl val A eFLZ 1 aFLT WFLT! | BEET g
(R | AR ! o | e E]i e Mt | Aes | AR | BR= | iR T HEEY | AL Wem b R 11 M 14 26 | OS5 1437 and a1 | 14 ME | ™o | B=D | 510 1.3 s M ] =0 0 A LTS [ fe 18
LR B Tk l 1o I oy | aap | wra | msc | fog | dig| Zas Rl a4m i dam | am | Cooor 70 0 s f (N IR T T T e R R T I L I B e S - B L e 14
<5 | 2 | 85 b H - | 64 | 52| sns | avo | TEC | 200 Tn 1] 0%z o 24 220 oz 7B =T 1.1 1.6 1430 £ HS L L] Bz ma | 7L B Tz0 T 2e0 e | ] 2a0 ngis i o 2T
e |om Vomes | wy | oebee ] ane | ana | sos | sae | me| a9s | s ik s P T T | 15 2 1435 | oL | asa | sct | ses| meol ams | 616 | 2me | 7en | o7 | oo | @35 | oams | pozm e =
a 4 ) 10L BT.1 ana and sl aGe oL | ami Rl 1oz ke’ ur 256 noas az 4 e | 14530 RHH A%Y Ara R | AT F4.5 RS | 408 Ep L] 149 Al 1R M s o 41
o g3 | ARs {5k ! FE R ! Al | A o i AT E | Tes ] 1 and At g SA Mosds a5 £ d 4 1455 KL urr Brs iz | oo fiL HE arh | cas ran 20 ] 240 235 LRI g 45
sn [rn o | wes | ows | ews | ews [ woe | see [ ve [ we | mo | we | we | am | ow [ oo | o ¢ | 55 | 4445 | tzm | #m6 | 2ms | 7o | s2o0 | mes | Gh5 | &3 | 7is | zem | 245 | zo5 | ozEa | oee3 | o7 5
=5 | 4c | za00 | qams i 0.1 i 200 | e02 | 2vc | 8en | 770 | 185 | mm | 2doe | %€ | wmz | w6 | oget | 25 - g5 | 25 | wass | 1223 | apa-| fna | W | &S0 | s | ovan | v | oms [ sem | owas | ama | osm | onewm | = b
A e | mas | cwow | s wr | wee | sie | sae | Aus | and 5 SHep EaTH e | om= | nas ar 15 Ve W S IO U LR G el o o It L o I I I I B L i =+
% e | amue “HCM F e | =up sap e an= qra | e S LETa urE e a1 W ar 137 T 16 1452 100 1.4 q20 |iE | B0 50 ™D | AL b razt a0 185 am nans b 1=F
183 | 25 | 2050 | %0l | 524 | eac | oac | ooo | 05 | ger | 32 | uw | el | o4 | 20 | 2 | nzar | ar 48T 16 | an | dded | oceiL | axe | gzs | s | om0 | ses | M| Ead | min | deon | om0 | a8 | osss | ondee | om 146
L M LT ] THORA I gor | s | ges | s | Asc | vii| Ard TEA ¥R i H frrs 035 “n 104 3 & T4Tn | TR ] HER | SAUC) SO0 | 0 ) A | TR0 ] A il f2 21 1 24 U.TH H: sl
3 = 2 ¥ - o e b
a | | mm E oL 513 I gan | sen | =0 | enc | apo | sea — ngac 200 1 am nEnz &0 acg 2 a0 1475 L Ba0 | S0 (0| =o | B 41 | 4232 Tan 14.57 160 145 240 nyes o o
g R [ t TS t P | wt | 210 | | 576 | mse e i ] fie it S i S 3 dn | 1470 | 2oL | gz6 | ais | = | sEo | s45 | vro | s6e | san | 1926 | 2o | ms | mEd | 1451 3 Th
P | EECEETY LT BT oy RS TR : 3 ; : 5 ar =1 a0 | mes | asa | ses | wan | sms | mES | van | EH MAA E 3] 1y ¥ 10 fl B 5
an || awmn | e | sen | s | B0 | SIS0 | oM | vHS &1 14,75 | 1405 1 b ] R 11 Hs o] AL
LT i i 1 :
65 | e aoma 1 anckd I ada ! sig | sdc | G | soc | s5E| g68 W 5D 1o 3 WG 1 Ay &n G 4% on 1400 BL3 | BLf | 40| 50| WAl | Th LA Ta5 8.0 210 ITs 25 I BrE 1 ]
g5 | 5 5 |z g 5 A ™ 1 5| d 5
e | 100 | zam AN o7 I aiip | eae | ad= 2| es= Ji 20 S {55 e5 sl f CAE . 549 G5 h 1435 00k | 4B L | WO | VS || BE i ] i Tan i ci ) 21D 126 =] 3911 B 452
5 i Hil 1480 2E0E 9500 | =50 M | asa | 8BS TR 149 Al AR RN 151 0 L He & s
LHEN Rl e R 200k ' o | 250 Bl 2| BUEG L 1= R4 o= il 120 o pae] 2AGD . = R ]
Hil (b 141Kl JHCRA Hh wh Y M mo Ll Th= i = ] I (L] il Lol I Lo wi
ik L I B 1 i ) =53 CRT | o0 | &3 S0 | 205 | EhE 10z [IAE Co 0 H 200 250 b el 1 5 Tl - ‘-
gh [&] 1ED 1480 3165 ahd 952 2| ERS G5 BaD 1B= TZh T243 21D 183 ] T LD B G2
Wi | em ] dmrs) oA E BE A t SR WA | s | sns | dcn | oam 725 CRI T 140 P e aEa L] B4
T 15z 175 1435 15k | 958 | #3585 ME | 20| BRES | ARD | 232 1] SRED an 1a0 am [T Pt [0
B | 216 28T I J1GL 0K I =63 | S0 | 0| BQC | ATC | 2™ R nzdl 1E0 gLt 2m chl 1 ] A it
- — - - - - - - v | #eno| ot | st | osan | osse ) s | om0 | w0 | onas | oaes | o | owmd | s | owa | oeer | o1 1 1
i | | sare J 3450 I 5 e l LEE [ pop | we | ans| ann | ses | orap | ees | ovar | e | s | omeen | wa | raes
r anc Zrh 1485 2L Gl | 850G oGz EBo | ME | M5 | M 40 M.z i a2 220 140 B 1235
ERN LR e e | JaEk | EhA | =ha | S| SIE | ML BEL| 488 e H LR E1H Bl B i H LR FH 1l 1585 =
250 = L 1445 3a5ky GHQ 258 w|a | ET0 == R h 455 rai 1641 190 170 20 P - t555
215 | L0 26T ALEL i Eha | Bhi g | HC 20 2L =% 1] i | -H 14 15 20 10405 140 e L]
= EFH] EHE As=l QEN-| 49%A A | BV | RS Tis | =i il ] | amn 1 | b B B i )
AR5 | s pars | =nn | 4SS | wh8S | e | e | mas | A85 | B1 e40 TR tan bt =0 TR 10 5300
A5 475 1405 AN BEL | SED| 9651 | MO | A | WD | &N man Sl 20 1 220 A5 E 2250
AT | Bl N AL l A | =6l e HRL | 5 ara -z {2 ] 102 140 - ) s H 20000 L] 2 5h0
400 - i 1487 E0hC | 360 | 9ha o33 | 845 || =0 | 8xD | 7OV Tan ez Fa i 182 220 Bl 0 JEIT

TECO/62 TECO/63



TECO

X Data Sheet X Data Sheet

380V 50Hz 380V 50Hz
FRIRELERZIH] (Frame-proof motor) GB18613-2020 GB3 (IE3) PRIZTUERTNH] (Frame-proof motor) GB18613-2020 GB3 (IE3)
Model: TEBD 61k Model: TEBD 81k

T EFFIC<EHCY 5 FACTOR CUSRENT TORCLE EFFICENCY : = : TORDILE ACTCR
T rul prave sl w3 W Sl UL LOGHED FUIL = | e ACHE EO AL RRERK ECRIND
Limah s (HOTR R R P : (8 AT T S e T W P {1 | ¥ ! AR Namggi LA g
= ) s | Ny WALE | Ry % E agen’ ."'__:1';:.::“ Kg Ky
oae | os| b | s | 7ro | @0 | ée4 | eon | G20 | 445 | 187 | am HERE i e | 26 | naodE & 13 ciz|ozs| 75 | sow | s27 | ses | min | amo | o |0 | oar | ase |oes | zam s | =0 | oo G3 i7
a0 | oamc| sem |ovsR s | vea | o | s | oeR | 2ok | oA L A wa | s | K e oo | oax| s | sow [ B | oein | osn | &a [ eea | s | agn | oaso |omss) AW | ma | Cdgd A5 1
s | = | s | mn ez | ans | ovzoe | oms | oo | zor | B3 A ws | o@s | nea i L coar [os | owes | owes | omes | wea | wea | owo [aso fan | oae |omee o 150 i A =T R I T i 3
15 | z | ma | ic0L | azo | Bza | #12 | 726 | oeo | f2o | et | em P w5 | zp | oo | = | 4 | ce:lovs| 7c6 | oo | mao | 7is | s2n | 535 [ s3o0 | 425 |42 | 4pd |oFem | Am i1 | zn | necgs 63 =
7.2 i 2] i3M | #dE | B4R | 223 | AR | BLD | 470 | ROz {rfarl 2334 176 175 220 negs 2y 54 (R . A b 1] f=ll | AL H | Rk | &1 | e A% 11[H4 bt My il i R AT
K| a T 125 | RsK | cerY | As | R | Wen | mes | orn [ He (] i 0 11751 el =3 4 | 15| 56 i ol mee | ren | oo | oro | 4o | 435 1.540 ] 0 =10 ooGs G ag
A4 | ss | svo| iz | ovan | ooz | asa | ovas | oves [ ens | mm G 2012 U] 7 | aw | onam n L cs | s | oma | uaw | omer | oeoe | ored | ass | adn | dan | e dgs |znes | ER | =5 | ncas Eh] =il
56 | 7.0 arn 32K | -BED | B2 -ETE:E Tah _I.':.'H-E.- Sax | 1202 _:EE Lok g i .-.2"--:.'! 0% m-;'lli I:I21:E-‘-“; &7 L5 2 bk trds | omry | v | oy | | o s | oss2 b 3. oA A || 2o Ea i) [ E L] (a o2
TE L0 | OWD | cE0kd | &3 | OO | A0 | Ton | FRD | &0 | RE TE a0 5 ALl | HELE T 132 % 4 75 | 1Erd | Es5 | B3z | B | 830 | RIS | 405 | 2T £ 4.0 5 ] N .82 71 24
iR s 15 arli 1=l 923 | Him | os0nS R 0| B | L The 1108 L whEy eh [ £l 14k & “h I THIF ikl wi | B gl A odas | o S 2 A0H EE= ) 1 2 sy i 1R
e e I B e R R e e e 128 215 il L B i &l g5 | TE | a0 | ewd | me2 | omnE | o | rus | | e [ 1an | ool 742 a0 1= | &s | v T2 125
125 e ovno| 200L | D47 | om35 | Ses | 80 | TED | SEE | =4 T 1244 =] 185 | 240 | a2 B 23 5 | o | oo | gmnt [ Erm | oerz | omsm | oTeo | s | o4 |42 | omas. [dmde xs 25| me | nEw 2 142
22 | o | ovs | mooL | oaza | o | sss | oais | wro | el | 4aE | TE 2.0 240 e | w0 | oaavs & 285 s s ) e | owes | omes | o | ma | sl wmn s | oams ErT, 1 s | s | oaes Ph e
a4 | oAb | owekba | oHen | s | CRAs | asxs | oecd | s | osas LHH oy A s | m Hined e ok i | # | a0 | oo | &sw |esn lays e | rea | s | E EDG ELE ] 15 1T =30 2R Th I
LU L LU - - B e L 1 B e ol . 21 L L I o ST I TR TS R T B N M R A A IR R g% | Pedn i 155 R DETH o £
45 |60 AN wB0E | BT | EAT )R | ARG | TRE ) TS | MRS | BSOS 88 | TR BRG] Chea 7 ey 2z || ron | zmmd | oscw | e | oo | omas | om0 | omn [ ass | S @] oEw 7o | oz | ez | T i
| vE | MR | 2Rtk | M| M| GRS | oAk | BLD ) TR | 10T0 ) BES | B4 185 | 178 | 0 [ ATE & s a3y | 40| Fas | mSnd | o | o | o4 | 745 | s2o | men | svo | se |Eari | x| o4 245 | ezas | an 40
EE R (LR R CHLC R T R (R T T A S R i L BEL R Al b 1S ] wan LR 1 Y ar | oo | ws | ozeus Pwvw mes | oais | s | s Lwme | o s Al EH s Ly T B e o
S | 357 o0 J18M | A | -BA | sEd | DS | ey | PEe | IR TeH Do 2 L I 15 ik a5 | e0 | Fag | meoed | mez | mer | mee | Mo | Tis | 540 | oA cs | E0EF | 440 130 | 2o | TR az i
1:0 | 4o | sam | ai6L | ooza | mss | sez | aso | e | TRz | 20 67 | 1cean| 200 w3 | 2 | qzac £ roac 65 | 75 | 735 | wse | ek | wen | ave | men | 724 | aae | g wan | eaed ran v | B Ak 741
132 [ 176 | fas | si6L | 0se | 2853 | cea | aes | &es | meo | o B33 1308 20 1w | 2s00 | 2o & 25 an || wow | osome [ ann Voo Vas | mn | ram | cin | ies - iy e g | o | oo i -
Rl | o2k | s degkt | MER | cEsA | sme | AN | R | A | S an 15 H i [ H] 150 2=l H1 K et ] t 424 an | 45| =5s aiep nid nma Fss | o | omes [asn | qae e HET 1T iz i SEHD Ak 1o
e e B L I L e R L U R U R 41l 18T i Q| d | e M 1624 o | s s | owem | oaer | s | wma | omes | e | s | e PR 151 1#0 s | omn | oesen i 15
%2 | za5 | sae | amGL |'ozb | mes | sca | ase | eon | @Bo | 462 el T 6 | o | e Y 20 e | 976 | #am | =eo | an | 225 | =20 sen | 76 liss |oer e T T wzn | o | 2ams . 1 4nn
26 | a0 | oo | smsc | o | 2ss | 064 | ass | e | 7as | osae g kiR 120 Wy | = | s Gt 2450 P EET pp——" e R R T T Y T T OV r;n e T P 18RS
ahh dih i bbb H5H s hd dxh Ha b e o T oIH A Titil TR 200 Ly BN ) il-il'l:' aua | bl sy ME WMn Ty (TR m.,] b wT e TEL 1.0 1 w11 Bl ES i:IE 1l
260 | =an| ram | sesc | ous | aao | nam | mma | 7R | ara | 4en 750 |2z 420 1@ | om0 | reen az 2ERD

TECO/64 TECO/65



SMIZE] Outline

INERZERTE

Z#EHRL: B3 (IM 1001)

ol

Dimensions in mm

Output (kW) FRAME FIG.
4P 6P 8P SIZE NO.
075 | 055 | - | 0.18
80M | 1 |125| 345 | 161|177 | 163 | 125| 675 | 100| 46 | 46 | 137 | 53.5|40|50| 80 | 10 | 1235
11 | 0.75 | 0.55 | 0.25
15 | 1.1 | 075|037 | 90s 140| 40 | 180|197 | 173 |125| 67.5|100| 67.5| 67.5 | 161 | 69.5 | 40| 56| 90 | 10 | 1335
22 | 15| 1.1 | 055 9oL 140| 40 | 180|197 | 173 |125| 67.5 | 125| 60.5 | 60.5 | 171 | 745 | 40| 56| 90 | 10 | 1335
3 | 22| 15075 2
100L 160 | 40 |200|219| 188 |147| 785|140 66.5 | 66.5 | 181 | 72.5 | 50 | 63 | 100 | 12 | 147
— | 3| -] 11
4 4 | 22| 15 | 112m 190 | 45 | 235|235 2005 | 147 | 78.5 | 140 | 65.5 | 655 | 186 | 75 | 50 | 70| 112 | 13 | 159.5

TECO

Z&#EF=: B3 (IM 1001)

YMIZE] Outline

INERZE=RTE

1
d
Lgx ]

1
3

T

Fl&a 3

Dimensions in mm

EXTENSION

BEARING

DRIVE END OPPOSITE

DRIVE END
80M 10 293 [115| 40 | M20x1.5 | 19 [ 40| 32 | 4 | 16 | 6 | 155 21.5| M6 | 6204zZ | 620322
908 10 | 3445 | 115| 40 | M20x15 [ 24 [ 50| 40 | 5 | 19 | 8 | 20 | 27 | M8 | 62052Z | 62042z
90L 10 | 3545 |115| 40 | M20x15 | 24 | 50 | 40 | 5| 19 | 8 | 20 | 27 | M8 | 62052z | 62042z
100L 12 392 [125] 50 | M25x1.5 [ 28 | 60 | 50 | 5 | 22 | 8 | 24 | 31 |M10| 6206ZZ | 620522
112M 12 413 | 125 50 | M25x15 [ 28 (60| 50 | 5 | 22 | 8 | 24 | 31 [m10| 63062Z | 63052
Note: 1.Tolerance of Shaft End Diameter D: j6.

2. Tolerance of shaft center height H: +0,-0.5.

TECO/66

Output (kW) FRAME FIG.
AC AD AG AS
1328 216 | 57 | 263 | 273 | 218 | 147 | 785 | 140 | --- 65 64 184 | 65|50 (89| 132 16 | 177
75| — | — | -
3
— | 75| 4 3
132M 216 | 57 | 263 | 273 | 218 | 147 | 785 | 178 | 140 | 83.5 | 83.5 |1 222 | 84 | 50 | 89| 132 | 16 | 177
SHAFT EXTENSION BEARING ‘
DRIVE END OPPOSITE
EB EF EG
DRIVE END
1328 12 | 456 | 125 50 | M25X1.5 | 38 | 80 | 70 5 28 10 33 | 41 | M12 630822 63062Z
132M 12 | 4941 125 50 | M25X1.5 | 38 | 80 | 70 5 28 10 33 | 41 | M12 630822 63062Z
Note: 1. Tolerance of shaft end diameter D: k6.

2. Tolerance of shaft center high H: +0, -0.5.

TECO/67



MIZE] Outline

SN R EERTE

2/ B3 (IM 1001)

FlG 5

Dimensions in mm

Output (kW) FRAME FIG.
160M 254 | 60 [ 300|317 [ 270|193 | 915 | 210 | — | 57 | 57 [250| 105 | 89| 108|160 18 | 211.5

15| — | — |55 4
185 15 | 11 | 75| 1e0L 254 | 60 [ 300|317 [ 270|193 | 91.5 [ 254 | 210 | 97 | 97 [ 294 | 127 | 89| 108|160 18 | 211.5
22 | 185] — | | 180M | _ |279]65|330|354|206| 193] 015 | 241 | — | 65 | 65 | 202) 1205 | 89| 121 180 | 20 | 237.5
— | 22 | 15 | 11| 180L 279 | 65 [ 330 | 354 [ 296 | 193 | 91.5 [ 279 | 241 | 115 | 115|330 | 139.5 | 89 | 121 | 180 | 20 | 237.5

160M 14.5 | 606 | 193 | 60 | M32X1.5 | 42 | 110

SHAFT EXTENSION

BEARING

DRIVE END  OPPOSITE

DRIVE END

100 5 | 36 12 37 45 | M16| 6309ZZ 630727
160L 14.5 | 650 | 193 | 60 | M32X1.5 | 42 | 110| 100| 5 | 36 12 37 45 | M16| 6309ZZ 630727
180M 145|671 (193 | 70 [ M32X1.5 | 48 | 110 100| 5 | 36 14 | 42.5 | 51.5 | M16 | (63112ZC3)| (6310ZZC3)
180L 145|709 193 | 70| M32X1.5 | 48 | 110|100| 5 | 36 14 | 425 | 51.5 | M16 | 6311ZZ 631022

Note: 1.Tolerance of shaft end diameter D: y42: k6.
2. Tolerance of shaft center high H: +0, -0.5.
3. Bearing No. In( ) is for 2P.

TECO/68

TECO

Z*I.: B3 (IM1001)

JMIZE] Outline

INERZE=RIE

Dimensions in mm

Output (kW)

4P 6P 8P

37 30 22 15 200L 318 | 70 | 378 | 398 329 | 231 | 110.5 | 305 | -- 82 82 | 353|106 | 152.5| 133|200 24 [ 259
- 37 - 18.5 225SC 356 | 75 | 431|449 355|231 1105 | 286 --- | 985 | 985 | 371 (106 | 143 | 149|225( 28 [ 285
45 - - - 225MA ® 356 | 75 | 431 | 449 355|231 110.5 [ 311|286 | 110 110 | 396 | 106 | 155.5 | 149 | 225 28 [ 285
- 45 30 22 225MC 356 ( 75 | 431 449|355 231 110.5 | 311286 110 110 | 396 106 | 155.5 [ 149 225| 28 | 285
55 - - - 250MA 406 | 85 | 480 499 | 397 | 255 | 122.5 [ 349 | - | 1125 | 112.5 [ 425| 119 | 174.5 | 168 [ 250 | 30 | 318.5
- 55 37 30 250MC ! 406 | 85 | 480 (499|397 | 255 | 122.5 [ 349 | - | 1125 | 1125 [ 425| 119 | 174.5 | 168 | 250 | 30 | 318.5

SHAFT EXTENSION BEARING
DRIVE END OPPOSITE

EF EG

DRIVE END

(631222C3) | (621222C3)
631222 621227

200L 18.5| 770 |231| 80 [ M50X.15 | 65 | 110 100| 5 | 42 16 49 | 59 | M20

2258C 18.5| 815 | 231| 90 [ M50X1.5 | 60 | 140 125 7.5 | 42 18 53 | 64 | M20 | (6312ZZC3) | (6212ZZC3)

225MA 18.5| 810 |231| 90 [ M50X1.5 | 55 | 110 100| 5 | 42 16 49 | 59 | M20 631327 621322

225MC 18.5| 840 |231| 90 [ M50X1.5 | 60 | 140 | 125 7.5 | 42 18 53 | 64 | M20

250MA 24 | 919.5 | 255 | 105 | M63X1.5 | 60 [ 140 | 125 7.5 | 42 18 53 | 64 | M20 6313C3 6313C3

250MC 24 | 919.5 | 255 | 105 | M63X1.5 | 65 [ 140 | 125 7.5 | 42 18 58 [ 69 | M20 6315 6313

Note: 1.Tolerance of shaft end diameter D: m6.
2. Tolerance of shaft center high H: +0, -0.5.
3. Bearing No. In( ) is for 2P.

TECO/69



SMIZE] Outline

INERZERTE L&A B3 (IM 1001)

Dimensions in mm
Output (kW)
4P 6P

75| - | -—-| -—-| 280SA | 457 | 110 | 560 | 546 | 433 | 255 | 122.5 | 368 | 110 | 110 | 455 | 47.5 | 119 [ 190 | 280 | 35 | 354.5

- | 75| 45| 37 | 280SB | 457 | 110 | 560 | 546 | 433 | 255 | 122.5 [ 368 | 110 | 110 | 455 | 47.5 | 119 | 190 [ 280 | 35 | 354.5

Q| -—-|-—-] -] 280MA | 457 110 | 560 | 546 | 433 | 255 | 122.5 | 419 115 | 115| 505 | 48 | 119 [ 190 | 280 | 35 | 354.5

- | 90| 55| 45| 280MB | 457 | 110 | 560 | 546 | 433 | 255 122.5 [ 419 115 | 115| 505 | 48 | 119|190 | 280 | 35 | 354.5
SHAFT EXTENSION BEARING
DRIVE END OPPOSITE

EF EG F G

DRIVE END
280SA | 24 1038.5 255|140 [ M63X1.5 | 65 | 140| 125 | 7.5 | 40 | 18 58 69 | M20| 6314C3 6314C3

280SB | 24 1038.5 2551140 | M63X1.5 | 75 | 140| 125 [ 75] 40 | 20 | 67.5 | 79.5 | M20| 6318C3 6316C3

280MA | 24 1088.5 2551140 | M63X1.5 | 65 [ 140 125 | 75| 40 | 18 58 69 | M20| 6314C3 6314C3

280MB | 24 1088.5 2551140 | M63X1.5 | 75 | 140| 125 [ 75] 40 | 20 | 67.5 | 79.5 | M20| 6318C3 6316C3

Note: 1.Tolerance of Shaft End Diameter D: m6
2. Tolerance of Shaft Center Height H: +0, -1
3. Tolerance of Key Width F: h9

TECO/T0

TECQO
SMEZE Outline

INERZERTE L& B3 (IM 1001)

Dimensions in mm

Output (kW)

10| — | — - 315SA | 508 | 115 | 615 | 570 | 490 | 336 | 163 | 406 | 180 [ 180 | 580 | 53 | 140 | 216 | 315 | 35 | 395

— | 110 | 75 55 315SB | 508 | 115 | 615 | 570 | 490 | 336 | 163 | 406 | 180 [ 180 | 580 | 53 | 140 | 216 | 315 | 35 | 395
SHAFT EXTENSION BEARING

DRIVE END OPPOSITE

EB EF EG F (€

DRIVE END

315SA | 28| 1162.5 322 180 | M63X1.5 | 65 [ 140 125| 7.5 40 | 18 | 58 | 69 | M20| 6316C3 | 6314C3

315SB | 28| 1192.5 322 180 | M63X1.5 | 80 [ 170 160| 5 | 40 [ 22 | 71 | 85 | M20| 6320C3 | 6316C3

Note: 1.Tolerance of Shaft End Diameter D: m6
2. Tolerance of Shaft Center Height H: +0, -1
3. Tolerance of Key Width F: h9

TECO/71



M2l Outline

INERZ R TE L&A, B3 (IM 1001)

Dimensions in mm

Output (kW)

AG AS B BA BA
4P 6P

132 — [ —| - | 315MA | 508 | 115 | 630 | 620 | 515 | 336 | 163 | 457 | 230 | 230 | 640 | 53 | 140 | 216 | 315 | 45 | 420

-- [ 1321 90| 75 | 315MB | 508 | 115 | 630 | 620 | 515 | 336 | 163 | 457 | 230 | 230 | 640 | 53 | 140 | 216 | 315 | 45 | 420

SHAFT EXTENSION BEARING

DRIVE END OPPOSITE

EB EF EG F DB

DRIVE END

315MA | 28 [ 1246 | 322 180 [ M63X1.5 | 65 | 140 | 125| 7.5 | 40 | 18 [ 58 | 69 | M20| 6316C3 | 6314C3

315MB | 28 [ 1276 | 322 180 | M63X1.5 | 80 (170|160 & | 40 [ 22 | 71 | 85 | M20| 6320C3 | 6316C3

Note: 1.Tolerance of Shaft End Diameter D: m6
2. Tolerance of Shaft Center Height H: +0, -
3. Tolerance of Key Width F: h9

—_

TECO/T72

TECQO
YMEZE Outline

INERZERTE L&HI.: B3 (IM 1001)

Dimensions in mm

AG AS B BA BA

130 | 630 | 620 163 | 508 | 230 | 230 140 | 216 | 315 | 45 | 420

130 | 630 | 620 163 | 508 | 230 | 230 140 | 216 | 315 | 45 | 420

SHAFT EXTENSION BEARING

DRIVE END OPPOSITE

EB EF EG F

DRIVE END
315LA 28 1346 322 180 | M63X1.5 | 65 [ 140|125 7.5 40 [ 18 | 58 | 69 | M20| 6316C3 | 6314C3
315LB 28 1376 322 180 | M63X1.5 | 80 [170| 160 5 | 40 [ 22 | 71 | 85 | M20| 6320C3 | 6316C3

Note: 1.Tolerance of Shaft End Diameter D: m6
2. Tolerance of Shaft Center Height H: +0, -1
3. Tolerance of Key Width F: h9

TECO/73



SMIZE] Outline

INERZERTE L&A B5 (IM 1001)

E OOLES

Dimensions in mm

Output (kW) FRAME
AB AC AD
2P
355MA | 610 750 | 682 | 585 180 | 254 | 355 | 45
750 | 682 | 585 180 | 254 | 355 | 45
SHAFT EXTENSION BEARING
DRIVE END OPPOSITE
EB EF EG F G DB

DRIVE END
355MA | 480 | 28| 1687 |372|230| M72x2 | 75 | 140|125 7.5 | 40| 20 | 67.5 | 79.5 | M20| 6318C3 | 6318C3
355MB | 480 | 28| 1717 | 372|230| M72x2 | 95 [ 170|160| 5 [ 48| 25 | 86 | 100 | M24| 6322Cc3 | 6322C3

Note: 1. Tolerance
2. Tolerance
3. Tolerance

TECO/74

of Shaft End Diameter D: m6
of Shaft Center Height H: +0, -1
of Key Width F: h9

TECO

%A B5S (IM 1001)

JMIZE] Outline

IR ZERTE

AD

HE

T

;i\

@K HOLES BB

Dimensions in mm

Output (kW) FRAME
A AB AC AD
SIZE

315 - | - | - | 355LA | 610 | 150 | 750 | 682 | 585 | 412 | 189 630 310 310 | 910 | 43 | 180 | 254 | 355 | 45

-- | 315|250 | 200 | 355LB | 610 | 150 | 750 | 682 | 585 | 412 | 189 630 310 310 | 910 | 43 | 180 | 254 | 355 | 45

SHAFT EXTENSION BEARING

OPPOSITE

EB EF EG F G

DRIVE END
DRIVE END

355LA | 480 | 28 1687 | 372 | 230 | M72X2 75 1140|1125 7.5 40| 20 | 67.5| 79.5 | M20 | 6318C3 | 6318C3

355LB | 480 | 28 1717 | 372 | 230 | M72X2 95 1170|160 5 | 48| 25 86 100 | M24 | 6322C3 | 6322C3

Note: 1.Tolerance of Shaft End Diameter D: m6
2. Tolerance of Shaft Center Height H: +0, -1
3. Tolerance of Key Width F: h9

TECO/75



. TECO
HMEZE] Outline JMIZE] Outline

IMEREEERTE L7, B3 (IM 1001) IMEREERERTE LZ%J3z,: B5 (IM 3001)

',
R (T

Dimensions in mm

Output (kW) FRAME FIG. FLANGE DIMENSION

. o 075 055 | - |0.18
Dimensions in mm 80M 1 12 | 40 | 165 130 | 200 12 3.5 177 163 125 67.5 | 40 | 123.5| 103.5 293
11 [ 075 | 0.55 | 0.25
Output (kW
put (kW) 15 | 1.1 [ 075|037| 90s 12|50 165|130 | 200| 12 | 3.5 197 173 125| 67.5 | 40 | 1335 | 1255 | 3445
2
2.2 1.5 1.1 0.55 90L 121 50 | 165 | 130 | 200 12 3.5 197 1731125 67.5 | 40 | 133.5 | 130.5 354.5

150 | 750 | 810 189 900 | 710 | 390 180 | 254 | 355

SHAFT EXTENSION BEARING

150 | 750 | 810 189 900 | 710 | 390 180 | 254 | 355

DRIVEEND OPPOSITE
45 | 540 EB EF EG (€ B

DRIVE END

SHAFT EXTENSION BEARING
80M 115 | 40 | M20X1.5| 19 | 40(32| 4 | 16 | 6 | 1565 | 21.5 | M6| 6204ZZ 620327
OPPOSITE
EB EF EG F (€] DRIVE END 90S 115 | 40 | M20X1.5| 24 | 50|40 5 | 19| 8 20 27 | M8| 6205Z2Z 620427
DRIVE END
90L 115 | 40 | M20X1.5| 24 |50 (40| 5 | 19| 8 20 27 | M8| 620522 620427

355CA [ 28| 1765 | 372 | 230 | M72X2 75 1140 125) 75 40 | 20 | 67.5| 79.5 | M20 | 6318C3 | 6318C3

Note: 1.Tolerance of shaft end diameter D: j6.
2. Tolerance of N: j6.

355CB [ 28| 1795| 372 | 230| M72X2 95 | 1701 160| 5 | 48 | 25 86 100 | M24 | 6322C3 | 6322C3

Note: 1. Tolerance of Shaft End Diameter D: m6
2. Tolerance of Shaft Center Height H: +0, -1
3. Tolerance of Key Width F: h9

TECO/76 TECO/T7



JMIZE] Outline

IR =R TE

FIG. 3

%A B5S (IM 3001)

Dimensions in mm

M2l Outline

IR ZERTE

Output (kW)

FRAME FIG.

1—tu '
e e—— SR _l-“_-___:::_-_.r__
e BT T A 5, -
ap L}
| | B:E_ T |¥_—¢.E
s i o LIS P
= =T

TECO

Z4EHFT: B5 (IM 3001)

FLANGE DIMENSION

e L L

e

i

e

rl%“
Ll T

=]

Dimensions in mm

Output (kW) FRAME FIG. FLANGE DIMENSION
4P 6P 8P SIZE NO. LE M N P S
3 22115 0.75
100L 3 16 | 60 [ 215|180 | 250 | 145 | 4| 219 | 188 | 147 | 78.5 | 50 | 147 |135.5| 392 | 125 | 50
- 3 -—- 1.1
4 4 2.2 1.5 112M 4 15160 |215| 180|250 | 145 | 4| 235 | 200.5 | 147 | 785 | 50 | 159.5| 145 | 413 | 125 | 50
55| 55 3 2.2
1328 16 | 80 | 265| 230 | 300 | 14.5 | 4| 273 218 147 | 78.5 | 50 | 177 154 | 456 | 125 | 50
75| — [ — | -
3
— 75| 4| 3
132M 16 | 80 | 265|230 | 300 | 14.5 | 4| 273 218 147 | 78.5 | 50 | 177 173 | 494 | 125 | 50
SHAFT EXTENSION BEARING
bRIVEEND  OPPOSITE
EB EF EG F G
DRIVE END
100L M25X1.5 | 28| 60| 50 5122 8 24 31 M10 | 6206Z2Z 6205272
112M M25X1.5 | 28| 60| 50 5122 8 24 31 M10 | 6306ZZ 630522
1328 M25X1.5 | 38| 80| 70 5128 10| 33 | 41 | M12 | 63082Z 630622
132M M25X1.5 | 38| 80| 70 5128 10| 33 | 41 | M12 | 63082Z 630622
Note: 1.Tolerance of shaft end diameter D: {28: j6, Y38:k6 .

2. Tolerance of N: j6.

TECO/78

2P 4P

w17 | S| 160m 15| 110|300 | 250 | 350 | 185 | 5317|270 [ 193| 915 | 89 | 211.5 | 213 | 606 | 193 | 60
185 15 | 11 [7.5] 160L | [ 15| 110]300] 250 | 350 | 1855|317 | 270| 193] 915 | 89 | 2115 | 235 | 650 193 | 60
22 | 185 — | — | 180M 15| 110|300 | 250 | 350 | 18.5 | 5| 354|296 | 193| 915 | 89 | 237.5 | 2415 | 671 | 193 70
— | 22| 15[ 11| 180L | 6 | 15[ 110|300 250 | 350 | 18.5 | 5| 354 | 296 [ 193 | 91.5 | 89 | 237.5 | 260.5 | 709 [ 193 | 70
2 30 | 5] 15| 200 17 [ 110 350 | 300 | 400 | 185 | 5| 398 [ 329 | 231 | 110.5 [ 106 [ 259 | 2915 | 770 | 231 80

BEARING

DRIVEEND OPPOSITE

DRIVE END
160M M32X1.5 | 42| 110|100 | 5 | 36 | 12 | 37 45 | M16 | 6309Z2Z| 6307ZZ
160L M32X1.5 | 42| 110|100 | 5 | 36 | 12 | 37 45 | M16 | 6309Z2Z| 6307Z2Z
180M M32X1.5 | 481110 100| 5 | 36 | 14 | 425 | 51.5 | M16 | (6311zzc3) | (6310ZZC3)
180L M32X1.5 | 48| 110|100 | 5 | 36 | 14 | 425 | 51.5 | M16 | 6311ZZ| 6310ZZ

(631222C3) | (6212ZZC3)
200L M50X1.5 | 55110 100 | 5 | 42 | 16 | 49 59 | M20
6312ZZ| 6212ZZ

Note:

3. Bearing No. In(

) is for 2P.

1. Tolerance of shaft end diameter D: a) .p42 ~y48: k6; b) .p55: mé.
2. Tolerance of N: j6

TECO/79



TECQO
HJMIZE Outline HMIZE Outline

AMER TR E 22/ B5 (IM 3001) AMER TR E Z4EHF=: B5 (IM 3001)

&
Dimensions in mm
Output (kW)
—|37| — [ 185 | 225SC 20 | 140 | 400|350 | 450 | 185 | 5 | 449 | 355 | 231 1105 [ 106| 285 292 815 Dimensions in mm
45| — | — | 225Ma | 7 | 20 | 110|400| 350|450 185 | 5 | 449 |355|231| 1105 [106| 285 [ 3045 | st0 Output (kW) AR B SO
— 45| 30 | 22 | 225mc 20 140|400 350|450 185 | 5 [ 449 |385[231| 1105 [106| 285 | 3045 | 840
S| =] | - | 250MA || 22| 1401500/ 450/ 550| T85) 5 | 499|397|255] 1225 |119)3185) 3425 | 9195 75 | — | — | — | 280sA | 22 | 140 | 500 | 450 | 550 | 18.5| 5 | 546 | 433 | 255 [122.5| 119 |354.5(237.5| 10385
— | 55] 37| 30 | 250MC 22 | 140|500 450 | 550 185 | 5 | 499|397 |255] 1225 | 119] 3185] 3425 | 9195 — | 75 [ a5 | 37 | 28088 | 22 [ 140 [ 500 | 450 | 550 [ 185 | 5 | 546 | 433 | 255 [122.5] 119 [354.5{2375] 10385
SHAFT EXTENSION BEARING 90 | — [ | — | 280MA | 22 | 140 | 500 | 450 | 550 | 18.5| 5 | 546 | 433 | 255 [122.5 119 |354.5| 238 | 10885
DRIVE END PP ITE
OFFOS — | 90 | 55| 45 | 280MB | 22 [ 140 | 500 | 450 | 550 [ 185 | 5 | 546 | 433 | 255 (1225 119 [3545| 238 | 10885

DRIVE END

= ——— SHAFT EXTENSION BEARING
225SC | 231 90 M50X1.5 | 60 | 140 125| 7.5 | 42 | 18 | 53 | 64 | M20 | (6312ZZC3)| (6212ZZC3)

225MA | 231 | 90 M50X1.5 | 65 | 110(100| 5 | 42 | 16 | 49 | 59 | M20 EF EG
631327 6213727 DRIVE END

DRIVE END OPPOSITE

225MC | 231 | 90 M50X1.5 | 60 | 140(125| 7.5 42 | 18 | 53 | 64 | M20

280SA 255 140 | M63X1.5 | 65 [ 140 [ 125 [ 7.5 [ 40 18 58 69 | M20 6314C3 6314C3

250MA | 255| 105 | M63X1.5 | 60 | 140 125| 75| 42 | 18 | 53 | 64 [ M20| 6313C3 6313C3

280SB 255 140 | M63X1.5 | 75 [ 140 [ 125 [ 7.5 [ 40 20 | 67.5| 79.5 | M20 6318C3 6316C3

250MC | 255 | 105 | M63X1.5 | 65 [140|125| 75| 42 | 18 | 58 | 69 | M20| 6315 6313
280MA | 255 140 | mMe3x1.5 | 65 | 140 [ 125 | 75 | 40 | 18 | 58 | 69 | M20 | 6314C3 6314C3
Note: 1.Tolerance of shaft end diameter D: mé. 280MB | 255 140 | me3x1.5 | 75 | 140 [ 125 | 75 | 40 | 20 | 67.5]| 79.5| M20 | 6318C3 6316C3
2. Tolerance of N: j6.
3. Bearing No. In( ) is for 2P. Note: 1. Tolerance of Shaft End Diameter D: m6

2. Tolerance of Key Width F: h9
3. Tolerance of N:j6

TECO/80 TECO/81



M2l Outline

AMER TR E Z4EHFT: B5 (IM 3001)

50

Dimensions in mm
Output (kW)

SHAFT EXTENSION BEARING

EF EG
DRIVE END

315SA M63X1.5 65 | 140| 125 | 7.5 | 40 18 58 69 | M20 6316C3 6314C3

315SB M63X1.5 80 | 170| 160 5 40 22 71 85 | M20 6320C3 6316C3

Note: 1.Tolerance of Shaft End Diameter D: m6
2. Tolerance of Key Width F: h9
3. Tolerance of N:j6

TECO/82

TECO
SMEZE Outline

IMER TR E 2B B5 (IM 3001)

AT

Dimensions in mm
Output (kW) FRAME FLANGE DIMENSION

4P 6P 8P SIZE LE M N P S

132 - | -] — ] 315MA | 25 | 140 | 600 | 550 | 660 | 24 | 6 | 620 | 515 | 336 | 163 | 140 | 420 | 269 | 1246 | 322 | 180

-- [ 1321 90| 75| 3156MB | 25 | 170 | 600 | 550 | 660 | 24 | 6 | 620 | 515 336 | 163 | 140 | 420 | 269 | 1276 | 322 | 180
SHAFT EXTENSION BEARING

DRIVE END OPPOSITE

DRIVE END
315MA | M63X1.5 65 140 (125 75| 40 | 18 | 58| 69 | M20 | 6316C3 6314C3

315MB | M63X1.5 80 170|160 5 | 40 | 22 | 71| 85 | M20 | 6320C3 6316C3

Note: 1. Tolerance of Shaft End Diameter D: m6
2. Tolerance of Key Width F: h9
3. Tolerance of N:j6

TECO/83



. TECO
HpRZE Outline HMIZE] Outline

INER&ZERTE L#az\: B35 (IM 2001) INERZERTE ZE<AI: B35 (IM2001)

-
L T

Dimensions in mm Dimensions in mm
Output (kW) FRAME FIG. FLANGE DIMENSION Output (kW) FRAME  FIG. FLANGE DIMENSION
8P SIZE  NO. LE M N P S T SIZE L LE M N P
075|055 - |[0.18 .

80M 1 [12|40|165| 130|200 12| 3.5 [125| 34.5 [ 161 | 177 | 163 | 125 | 67.5 | 100 | 46 | 46 |137| 53.5| 40| 50 100L 3 | 16| 60 |215( 180|250 | 14.5 [ 4 | 160 | 40 | 200 [ 219 | 188 | 147 | 78.5 [ 140 | — | 66.5 [ 66.5 | 181 | 72.5 | 50

1.1 | 075 055 | 0.25 — | 3| -] 11
15| 1.1 | 0.75| 0.37 90S 12 (50| 165 130|200 | 12| 3.5 | 140| 40 | 180 197|173 | 125 | 67.5 | 100 | 67.5 | 67.5 | 161 | 69.5 | 40 | 56 41 4 2215 112m 4 | 15| 60 [215]| 180250 | 14.5 ( 4 | 190 | 45 | 235| 235 | 200.5 | 147 | 78.5 | 140 [ - | 65.5 | 65.5 | 186| 75 | 50

2

55|55 3 | 22

22 | 15| 1.1 | 055 90L 12|50 | 165|130 | 200 [ 12| 3.5 | 140| 40 | 180|197 | 173 | 125 | 67.5 | 125| 60.5 | 60.5 | 171 | 74.5 | 40 | 56 1325 16 1 80 12651230 | 300 | 125 | 4 | 216 57 | 263 | 273 | 218 | 147 785 | 1a0| — | &5 | 62 18| &5 |50
SHAFT EXTENSION BEARING I3 el el 3

— | 75| 4 3

DIRIE BN CIFFCINIE 132M 16 | 80 [ 265(230|300| 145 | 4 | 216| 57 | 263|273 | 218 | 147| 785|178 | 140 | 83.5 | 83.5 [ 222 84 | 50

EB EF EG

DRIVE END

80M 80 | 10 | 1235 | 10 | 203 [4115| 40 |m20x15] 19 | 40| 32 | 4 | 16| 6 | 155 215 | me 620422 620322 SRIFT EATENETON HEARING
90S 90 | 10 | 1335 | 10 | 3445 [115] 40 [m20x1.5] 24 [ 50 [ 40 | 5 [19] 8 | 20 | 27 | wms 620527 620427 SIS 1L CIARCEINE
0L 90 | 10 | 1335 | 10 | 3545 [115] 40 [m20x15] 24 [ 50 | 40 | 5 [ 19| 8 | 20 | 27 [ ms 620522 620422 I DRIVEFEND
100 | 63| 100 [ 12| 147 | 12 [392[125] 50 | m2sx15 | 28 6o 50 | 5 [ 22| 8 | 24 | 31 [ m10 620627 620527
Note: 1.Tolerance of Shaft End Diameter D: m6 11am | 70 [ 112 [ 13| 1505 | 12 [413 [ 125[ 50 | mM2sx15 | 28 [eo[ 50 | 5 [ 22| & | 24 | 31 | mi0 630627 630527
2. Tolerance of shaft center high H: +0, -0.5. 132s | 89 | 132 | 16| 177 | 12 | 456 | 125| 50 | M25X1.5 | 38 |80| 70 | 5 [ 28 | 10 | 33 | 41 [ m12 630822 630622
3. Tolerance of N: jé. 132M | 89 | 132 [ 16 | 177 | 12 [ 494 125] 50 | m2sx15 | 38 [so| 70 | 5 [ 28 | 10| 33 | 41 [ m12 630822 630622

Note: 1.Tolerance of shaft end diameter D: Y28: j6, P38:k6.
2. Tolerance of shaft center high H: +0, -0.5.
3. Tolerance of N: j6.

TECO/84 TECO/85



SMIZE] Outline

INERZERTE

Output (kW)

FLANGE DIMENSION

T4 A B35 (IM 2001)

Dimensions in mm

1; 1 7.5 545 160M 15 110 | 300 [ 250 | 350 | 185 5 | 254 | 60 | 300 | 317 | 270 | 193 915 | 210 | - | 57 57 250 105
- 5
185| 15 | 11 | 75| 1e0L 15 | 110|300 250 | 350 | 185 | 5 | 254 | 60 | 300|317 | 270| 193 | 915 | 254 [ 210 97 o7 294 | 127
22 18.5 - - 180M 15 110 | 300|250 | 350 | 185 | 5 | 279| 65 | 330 | 354 [ 296 | 193 915 | 241 | - | 65 65 292 | 120.5
— | 2] 15 [ 11| 180L 6 | 15 [110] 300|250 350 | 185 | 5 | 279 | 65 | 330|354 | 296 [ 193 | 91.5 | 279 | 241 | 115 115|330 1395
¥ 130 | B2 15| 200 17 | 110|350 300 | 400 [ 185 | 5 | 318 | 70 | 378 | 398 [ 320 [ 231 | 1105 | 305 [ — | 82 82 353 | 1525
SHAFT EXTENSION BEARING
DRIVEEND OPPOSITE
EF EG F G
DRIVE END
160M 89 | 108|160 | 18 | 211.5 | 14.5 | 606 [ 193 | 60 | M32x1.5 |42|110|100| 5 | 36 | 12| 37 | 45 |m16| 63002z | 63072z
160L 89 | 108|160 | 18 | 211.5 | 14.5 | 650 [ 193 | 60 | m32x1.5 |42 110|100| 5 | 36 | 12| 37 | 45 |m1i6| 63002z | 63072z
180M 89 121180 | 20 | 2375 | 145 | 671|193 | 70 M32X1.5 |48 110|100 5 36 | 14 | 425 | 51.5 | M16 | (6311ZZC3) | (6310ZZC3)
180L 89 121180 | 20 | 237.5 | 145|709 | 193 | 70 M32X1.5 | 48| 110|100 5 36 | 14 | 425 | 515 | M16| 6311ZZ 631022
(631222C3) | (621222C3)
200L 106 | 133 [200| 24 | 259 | 185 | 770 [231| 80 | M50x1.5 [55|110|100| 5 | 42 | 16 | 49 [ 59 |m20
631227 62122z
Note: 1.Tolerance of shaft end diameter D: a) .p42 ~p48: k6; b) .WY55: m6.
2. Tolerance of shaft center high H: +0, -0.5.
3. Tolerance of N: j6.
4. Bearing No. In( ) is for 2P.
TECO/86

TECO

Z#EAFT: B35 (IM 2001)

MIZE] Outline

IR ZERTE

Dimensions in mm

Output (kW) FRAME  FIG. FLANGE DIMENSION
4P 6P SIZE NO. M N B T
—--137| — | 18.5 | 225SC 20 140 | 400 )| 350|450 18.5 | 5 | 356 | 75 | 431 | 449 | 355 | 231 110.5 286 | - | 98.5 [ 985 [371| 143
45| — | - - 225MA 7 20 110 | 400 | 350 | 450 [ 18.5 | 5 | 356 | 75 | 431 | 449 | 355 | 231 110.5 311286 110 110 | 396 | 155.5
-—-145] 30 [ 22 225MC 20 140 | 400 )| 350 | 450 18.5 | 5 | 356 | 75 | 431 | 449 | 355 | 231 110.5 311286 110 110 | 396 | 155.5
55| -] - - 250MA 22 140 | 500|450 | 550 18.5 | 5 | 406 | 85 | 480 | 499 | 397 | 255 122.5 349 [ - | 112.5 | 112.5 | 425 | 174.5
-—--|55| 37 30 250MC ¢ 22 140 | 500 )| 450 | 550 18.5 | 5 | 406 | 85 | 480 | 499 | 397 [ 255 122.5 349 [ - | 112.5 | 112.5 | 425 | 174.5
EXTENSION BEARING
DRIVE END OPPOSITE
DRIVE END
225SC [ 106 | 149 | 225| 28 | 285 | 185 | 815 |[231| 90 | M50X1.5 (60| 140|125 7.5 | 42 | 18 | 53 | 64 [ M20 (631222C3) (621222C3)
225MA | 106 [ 149 | 225| 28 | 285 | 18.5| 810 |231| 90 [ M50X1.5 | 55[ 110 100| 5 | 42 | 16 | 49 | 59 | M20 631322 621327
225MC | 106 | 149 | 225 28 | 285 | 185 | 840 |231)| 90 | M50X1.5 |60 140|125 7.5 | 42 | 18 | 53 | 64 [ M20
250MA | 119 168 | 250 | 30 | 318.5 | 24 | 919.5 | 255 | 105 M63X1.5 | 60| 140 125| 7.5 | 42 | 18 | 53 | 64 | M20 6313C3 6313C3
250MC | 119 | 168 | 250 ( 30 | 318.5 | 24 | 919.5 | 255 105| M63X1.5 |[65]| 140|125 75| 42 | 18 [ 58 | 69 [ M20 6315 6313

1. Tolerance of shaft end diameter D: m6.
2. Tolerance of shaft center high H: +0, -0.5.
3. Tolerance of N: j6.

4. Bearing No. In( ) is for 2P.

TECO/87



SMIZE] Outline

INERZE=RIE

Z% 7 B35 (IM 2001)

Dimensions in mm

Output (kW) FRAME FLANGE DIMENSION
2P 4P SIZE LE M N P T
75| -] - | — | 280SA 22 140 | 500 | 450 | 550 | 18.5 | 5| 457 | 110 | 560 | 546 | 433 | 255 122.5 368 | 110 | 110 | 455 | 47.5 | 119
-— | 75| 45 | 37 | 280SB 22 140 | 500 | 450 | 550 | 18.5 | 5| 457 | 110 | 560 | 546 | 433 | 255 1225 368 | 110 | 110 | 455 | 47.5 | 119
Q|- - | - | 280MA 22 140 | 500 | 450 | 550 | 18.5 | 5| 457 | 110 | 560 | 546 | 433 | 255 122.5 419 | 115 115|505 | 48 | 119
- 90| 55 | 45 | 280MB 22 140 | 500 [ 450 | 550 | 18.5 | 5| 457 | 110 | 560 | 546 | 433 | 255 122.5 419 | 115 | 115 505 | 48 | 119
SHAFT EXTENSION BEARING
DRIVE END OPPOSITE
EB EF EG F G
DRIVE END
280SA | 190 | 280 35 3545 | 24 1038.5 | 255] 140 [ Mm63x1.5| 65 | 140 125| 7.5 | 40 | 18| 58 69 | M20| 6314C3 6314C3
280SB | 190 | 280 35 3545 | 24 1038.5 | 255| 140 [ Mme3x1.5| 75 | 140 125| 7.5 | 40 | 20| 67.5 | 79.5 | M20 | 6318C3 6316C3
280MA | 190 | 280 35 3545 | 24 1088.5 | 255| 140 | Me3x1.5| 65 | 140 125| 7.5 | 40 | 18| 58 69 | M20| 6314C3 6314C3
280MB | 190 | 280 35 3545 | 24 1088.5 | 255| 140 [Mm63x1.5| 75 | 140 125| 7.5 | 40 | 20| 67.5 | 79.5 | M20 | 6318C3 6316C3

Ndtderance of Shaft End Diameter D: m6
2. Tolerance of Key Width F: h9
3. Tolerance of Shaft Center Height H: +0, -1
4. Tolerance of N:j6

TECO/88

TECO

A= B35 (IM 2001)

SMIZE] Outline

IR R=RTE

(L]
|
ill
=
4=

Dimensions in mm
Output (kW) FRAME FLANGE DIMENSION
BA'
2P 4P 6P SIZE LE M N P S

600 | 550 | 660 180 | 580 | 53

600 | 550 | 660 180 | 580 | 53

BEARING

DRIVE END OPPOSITE
DRIVE END

315SA | 216 | 315 35 395 | 28 1162.5 | 322|180 [ M63X15| 65 | 140 | 125 7.5 | 40| 18 | 58 | 69 | M20| 6316C3 | 6314C3

315SB | 216 | 315 35 395 | 28 11925 | 322 | 180 | Me3x1.5| 80 (170|160 5 | 40| 22 [ 71 | 85 | M20 | 6320C3 | 6316C3

1. Tolerance of Shaft End Diameter D: m6

2. Tolerance of Key Width F: h9

3. Tolerance of Shaft Center Height H: +0, -1
4. Tolerance of N:j6

TECO/89



. TECQO
HMIZE Outline HMIZE] Outline

AMER TR E ZA4EHF=: B35 (IM 2001) AIMNER ZERTE 2R B35 (IM 2001)

L o L o
LL
2—UB a—ps LE BE .
Holes
T
| Tiea PAT AR
| sl T2
P 9 |
< jasd ™
EF| EB \
o ™ =
\ nlz| [}
< ] =t <
N I
e
= e < =T 8
| | - = Il ||
= BA i = - i i
LR E c B A LK E C B
L Holea L Hel
€ BB AB €= BB

Dimensions in mm Dimensions in mm
Output (kW) FLANGE DIMENSION

Output (kW) FRAME
LE M N P S T

600 | 550 | 660 | 24 230 | 740 | 53

230 | 740 | 53

600 | 550 | 660 | 24
BEARING
DRIVE END OPPOSITE

BEARING

DRIVE END OPPOSITE

DRIVE END DRIVE END

315LA 216 315 45 420 28 1346 322 | 180 | M63X1.5| 65 | 140 125| 75| 40| 18 | 58 | 69 | M20| 6316C3 | 6314C3
315LB 216 315 45 420 28 1376 322 | 180 | Me3x1.5| 80 | 170|160 | 5 | 40| 22 | 71 | 85 | M20| 6320C3 | 6316C3

1246 322|180 | M63X1.5| 65 [ 140 | 125| 75| 40| 18 | 58 | 69 | M20| 6316C3 | 6314C3
M63X1.5( 80 | 170|160 5 | 40| 22 | 71 | 85 | M20| 6320C3 | 6316C3

3156MA | 216 | 315 45 420 | 28
315MB | 216 | 315 45 420 | 28 1276 322 | 180

Note: 1. Tolerance of Shaft End Diameter D: m6

Note: 1.Tolerance of Shaft End Diameter D: m6
2. Tolerance of Key Width F: h9 2. Tolerance of Key Width F: h9
3. Tolerance of Shaft Center Height H: +0, -1 3. Tolerance of Shaft Center Height H: +0, -1
4. Tolerance of N:j6

4. Tolerance of N:j6

TECO/90 TECO/91



SMIZE] Outline

IR ZERTE

Z#EF: B35 (IM 2001)

Output (kW) FRAME FLANGE DIMENSION

SIZE LE M N [ S

Dimensions in mm

BA BA'" BB BC

250 - | -—- | - | 355MA | 30 | 140 | 740 | 680 | 800 | 24 | 6| 610 | 150 [ 750 | 682 | 585 | 412 | 189 560 310 | 310 | 910 | 43 | 180
--- | 250 ;gg j]gg 355MB | 30 | 170 | 740 | 680 [ 800 | 24 | 6| 610 | 150 | 750 | 682 | 585 | 412 | 189 560 310 [ 310 | 910 | 43 | 180

SHAFT EXTENSION BEARING
DRIVE END OPPOSITE

EF EG F G GA

DRIVE END
355MA | 254 | 355 45 480 | 28 1687 372|230 | M72X2 | 75 | 140 | 125| 7.5 | 40 | 20 | 67.5 | 79.5 [ M20 | 6318C3 | 6318C3
355MB | 254 | 355 45 480 | 28 1717 372 | 230 [ M72X2 | 95 | 170 | 160 | 5 48 | 25 86 100 | M24 [ 6322C3 | 6322C3

Note: 1.Tolerance of Shaft End Diameter D: m6
2. Tolerance of Key Width F: h9
3. Tolerance of Shaft Center Height H: +0, -1
4. Tolerance of N:j6

TECO/92

TECO
SMEZE] Outline

AMER TR TE A B35 (IM 2001)

L [s]
AG LL.
Ag ﬁ%fa LE BE 2—UB
T |La [l f
I qele e
-ﬂ‘ = .1
e Y | e
= 1 T T— ] T
= L [ S N/ |
¢'.\fs E E.EI L
{ oz _—————— &
*r ES A
'c|m % = == | | "
=11 ]I Il
Al HJ BA BA
| E 8] B
BB

Dimensions in mm

Output (kW) FRAME FLANGE DIMENSION

BA'
SIZE LE M N P S

740 | 680 | 800 310|910 | 43

740 | 680 | 800 310|910 | 43

SHAFT EXTENSION

BEARING

DRIVE END OPPOSITE
EF EG F G

DRIVE END

355LA | 254 | 355 45 480 | 28 1687 372230 | M72X2 | 75 [ 140|125 7.5 | 40 | 20 | 67.5 | 79.5 | M20| 6318C3 | 6318C3

355LB | 254 | 355 45 480 | 28 1717 372|230 | M72X2 | 95 [ 170|160 5 | 48 | 25 | 86 100 | M24 | 6322C3 | 6322C3

Note: 1.Tolerance of Shaft End Diameter D: m6
2. Tolerance of Key Width F: h9
3. Tolerance of Shaft Center Height H: +0, -1
4. Tolerance of N:j6

TECO/93



SMIZE] Outline

INER =R TE

Output (kW)

Z3EA=R: B35 (IM 2001)

=]

FLANGE DIMENSION

S —
B 4

Lo-gH EULEZ

AA AB AC AD AG

140 740 [ 680 | 800 | 24 | 6

750 [ 682 | 645 | 412

JMIZE] Outline

IR LR TE

Dimensions in mm

170|740 [ 680 | 800 | 24 | 6

BEARING

DRIVE END OPPOSITE

DRIVE END
355CA 254 | 355| 45 [ 540 | 28| 1765 | 372|230 (M72%x2| 75 | 140|125| 7.5 | 40 | 20 | 67.5 | 79.5 | M20 | 6318C3 | 6318C3
355CB 254 | 355| 45 [ 540 | 28| 1795 | 372|230 (M72x2| 95 | 170|160 | 5 | 48 | 25 | 86 | 100 | M24| 6322C3 | 6322C3

Note: 1. Tolerance of Shaft End Diameter D: m6

2. Tolerance of Key Width F: h9

3. Tolerance of Shaft Center Height H: +0, -1

4. Tolerance of N:j6

TECO/94

Output (kW)

FlG 1

FLANGE DIMENSION

TECO

TEFI:

V1 (IM 3011)
FIG. 2

Dimensions in mm

FRAME FIG
4P 6P SIZE NO. M \| P S
0.75]1 055 | -- | 0.18
80M 1|12|40] 165 130 | 200 12 | 3.5 177 163 | 125 67.5 | 40 [123.5/103.5| 328
1.1 | 0.75 | 0.55 | 0.25
1.5 1.1 ] 0.75] 037 | 90S 12150 165 130 | 200 12 | 3.5 197 173 | 125 | 67.5 | 40 [133.5]125.5(379.5
2
2.2 1.5 1.1 | 0.55 90L 12| 50| 165] 130 | 200 12 | 35 197 1731 125 | 67.5 | 40 [133.5[130.5|389.5
SHAFT EXTENSION BEARING
DRIVE END OPPOSITE
EF EG G
DRIVE END
80M 115 | M20X1.5]|1 19|40 32| 4 | 16 6 155 21.5 | M6 | 62042z 620322
90S 115 | M20X1.5 124 50| 40| 5 | 19 8 20 27 M8 | 62052z 620422
90L 115 | M20X1.5]1 2415040 5| 19 8 20 27 M8 | 62052z 6204272
Note: 1.Tolerance of shaft end diameter D: j6.
2. Tolerance of N: j6.
TECO/95



SMIZEE] Outline

IMER ZER T E ZHEH: V1 (IM 3011)

FIG 3

Dimensions in mm
Output (kW) FRAME FIG. FLANGE DIMENSION
4P 6P 8P SIZE NO. LE M \ P S

3 122|15]0.75

100L 3 |16 60|215| 180|250 | 145 |4 |219| 188 |147| 785 | 50| 147 | 135.5 | 433 | 125

— | 3 = 11

4 4 122 15 112M 4 | 15| 60|215]| 180 250 | 14.5 | 4| 235| 200.5 | 147 | 785 | 50| 159.5 | 145 | 448|125

55|55 3 2.2
1328 16 | 80 | 265230 | 300 | 14.5 | 4| 273 | 218 | 147 | 785 | 50| 177 154 | 504 | 125

132M 16 | 80 | 265230 | 300 | 14.5 | 4| 273 | 218 | 147 | 785 | 50| 177 173 | 542 | 125

SHAFT EXTENSION BEARING
DRIVEEND  OPPOSITE

EB EF EG G

DRIVE END

100L M25X1.5 | 28] 60| 50 221 8 24 | 31 | M10 | 6206Z2Z 6205272

112M M25X1.5 | 28| 60| 50 221 8 | 24 | 31 | M10 | 6306Z2Z 6305272
281 10 | 33 | 41 | M12 | 6308Z2Z 630622

281 10 | 33 | 41 | M12 | 6308Z2Z 630622

1328 M25X1.5 | 38 80| 70

ajlaoa|lo]|l o

132M M25X1.5 | 38| 80| 70

Note: 1.Tolerance of shaft end diameter D: j6.
2. Tolerance of N: j6.

TECO/96

TECO
SMEZE] Outline

IMERZERTE 2R V1 (IM 3011)

Dimensions in mm

Output (kW) FRAME FIG. FLANGE DIMENSION
6P SIZE NO LE M N P
1; 1" 7.5 5‘.15 160M 5 151110 | 300 250 | 350 | 1855|317 (270|193 | 91.5 | 89 | 211.5 | 213 656 | 193
18.5| 15 M1 75 160L 15 (110 [ 300 | 250 | 350 | 1855|317 270|193 | 915 | 89 | 211.5 | 235 700 | 193
22 | 185 | — | - 180M 15110 [ 300 | 250 | 350 | 18.5 | 5| 354|296 | 193 | 91.5 | 89 | 237.5 | 241.5 | 720.5 [ 193

- 22 15 11 180L g | 15| 110|300 | 250 [ 350 | 18.5|5(354 (296 (193 91.5 | 89 | 237.5 | 260.5 | 758.5 | 193

gg 30 1;25 15 200L 17 [ 110 [ 350 [ 300 | 400 | 18.5|5|398 | 329|231 | 110.5 | 106 | 259 | 291.5 | 819.5 | 231

BEARING

DRIVEEND OPPOSITE

DRIVE END
160M M32X1.5 | 42| 110|100 | 5 | 36 | 12 37 45 | M16 | 6309ZZ| 630722
160L M32X1.5 | 42| 110|100 | 5 | 36 | 12 37 45 | M16 | 6309ZZ| 630722
180M M32X1.5 [ 48| 110|100 | 5 | 36 | 14 | 42.5 | 51.5 | M16 | (63112zc3) | (6310ZZC3)
180L M32X1.5 | 48| 110|100 | 5 | 36 | 14 | 425 | 51.5 | M16 | 6311ZZ| 6310ZZ

(631222C3) | (6212ZZC3)
200L M50X1.5 | 55| 110| 100 | 5 | 42 | 16 49 59 | M20
6312ZZ | 6212727

1. Tolerance of shaft end diameter D: a) .p42 ~y48: k6; b) .p55: mé.
2. Tolerance of N: j6.

Note: 3. Bearing No. In( ) is for 2P.

TECO/97



JMIZE] Outline

IR ZERTE

7

Dimensions in mm

hH=: V1 (IM 3011)

TECO

AT V1 (IM 3011)

SMIZE] Outline

INERZERTE

Dimensions in mm

Output (kW) FLANGE DIMENSION

Output (kW) FRAME FIG. FLANGE DIMENSION
- 137 — | 185 | 225SC 20 | 140 | 400 | 350 | 450 | 185 | 5 |449|355( 231)|110.5/ 106 | 285 | 292 | 875
45 —| - - 225MA 7 | 20 [ 110|400 | 350 | 450 | 185 | 5 |449| 355 231(110.5| 106 | 285 |304.5| 870
--145] 30 | 22 225MC 20 | 140|400 350450 185 5 |449|355]231|110.5/ 106 | 285 |[304.5| 900
55| —| — - 250MA 22 1140|500 [ 450 [ 550 | 18.5 | 5 | 499|397 | 255|122.5( 119 | 318.5 | 342.5| 991
- |55 37| 30 250MC ° 22 | 140 | 500 | 450 | 550 | 185 | 5 | 499|397 | 255|122.5[ 119 | 318.5 | 342.5| 991

BEARING

DRIVE END OPPOSITE

DRIVE END
225SC | 231 | M50X1.5 | 60| 140 | 125| 7.5 42 | 18 | 53 64 | M20 | (63122ZC3)| (6212ZZC3)
225MA | 231 | M50X1.5 |55 110 100| 5 | 42 | 16 | 49 59 | M20

631322 621322
225MC | 231 | M50X1.5 | 60| 140|125 7.5 42 | 18 | 53 64 | M20
250MA | 255| M63X1.5 | 60| 140 125| 7.5] 42 | 18 | 53 64 | M20| 6313C3 6313C3
250MC | 255| M63X1.5 |65] 140|125 7.5 42 | 18 | 58 69 | M20 6315 6313

Note: 1. Tolerance of shaft end diameter D: m6.
2. Tolerance of N: j6.
3. Bearing No. In(

TECO/98

) is for 2P.

2P 4P LE M N P S

75| - - | ——| 280SA | 22 | 140 | 500 | 450 | 550 | 18.5 546 | 433 | 255 | 122.5 | 119| 354.5 | 237.5 | 1136.5

- | 75| 45 | 37| 280SB 22 | 140 [ 500 | 450 | 550 | 18.5 546 | 433 | 255 | 122.5 | 119 | 354.5 | 237.5 | 1136.5
546 | 433 | 255 | 122.5 | 119 354.5 | 238 | 1186.5

546 | 433 | 255 | 122.5 | 119 354.5 | 238 | 1186.5

90 --| - |--—]| 280MA | 22 [ 140 | 500 | 450 | 550 | 18.5

gl ol o o gl

- |90 55 | 45| 280MB | 22 | 140 | 500 | 450 | 550 | 18.5

SHAFT EXTENSION BEARING
DRIVE END OPPOSITE

EF EG F (€

DRIVE END

280SA [ 255 | M63X1.5 | 65] 140|125 75| 40 | 18 | 58 69 | M20| 6314C3 6314C3

280SB | 255 | M63X1.5 | 75| 140 125| 7.5 | 40 | 20 | 67.5 | 79.5 [ M20| 6318C3 6316C3

280MA | 255 | M63X1.5 | 65| 140|125 75| 40 | 18 | 58 69 | M20| 6314C3 6314C3

280MB | 255 | M63X1.5 | 75| 140|125 7.5 40 | 20 | 67.5 | 79.5 [ M20| 6318C3 6316C3

Note: 1. Tolerance of Shaft End Diameter D: m6
2. Tolerance of Key Width F: h9
3. Tolerance of N:j6

TECO/99



JMIZE] Outline

IR ZERTE

Output (kW)

FRAME

2B V1 (IM 3011)

FLANGE DIMENSION

Dimensions in mm

Output (kW)

FRAME

SMIZE] Outline

INERZERIE

FLANGE DIMENSION

TECO

ZaEHL: V1 (IM 3011)

Dimensions in mm

M63X1.5

BEARING
DRIVE END OPPOSITE

DRIVE END

3158A 65 | 140 125 | 7.5 40 18 58 69 | M20 6316C3 6314C3
315SB | M63X1.5 80 | 170| 160 5 40 22 71 85 | M20 6320C3 6316C3
Note: 1. Tolerance of Shaft End Diameter D: m6

TECO/100

2. Tolerance of Key Width F: h9
3. Tolerance of N:j6

132 | - | - | — [315MA| 25 | 140 | 600 | 550 | 660 | 24 6 620 | 515 | 336 | 163 | 140 | 420 | 269 | 1319| 322
- |132| 90 | 75 |315mMB| 25 | 170 | 600 | 550 | 660 | 24 6 620 | 515 | 336 | 163 | 140 | 420 | 269 | 1349| 322
SHAFT EXTENSION BEARING
DRIVE END OPPOSITE
= (€]
DRIVE END
315MA | M63X1.5| 65 [140| 125 | 7.5 | 40 18 58 | 69 | M20 6316C3 6314C3
315MB | M63X1.5( 80 | 170| 160 5 40 22 71 85 | M20 6320C3 6316C3
Note: 1.Tolerance of Shaft End Diameter D: m6
2. Tolerance of Key Width F: h9
3. Tolerance of N:j6
TECO/101



TECO

HMIZE] Outline JMEZE] Outline

INEREERTE ZHEHFI: V1 (IM3011) INERZERTE ZaEHI: V1 (IM 3011)
| | T o A
R EIE I i yEE=— - L L s

LE
EF | EB
T
| —
EG
E

Dimensions in mm Dimensions in mm

Output (kW) FLANGE DIMENSION Output (kW)  FRAME
2P 4P 6P 8P SIZE
;gg 25 | 140 | 600 | 550 [ 660 | 24 | 6 |620| 515 | 336 | 163 | 140 | 420 | 269 | 1419| 322
160 | 110 | 90
31508[ 25 | 170 | 600 | 550 | 660 | 24 | 6 |620| 515 | 336 | 163 | 140 | 420 | 269 | 1449 322

SHAFT EXTENSION BEARING

DRIVE END OPPOSITE
DRIVE END OPPOSITE

DRIVE END
315LA M63X1.5 65 | 140 125 | 7.5 | 40 18 | 58 | 69 | M20 6316C3 6314C3
315LB M63X1.5 80 | 170 | 160 5 40 22 | 71 85 | M20 6320C3 6316C3

Note: 1. Tolerance of Shaft End Diameter D: m6

2. Tolerance of Key Width F: h9

3. Tolerance of N:j6

TEC0/102

2. Tolerance of Key Width F: h9
3. Tolerance of N:j6

DRIVE END
355MA M72X2 75 | 140 125 | 7.5 40 20 | 67.5| 79.5 | M20 6318C3 6318C3
355MB M72X2 95 | 170 | 160 5 48 25 86 100 | M24 6322C3 6322C3
Note: 1. Tolerance of Shaft End Diameter D: m6

TECO/103



SMIZE] Outline

IMERZERTE Z#EH: V1 (IM 3011)

Dimensions in mm

Output (kW) FRAME

BEARING

DRIVE END OPPOSITE

DRIVE END

355LA | M72X2 | 75 | 140 125 | 7.5 | 40 20 | 67.5| 79.5 | M20 6318C3 6318C3
355LB | M72X2 | 95 | 170| 160 5 48 25 86 | 100 | M24 6322C3 6322C3

Note: 1.Tolerance of Shaft End Diameter D: m6
2. Tolerance of Key Width F: h9
3. Tolerance of N:j6

TECO/104

TECO
SMEZE Outline

AMER TR TE 2R V1 (IM 3011)

Dimensions in mm
Output (kW) FRAME FLANGE DIMENSION
4P 6P 8P SIZE LA LE M I\ P S

355

ao| | | — 355CA| 30 | 140 | 740 | 680 | 800 | 24 6 682 | 645 | 412 | 189 | 180 | 540 | 297 [ 1883 | 372

| 359315 250 [355CB| 30 | 170 | 740 | 680 | 800 | 24 6 682 | 645 | 412 | 189 | 180 | 540 | 297 [ 1913 | 372

400 | 355

SHAFT EXTENSION BEARING
DRIVE END OPPOSITE

EB EF EG F G

DRIVE END

355CA M72X2 75 | 1401 125 | 7.5 | 40 | 20 | 67.5| 79.5 | M20 6318C3 6318C3

355CB M72X2 95 | 170 | 160 5 48 | 25| 86 | 100 | M24 6322C3 6322C3

Note: 1. Tolerance of Shaft End Diameter D: m6
2. Tolerance of Key Width F: h9
3. Tolerance of N:j6

TECO/105



